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MOLECULES OF THE CELL

1. Cellular pool comprises

A. Tens of biomolecules
B. Hundreds of biomolecules
C. Thousands of biamolecules

D. Hundred thousands of biomolecules.

Answer: C
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2.Biomolecules occur in the cellular pool as

A. Solutes in true solution

B. Colloids in colloidal solution

C. Insoluble in cellular structure

D. All the above.

Answer: D

° Watch Video Solution

3. Biomolecules are

A. Inorganic

B. Organic

C.vital


https://dl.doubtnut.com/l/_KxEuc4fnO67I
https://dl.doubtnut.com/l/_Rz0eaPesfHYc
https://dl.doubtnut.com/l/_twCA60S5N9W9

D. Both A and B.

Answer: B

° Watch Video Solution

4. All organic substances possess

A. Carbon, Hydrogen and Oxygen

B. Carbon, Oxygen and Nitrogen

C. Carbon and hydrogen

D. Carbon, Hydrogen, Oxygen and Nitrogen.

Answer: C

o Watch Video Solution

5. Cellular micromolecules are


https://dl.doubtnut.com/l/_twCA60S5N9W9
https://dl.doubtnut.com/l/_2uJ1c2VFP8a3
https://dl.doubtnut.com/l/_M7vGGTK1G2XL

A. Amino acids,Water, Minerals and Sugars

B. Glycogen, Amino acids, Minerals and Nucleotides

C. Water, Minerals, Nucleic acids, Amino acids and Nucleotides

D. Sugars, Water, minerals, Poteins and Nucleotides.

Answer: A

° Watch Video Solution

6. Which one has maximum water content

A. Human

B. Horse

C. Jelly fish

D. Coral.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_M7vGGTK1G2XL
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7. Total amount of water present in human body cells is

A. 20-22 litres

B. 18-19 litres

C. 14-15 litres

D. 10-12 litres.

Answer: A

o Watch Video Solution

8. The density of water is maximum at 4° C.

A.Room temperature

B.4°C

c.0°C


https://dl.doubtnut.com/l/_OMtUIwKlMSTG
https://dl.doubtnut.com/l/_oktEeos7urbw
https://dl.doubtnut.com/l/_GLrlnLfzl2Nt

D.—1°C

Answer: B

° Watch Video Solution

9. Which one is high in case of water

A. Surface tension

B. Specific heat

C. Heat of vaporisation and heat of fusion

D. All the above.

Answer: D

o Watch Video Solution

10. Water has high specific heat due to


https://dl.doubtnut.com/l/_GLrlnLfzl2Nt
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A. Its dipole nature

B. Smaller angle between hydrogen atoms and oxygen atom

C. Hydrogen bonds amongs molecules

D. All the above.

Answer: C

o Watch Video Solution

11. Water (H50) is liquid while all others of equivalent and even higher
molecular weight molecules are gaseous because of the presence of

A. Covalent bonding between Hydrogen and Oxygen

B. Electrostatic attraction amongst water molecules

C. Hydrogen bond

D. lonic bonds.

Answer: C



https://dl.doubtnut.com/l/_5R1aOgB9zTAf
https://dl.doubtnut.com/l/_DqLq0hbZuTe0

| o Watch Video Solution

12.Ice is lighter than water due to

A. Lattice aggregates occupy more space
B. Cold water is extremely dense
C. Absence of hydrogen bonds in ice

D. Absence of lattice aggregates in ice.

Answer: A

° Watch Video Solution

13. Property of adhesion of water molecules to cell walls is due to

A. Hydrogen bonds
B. Dipole nature

C. lonisation of water


https://dl.doubtnut.com/l/_DqLq0hbZuTe0
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D. All the above.

Answer: A

° Watch Video Solution

14. Framework element are

A.6

B.4

C.3

D. 2

Answer: C

o Watch Video Solution

15. Framework elements take part in


https://dl.doubtnut.com/l/_Nu3U1suIFbrM
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A. Synthesis of protoplasm

B. Synthesis of cell wall

C. Formation of storage products

D.Both B and C.

Answer: D

o Watch Video Solution

16. Framework elements are

A. Non-metal minerals

B. Nonminerals

C. Mixed

D. Metals.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_o4xUroP4yDcj
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17.Big four elements are

A. Carbon, Hydrogen, Oxygen and Sulphur
B. Carbon, Oxygen, sulphur and phosphorus
C. Carbon, Nitrogen, Sulphur and Phosphorus

D. Carbon, Hydrogen, Oxygen and Nitrogen.

Answer: D

o Watch Video Solution

18. Protoplasmic elements form

A. Proteins and enzymes

B. Nucleic acids

C. Lipids


https://dl.doubtnut.com/l/_0qiZxYCbZKHs
https://dl.doubtnut.com/l/_6OYOAxt8aH3c
https://dl.doubtnut.com/l/_sQ2669GSpaCt

D. All the above.

Answer: D

° Watch Video Solution

19. Besides the big four, protoplasmic elements include

A. Sulphur and Phosphorus
B. Sodium and Potassium
C. Celcium and Magnesium

D. Chromium and Selenium.

Answer: A

o Watch Video Solution

20. non-mineral essential elements are


https://dl.doubtnut.com/l/_sQ2669GSpaCt
https://dl.doubtnut.com/l/_hE6ad8vgTpYv
https://dl.doubtnut.com/l/_RAAd2yL3kluP

A. Carbon, Hydrogen and Oxygen
B. Hydrogen, nitrogen and Sulphur
C. Hydrogen, Nitrogen and Fluorine

D. Chlorine, Fluorine and Nitrogen.

Answer: A

o Watch Video Solution

21. Number of essential elements in animals is

A.16

B.18

C.20

D. 24

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RAAd2yL3kluP
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22. Number of essential elements in plants is

A.10

B.17

C.20

D. 22

Answer: B

° Watch Video Solution

23. Nitrogen is

A. Non-metal element

B. Mineral element

C. Non-metal element


https://dl.doubtnut.com/l/_ibqXAYRfKzYZ
https://dl.doubtnut.com/l/_zkubb8RfXoix
https://dl.doubtnut.com/l/_epJEL5YiNo5D

D. All the above.

Answer: D

° Watch Video Solution

24.In relation to insulin, Zinc is required for

A. Synthesis of insulin

B. Release of insulin

C. Activity of insulin

D. Breakdown of insulin.

Answer: B

o Watch Video Solution

25. Element required for phloem transport is


https://dl.doubtnut.com/l/_epJEL5YiNo5D
https://dl.doubtnut.com/l/_ply5eqiZjL62
https://dl.doubtnut.com/l/_aFQO1hVXYswb

A. Copper

B. Iron

C.Boron

D. Sodium.

Answer: C

° Watch Video Solution

26. Most abundant mineral of the vertebrate body is

A. Calcium

B. Sodium

C. Potassium

D. Iron.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aFQO1hVXYswb
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27. Most abundant mineral of extracellular fluids is

A. Calcium

B. Postassium

C.Sodium

D. Phosphate.

Answer: C

o Watch Video Solution

28. Chitin is strengthened by

A. Calcium phosphate

B. Magnesium phosphate

C. Calcium carbonate


https://dl.doubtnut.com/l/_Afl4dCw9NvIr
https://dl.doubtnut.com/l/_lzjYpDkVP36N
https://dl.doubtnut.com/l/_1Tt3DAV9exri

D. Magnesium carbonate.

Answer: C

° Watch Video Solution

29. Mineral forming 90% of the cations of blood plasma is

A Mg

B.Ca

C.K

D. Na.

Answer: D

o Watch Video Solution

30. Mineral functioning as chemical messenger is


https://dl.doubtnut.com/l/_1Tt3DAV9exri
https://dl.doubtnut.com/l/_RniuEdpPXK3S
https://dl.doubtnut.com/l/_ERcd895LAp9e

A. Calcium

B. Magnesium

C. Manganese

D. Molybdenum.

Answer: A

° Watch Video Solution

31.lorn is stored in the body as

A. Haemoglobin

B. Ferritin

C. Freerdoxin

D. Myoglobin.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ERcd895LAp9e
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32. Maximum content of iron is present in

A. Ferritin

B. Myoglobin

C. Haemoglobin

D. Cytochrome.

Answer: C

o Watch Video Solution

33. Buffers against pH changes are

A. Monobasic phosphate

B. Dibasic phosphate

C. Carbonic acid


https://dl.doubtnut.com/l/_nj5bafBZ0sXo
https://dl.doubtnut.com/l/_idSCirmDW8XK
https://dl.doubtnut.com/l/_XRhsKfYcDTW5

D. All the above.

Answer: D

° Watch Video Solution

34. Fluoride ion

A. Prevents tooth decay

B. Non-essential

C. Toxic even in small quantity

D.Both B and C.

Answer: A

o Watch Video Solution

35. Mineral element present in cytochrome is


https://dl.doubtnut.com/l/_XRhsKfYcDTW5
https://dl.doubtnut.com/l/_0FkYZzbEV7rz
https://dl.doubtnut.com/l/_wOCWkwdjCCZL

A. potassium

B. Zinc

C.lron

D. Manganese.

Answer: C

o Watch Video Solution

36. Dibasic phosphate (HPOif) is a buffer against

A. Toxic chemicals
B. Strong acids
C. Strong base

D. Weak bases and acids.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wOCWkwdjCCZL
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37. Monobasic phophate (H2PO4_) is a buffer against

A. Weak acid
B. Weak base
C. Strong base

D. Strong acid.

Answer: D

o Watch Video Solution

38. lodine occurs in human body as

A. Thyroxine

B. Inorganic iodide

C. Protein bound iodine


https://dl.doubtnut.com/l/_e65xuRCx67jD
https://dl.doubtnut.com/l/_7TEGBLsOpDVQ
https://dl.doubtnut.com/l/_B570i2q3ENW4

D. All the above.

Answer: D

° Watch Video Solution

39. Magnesium is required for enzymes connected with

A. Oilgosaccharide formation

B. ATP utilising reactions

C. Glycoprotein formation

D. All the above.

Answer: B

o Watch Video Solution

40. Maximum amount of Manganese is found in


https://dl.doubtnut.com/l/_B570i2q3ENW4
https://dl.doubtnut.com/l/_DicwfKLJIRWN
https://dl.doubtnut.com/l/_LRMTJ0ByM3GE

A. Ribosomes

B. Lysosomes

C. Mitochondria

D. Nucleus.

Answer: C

o Watch Video Solution

41.Ca®" and Mg*"

A. Reduce excitability of nerves and muscles
B. Increase excitability of nerves and muscles
C. Conduct nerve impulses

D. Both B and C.

Answer: A

° Watch Video Solution
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42.The ratio between hydrogen and oxygen in a carbohydrate is

Ab:1

B.4:3

C.3:1

D.2:1

Answer: D

° Watch Video Solution

43.C, H,,0, is the general formula of

A. Fatty acid

B. Fat

C. Glycerol


https://dl.doubtnut.com/l/_sBg4dTxMxhTw
https://dl.doubtnut.com/l/_cISGiGoaTV5p
https://dl.doubtnut.com/l/_OyYt0XI1Zh1C

D. Carbohydrate.

Answer: D

° Watch Video Solution

44, Deoxyribose is

A C5H1005

B. C5H1004

C. C6H12O6

D. C@H1205.

Answer: B

° Watch Video Solution

45.The simplest form of carbohydrates..........u...


https://dl.doubtnut.com/l/_OyYt0XI1Zh1C
https://dl.doubtnut.com/l/_XeBwldjZU4x4
https://dl.doubtnut.com/l/_udR8fAnpyoci

A. Carbon

B. Starch

C. Monosaccharide

D. Cane sugar.

Answer: C

° Watch Video Solution

46. A monosaccharide is

A. Lactose

B. Sucrose

C. Ribose

D. Maltose.

Answer: C

° Watch Video Solution
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https://dl.doubtnut.com/l/_iqv6S6qJIXgW

47. How many carbon atoms are generally used in composition of

monosaccharides ?

A. 20

B.10 — 15

Cc.2-10

D.3—-T.

Answer: D

o Watch Video Solution

48. The most common carbohydrate monomer is

A. Maltose

B. Lactose

C. Glucose


https://dl.doubtnut.com/l/_iqv6S6qJIXgW
https://dl.doubtnut.com/l/_KtnVMCInDHaC
https://dl.doubtnut.com/l/_K7ypoVlalvnf

D. Galactose.

Answer: C

° Watch Video Solution

49, The sweetest chemical is

A. Fructose

B. Saccharin

C. Monellin

D. Thaumatin.

Answer: D

° Watch Video Solution

50. Non-reducing sugar is


https://dl.doubtnut.com/l/_K7ypoVlalvnf
https://dl.doubtnut.com/l/_vNwBZivjoH9D
https://dl.doubtnut.com/l/_9aGJdoGJxIjg

A. Glucose

B. Sucrose

C. Fructose

D. Maltose.

Answer: B

° Watch Video Solution

51. Xylitol is

A. Artificial sweetener

B. Nutritive sweetener

C. Non-nutritive sweetener

D. Both A and B.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9aGJdoGJxIjg
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52.Reducing sugars are simple carbohydrates having

A. Free aldehyde

B. Bound aldehyde

C. Free aldenhyde or ketone

D. Bound ketone.

Answer: C

o Watch Video Solution

53. A ketose sugar is

A. Glucose

B. Fructose

C. Glyceraldehyde


https://dl.doubtnut.com/l/_M2QDDjxk4kCm
https://dl.doubtnut.com/l/_qgwipTbA1imP
https://dl.doubtnut.com/l/_WwrwG4BjhaIx

D. Both A and B.

Answer: B

° Watch Video Solution

54. Laevulose present in honey is

A. Disaccharide

B. Glucose

C. L-Fructose

D. Pentose.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WwrwG4BjhaIx
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55.1n Fehling's or Benedict's solution, a reducing sugar causes conversion

of

A. Ferric to ferrous state

B. Ferrous to ferric state

C. Cuprous to cupric state

D. Cupric to cuprous state.

Answer: D

o Watch Video Solution

56. Use of artificial sweetener saccharin has been discontinued because it

A. Carcinogenic

B. Liable to decompose in hot weather of tropics

C. Bitter in the beginning


https://dl.doubtnut.com/l/_AIUfTKNpFzyV
https://dl.doubtnut.com/l/_cNA7QO2UJzoa

D. All the above.

Answer: A

° Watch Video Solution

57. The commonly used artificial sweetener is

A. Acesulfame K

B. Cyclamate

C. Aspartame

D. Saccharin.

Answer: C

° Watch Video Solution

58. Mannitol is


https://dl.doubtnut.com/l/_cNA7QO2UJzoa
https://dl.doubtnut.com/l/_cyud5r2LbP2i
https://dl.doubtnut.com/l/_JmFUqdojiMjL

A. Amino acids,Water, Minerals and Sugars

B. Amino alcohol

C. Sugar alcohol

D. Sugar acid.

Answer: C

o Watch Video Solution

59. Which one is sugar acid

A. Vitamin C

B. Vitamin K

C.Vitamin D

D. Vitamin E

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JmFUqdojiMjL
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60. Cellobiose, the hydrolytic breakdown product of cellulose is

A. A monosaccharide
B. A disaccharide
C. A tetrasaccharide

D. A trisaccharide.

Answer: B

o Watch Video Solution

61. Inulin is a polymer of

A. Glucose

B. Galactose

C. Fructose


https://dl.doubtnut.com/l/_MhvFEiVXuSoE
https://dl.doubtnut.com/l/_WVibHrRjmEpU
https://dl.doubtnut.com/l/_gmsyOZBixoT0

D. Arabinose.

Answer: C

° Watch Video Solution

62. Raffinose is a

A. Monosaccharide

B. Disaccharide

C. Trisaccharide

D. Tetrasaccharide.

Answer: C

o Watch Video Solution

63. Most sugars are dextrorotatory which means they


https://dl.doubtnut.com/l/_gmsyOZBixoT0
https://dl.doubtnut.com/l/_tbx3eWlo1eTe
https://dl.doubtnut.com/l/_dFiPShRiGFrf

A.Tilt light to right

B. Rotate polarised light to right

C.Tilt light to left

D. Rotate polarised light to left.

Answer: B

o Watch Video Solution

64.The term lipid was given by

A. Sutherland

B. Bloor

C. Altmann

D. Berzelium.

Answer: B

° Watch Video Solution
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https://dl.doubtnut.com/l/_RBhLwGcLB9PT

65.C,H,, 0, is the general formula of

A. Carbohydrate

B. Fatty acid

C. Fat

D. Nucleic acid.

Answer: B

o Watch Video Solution

66. Each molecule of fat has

A. One glycerol molecule and one fatty acid molecule

B. One glyceral molecules and three fatty acid molecule

C. Three glycerol molecules and one fatty acid molecule


https://dl.doubtnut.com/l/_RBhLwGcLB9PT
https://dl.doubtnut.com/l/_uBWOPZySSLqF
https://dl.doubtnut.com/l/_d2ptp10Yq1QY

D. Three glycerol and three fatty acid molecules.

Answer: B

° Watch Video Solution

67. Which one is a saturated fatty acid ?

A. With no double bond

B. High melting point

C. Low melting point

D. Both A and B.

Answer: D

o Watch Video Solution

68. The melting point of unsaturated fatty acids


https://dl.doubtnut.com/l/_d2ptp10Yq1QY
https://dl.doubtnut.com/l/_WTIOeZQlQD0P
https://dl.doubtnut.com/l/_yjqAfFWgLpfp

A. Increases with increase in double bonds

B. Decreases with increase in double bonds

C.Rises in some and fells in others

D. These is no relationship between unsaturation and melting point.

Answer: B

o Watch Video Solution

69. Essential fatty acids were discovered by

A. Evans and Burr

B. Bloor

C. Sutherland

D. Beer.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yjqAfFWgLpfp
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70. Number of essential fatty acids is

A.6

B.4

C.3

D.2

Answer: C

° Watch Video Solution

71. Essential fatty acids are

A. Saturated

B. Unsaturated

C. Both saturated and unsaturated


https://dl.doubtnut.com/l/_pep3gGgUaJMU
https://dl.doubtnut.com/l/_gnZSHMihjv3T
https://dl.doubtnut.com/l/_XEj15d3wFb6R

D. Cyclic.

Answer: B

° Watch Video Solution

72. Which one is essential fatty acid

A. Linoleic acid

B. Linolenic acid

C. Arachidonic acid

D. All the above.

Answer: D

° Watch Video Solution

73. Essential fatty acids occur in


https://dl.doubtnut.com/l/_XEj15d3wFb6R
https://dl.doubtnut.com/l/_uvtTrDSLKT3z
https://dl.doubtnut.com/l/_O4pj4GvnmfCR

A. Animal fat

B. Plant oils

C. Fish and fowl

D.Both B and C.

Answer: D

° Watch Video Solution

74. Deficiency of EFA causes

A. Follicular keratosis

B. Kidney failure

C. Sterility

D. All the above.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_O4pj4GvnmfCR
https://dl.doubtnut.com/l/_GtR8bOdooHlY

75.Number of double bonds present in arachidonic acid is

A4

B.3

C.2

D.1

Answer: A

° Watch Video Solution

76. Arachidonic acids gives rise to

A. Terpenes

B. Prostaglandins

C. Gangliosides


https://dl.doubtnut.com/l/_GtR8bOdooHlY
https://dl.doubtnut.com/l/_DMY4wV9cWlGe
https://dl.doubtnut.com/l/_g3jIN0HEPKGB

D. Cerebrosides.

Answer: B

° Watch Video Solution

77. Major function of PUFA is

A. Supply of essential fatty acids

B. Lowering of cholesterol level

C. Prevent atherosclerosis

D. All the above.

Answer: D

o Watch Video Solution

78. Which one provides twice as much energy as carbohydrates


https://dl.doubtnut.com/l/_g3jIN0HEPKGB
https://dl.doubtnut.com/l/_geVBDZIKGOO3
https://dl.doubtnut.com/l/_nIQk7TlckA6I

A. Protein

B. Fat

C. Amino acids

D. Vitamins.

Answer: B

° Watch Video Solution

79. Number of fatty acids present in a molecule of phospholipid is

A. Two

B. Three

C.One

D. None.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nIQk7TlckA6I
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80. Cholesterol is a

A. Monosacharide

B. Protein

C. Sterol

D. Wax.

Answer: C

° Watch Video Solution

81. In contact with water, fatty acids produce

A. Monolayer
B. Bilayer

C. Trilayer


https://dl.doubtnut.com/l/_UV1TkOeF6ygF
https://dl.doubtnut.com/l/_OydLrKoQwFZr
https://dl.doubtnut.com/l/_CNc4CZBKweML

D. Membrane.

Answer: A

° Watch Video Solution

82.In contact with water, phospholipids produce

A. Monolayer

B. Bilayer

C. Trilayer

D. Emulsion.

Answer: B

o Watch Video Solution

8. Wax present in human blood is


https://dl.doubtnut.com/l/_CNc4CZBKweML
https://dl.doubtnut.com/l/_0y36waDwh4WB
https://dl.doubtnut.com/l/_r8m7c3QkJgaC

A. Mericyl palmitate

B. Cetyl palmitate

C. Cholesterol palmitate

D. Ceryl palmitate.

Answer: C

o Watch Video Solution

84. Wax is ester of fatty acid with

A. Long chain dihydric alcohol

B. Trihydric alcohol

C. Long chain monohydric alcohol

D. Short chain monohydric alcohol.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_r8m7c3QkJgaC
https://dl.doubtnut.com/l/_do1UQC0CGpjC

85. Bee's wax consists of

A. Mericyl palmitate

B. Mericyl stearate

C. Cetyl palmitate

D. Cetyl stearate.

Answer: A

o Watch Video Solution

86. Commonly candles are prepared from

A. Bee's wax

B. Paraffin wax

C. Stearic acid


https://dl.doubtnut.com/l/_do1UQC0CGpjC
https://dl.doubtnut.com/l/_NEWy8w1vveuV
https://dl.doubtnut.com/l/_lh6NnNNtPTcI

D.Both B and C.

Answer: D

° Watch Video Solution

87. Lanolin or woll fat is a

A. Hard fat

B. Oil

C. Wax

D. Sterol.

Answer: C

° Watch Video Solution

88. Lycopene,the colouring agent of Tomato, is a


https://dl.doubtnut.com/l/_lh6NnNNtPTcI
https://dl.doubtnut.com/l/_3C2EYFjsEWly
https://dl.doubtnut.com/l/_lOtqTvSVgfX1

A. Sterol

B. Terpenoid

C. Sphingoilpid

D. Phospholipid.

Answer: B

° Watch Video Solution

89. Rubber is

A. Monoterpene

B. Diterpene

C. Tetraterpene

D. Polyterpene.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_lOtqTvSVgfX1
https://dl.doubtnut.com/l/_BSFfjBPmU6r3

90. Number of protein amino acids is

A. 20

B.16

C.32

D. 64

Answer: A

° Watch Video Solution

91. Essential amino acids were discorvered by

A. Evans and Burr
B. Hopkin

C. Beevers


https://dl.doubtnut.com/l/_BSFfjBPmU6r3
https://dl.doubtnut.com/l/_RyhWPPn1WCFe
https://dl.doubtnut.com/l/_GViHx4Dv41bq

D. Sutherland.

Answer: B

° Watch Video Solution

92. Protein amino acids are

A. Laevorotatory

B. Dextrorotatory

C. Laevorotatory except glycine which is nonrotatory

D. Laevorotatory except glycine which is dextrorotatory.

Answer: C

o Watch Video Solution

93. A functional but nonprotein amino acid is


https://dl.doubtnut.com/l/_GViHx4Dv41bq
https://dl.doubtnut.com/l/_7tGinJSK2RXc
https://dl.doubtnut.com/l/_4kcbHigvcSDN

A. Ornithine

B. Citrulline

C. Diaminopimelic acid

D. All the above.

Answer: D

° Watch Video Solution

94. Number of pyrimidines found in nucleotides is

A3

B.2

C.1

D. Numerous.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_4kcbHigvcSDN
https://dl.doubtnut.com/l/_yCeNXuNWcIAE

95. Nitrogen bases are

A. Homocyclic

B. Heterocyclic

C. Open chain hydrocarbons

D. All the above.

Answer: B

o Watch Video Solution

96. Nitrogen base is attached to pentose sugar in a nucleoside at carbon

atom

A. Carbon-5' of pentose sugar

B. Carbon-1' of pentose sugar

C.N-1and N-9


https://dl.doubtnut.com/l/_yCeNXuNWcIAE
https://dl.doubtnut.com/l/_2KsvHY35rEsI
https://dl.doubtnut.com/l/_rQO09ww2VDqv

D.Both B and C.

Answer: D

° Watch Video Solution

97. Phosphate of a nucleotide is attached to carbon atom of its pentose
sugar

AT

B.2'

c.3

D.5'

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_rQO09ww2VDqv
https://dl.doubtnut.com/l/_8kawU3HUHIi7

98. Cyclic AMP is

A. Adenosine 1-3 monophosphate

B. Adenosine 2-4 monophosphate

C. Adenosine 3-5 monophosphate

D. Adenosine 1-5 monophosphate

Answer: C

o Watch Video Solution

99. Polymerisation is important in

A. Producing new chemicals

B. Reducing osmotic influence

C. Storage

D. All the above.


https://dl.doubtnut.com/l/_8ae7ruaoQfC1
https://dl.doubtnut.com/l/_aiOCzW48Rpvl

Answer: D

° Watch Video Solution

100. Cellulose is formed by union of repeated residues of

A. Amino acids

B. Lipids

C. Glucose

D. Fructose.

Answer: C

° Watch Video Solution

101. A fibrous polysachharide is

A. Glycogen


https://dl.doubtnut.com/l/_aiOCzW48Rpvl
https://dl.doubtnut.com/l/_ZoVwMhlzt8tR
https://dl.doubtnut.com/l/_QU8KzUbvGPyG

B. Starch

C. Cellulose

D. Collagen.

Answer: C

° Watch Video Solution

102. Which is an unbranched glucan (hexagon)?

A. Cellulose

B. Starch

C. Glycogen

D. All the above.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QU8KzUbvGPyG
https://dl.doubtnut.com/l/_dvvZfFjXZS0C
https://dl.doubtnut.com/l/_DzLkaiqDoVl8

103. An anticoagulent mucopolysachharide commonly present in animal

body is

A. Chondroitin sulphate

B. Keratan sulphate

C. Heparin

D. Hyaluronic acid.

Answer: C

o Watch Video Solution

104. Dahlia starch is used for

A. Study of digestive anzymes

B. Study of kidney function

C. Preparation of noodle

D. Manufacture of chocolates.


https://dl.doubtnut.com/l/_DzLkaiqDoVl8
https://dl.doubtnut.com/l/_Z42or5KvDYwG

Answer: B

° Watch Video Solution

105. Glycogen occurs in the form of

A.Rounded grains

B. Ellipsoid grains

C.Elongated granules

D. Flat ellipsoid granules.

Answer: D

° Watch Video Solution

106. Glycogen granules are located inside

A. Amylopasts


https://dl.doubtnut.com/l/_Z42or5KvDYwG
https://dl.doubtnut.com/l/_NwMUdklzq4N5
https://dl.doubtnut.com/l/_ZwatUnyq0wpB

B. Mitochondria

C. Cytoplasm

D. Lysosomes.

Answer: C

° Watch Video Solution

107.In branching of molecules of starch, which glycosidic bond occurs?

Aal — 6

B.al — 4

C.Ap1— 4

D.f1 — 6

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ZwatUnyq0wpB
https://dl.doubtnut.com/l/_upeSXIDRxuoU
https://dl.doubtnut.com/l/_E10WaA5LE8rk

108. Main chain of glycogen and starch is helically coiled with each turn of

helix having

A.10 - 14 glucose residues

B. 8 -10 glucose residues

C. 6 glucose residues

D. 4 glucose residues.

Answer: C

o Watch Video Solution

109. Glycosidic linkage present between adjacent glucose units of starch

or glycogen is genetally

A Bl — 4

B.al — 4

Ca2—1


https://dl.doubtnut.com/l/_E10WaA5LE8rk
https://dl.doubtnut.com/l/_ZeWWAjECusrh

D.B2 — 6

Answer: B

° Watch Video Solution

10. Linkage present in between glucose residues of cellulose is

A Bl — 4

B.61 — 6

C.al — 4

D.al — 6.

Answer: A

° Watch Video Solution

111. The most abundant organic molecule is


https://dl.doubtnut.com/l/_ZeWWAjECusrh
https://dl.doubtnut.com/l/_gyEQpBEKgLLL
https://dl.doubtnut.com/l/_q4JgtEPJUxqJ

A. RuBisCO

B. Starch

C. Cellulose

D. Chitin.

Answer: C

o Watch Video Solution

112. The monomer units of chitin and fungus cellulose are

A. Mannitol

B. Acetyl glucosamine

C. Ascorbic acid

D. Glucuronic acid.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_q4JgtEPJUxqJ
https://dl.doubtnut.com/l/_46jxMyZxqZ0x

113. A mucopolysaccharide that functions as cell cement and lubricant is

A. Heparin

B. Hyaluronic acid

C. Keratan sulphate

D. Chondrotin sulphate.

Answer: B

o Watch Video Solution

114. A polysachharide employed in tissue culture is

A. Cellulose

B. Starch

C. Glycogen


https://dl.doubtnut.com/l/_46jxMyZxqZ0x
https://dl.doubtnut.com/l/_GjosqDDt5ARI
https://dl.doubtnut.com/l/_7iCHCS8ETHtb

D. Agar-agar.

Answer: D

° Watch Video Solution

115. Compound starch grains are present in

A. Potato

B. Rice

C.Oat

D. All the above.

Answer: D

° Watch Video Solution

116. Hilum of a starch grains is formed of


https://dl.doubtnut.com/l/_7iCHCS8ETHtb
https://dl.doubtnut.com/l/_kSH4PvXAQSiL
https://dl.doubtnut.com/l/_L4SBV4I69zGr

A. A special micro-grain of starch

B. Proteinaceous centre

C. Lipid centre

D. Nucleic acid centre.

Answer: B

o Watch Video Solution

117.What is wrong

A. Cellulose is most abundant organic molecule

B. Chitin is the second most abundant organic molecule

C. Celulose is the most abundant heteropolysaccharide

D. Chitin is the second most abundant homopolysaccharide.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_L4SBV4I69zGr
https://dl.doubtnut.com/l/_Lp0nz9cvtDII

118. Rayon and cellophane are formed of

A. Cellulose xanthate

B. Cellulose nitrate

C. Cellulose acetate

D. Carboxymethyl cellulose.

Answer: A

o Watch Video Solution

119. A salt of cellulose used in propellent explosives is

A. Cellulose acetate

B. Cellulose nitrate

C. Cellulose superphosphate


https://dl.doubtnut.com/l/_Lp0nz9cvtDII
https://dl.doubtnut.com/l/_Tc9bklMnqyoD
https://dl.doubtnut.com/l/_WjTUdZx0vOTE

D. Cellulose hypoxanthate.

Answer: B

° Watch Video Solution

120. Cellulose acetate is raw material for

A. Photographic films

B. Treicot

C. Shatter proof glass

D. All the above.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_WjTUdZx0vOTE
https://dl.doubtnut.com/l/_rT11NDaHEHdh

121. Smoothening agent in ice-creams and brigthening agent in

detergents is

A. Cellulose hypoxathate

B. Cellulose xanthate

C. Carboxymethyl cellulose

D. All the above.

Answer: C

o Watch Video Solution

122. Protein is a

A. Macromolecule

B. Steroid

C. Fat

D. Micromolecule.


https://dl.doubtnut.com/l/_Fu6b2tDIDz6Q
https://dl.doubtnut.com/l/_n2wiaHXa7po8

Answer: A

° Watch Video Solution

123. A protein molecule is formed of

A. Chain of amino acids

B. Chain of fatty acids

C. Chain of monosachharides

D. Chain of oligosaccharides.

Answer: C

° Watch Video Solution

124. Number of amino acids present in hormone adrenocorticotrophin is

A.10


https://dl.doubtnut.com/l/_n2wiaHXa7po8
https://dl.doubtnut.com/l/_rpNj8vgux8pN
https://dl.doubtnut.com/l/_ViEgcL6Zf74z

B.70

C.58

D. 39

Answer: D

° Watch Video Solution

125. Primary structure of protein is due to

A. Hydrogen bonds

B. Peptide bonds

C. glycosidic bond

D. lonic bonds.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ViEgcL6Zf74z
https://dl.doubtnut.com/l/_C4CGI25O24tM
https://dl.doubtnut.com/l/_dFkksrtvpIcn

126. How many amino acids molecules form a molecule of haemocyanin

(hemocyanin), a blood pigment of snails

A. 68

B.72

C. 4500

D. 600-660

Answer: D

o Watch Video Solution

127. Proteins can be denatured by

A. Carbon dixode

B. Carbon monoxide

C. Heat

D. Oxygen.


https://dl.doubtnut.com/l/_dFkksrtvpIcn
https://dl.doubtnut.com/l/_gV3Vn4MGnARv

Answer: C

° Watch Video Solution

128. The compound present in milk is

A. Casein

B. Glutelin

C. Myosin

D. Globulin.

Answer: A

° Watch Video Solution

129. A complete protein is one which possesses

A. All non-essential amino acids


https://dl.doubtnut.com/l/_gV3Vn4MGnARv
https://dl.doubtnut.com/l/_zPGhfCTWxh2M
https://dl.doubtnut.com/l/_RRppqG7fCaIq

B. All essentials amino acids

C. All the 20 amino acids

D. All the amino acids with complex structure

Answer: B

° Watch Video Solution

130. The most abundent molecule of protoplast is

A. Proteins

B. Lipids

C. Carbohydrates

D. Nucleic acids.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RRppqG7fCaIq
https://dl.doubtnut.com/l/_gVN91IubmIhn
https://dl.doubtnut.com/l/_icPCQLdDoBrf

131.  Molecular  weight of  smallest proteins molecule

ACTH(adrenocorticotropic hormone) is

A. 5600

B. 4500

C. 3100

D. 6200

Answer: B

o Watch Video Solution

132. In a — helix secondary structure, hydrogen bonds lie between

oxygen of carboxylic group of first amino acid to the -NH group of the

A. 2nd amino acid

B. 3rd amino acids

C. Fourth amino acid


https://dl.doubtnut.com/l/_icPCQLdDoBrf
https://dl.doubtnut.com/l/_QoxIOvNEOn6B

D. Fifth amino acid.

Answer: C

° Watch Video Solution

133. Which is type of secondary protein structure

A. a-helix

B. B-pleated

C. Collagen helix

D. All the above.

Answer: D

o Watch Video Solution

134. In B-pleated secondary protein structure there are


https://dl.doubtnut.com/l/_QoxIOvNEOn6B
https://dl.doubtnut.com/l/_eocc70VblGQv
https://dl.doubtnut.com/l/_OCUC3ODOM7iN

A. Two or polypeptide chains

B. Hydrogen bonds between adjacent polypeptide chains

C. Parallel or antiparallel polypeptides

D. All the above.

Answer: D

o Watch Video Solution

135. Haemoglobin is

A. Monomeric protein

B. Oligomeric protein

C. Chromoprotein

D.Both B and C.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_OCUC3ODOM7iN
https://dl.doubtnut.com/l/_LsXf4CB1u3Le

136. Primary structure of polypeptide is stabilised or secondary structure

of polypeptide is maintained by

A. Hydrogen bonds

B. Disulphide bonds

C. lonic bonds

D. Hydrophobic inteaction.

Answer: A

o Watch Video Solution

137. Protomers are

A. Primitive proteins

B. Protein subunits

C. Protein aggregate


https://dl.doubtnut.com/l/_LsXf4CB1u3Le
https://dl.doubtnut.com/l/_s1Apz3Rh30bk
https://dl.doubtnut.com/l/_0XGVVocCHnkZ

D. None of the above.

Answer: B

° Watch Video Solution

138. Final structure in fibrous proteins is

A. Secondary structure

B. Tertiary structure

C. Quaternary structure

D. Primary structure.

Answer: A

o Watch Video Solution

139. Quaternary structure is found in


https://dl.doubtnut.com/l/_0XGVVocCHnkZ
https://dl.doubtnut.com/l/_gv8Fh3iIdXRm
https://dl.doubtnut.com/l/_4fhHEQdjuksR

A. Simple monomeric proteins

B. Conjugate monomeric proteins

C. Oligoproteins

D.Both B and C.

Answer: C

o Watch Video Solution

140. Most abundant protein in the human body is

A. Haemoglobin

B. Keratin

C. Collagen

D. Immunoglobulin.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4fhHEQdjuksR
https://dl.doubtnut.com/l/_bkbE7z1f7hlT

141. Which forms nails, hair and feathers

A. Keratan sulphate

B. Keratin

C. Collagen

D. Elastin.

Answer: B

o Watch Video Solution

142. Oxygen transporting protein is haemoglobin. Which one is oxygen

storing protein

A. Myoglobin

B. Actin

C. Myosin


https://dl.doubtnut.com/l/_bkbE7z1f7hlT
https://dl.doubtnut.com/l/_JgxtewPXWD6U
https://dl.doubtnut.com/l/_cKRuNd4cSaBM

D. Caseinogen.

Answer: A

° Watch Video Solution

143. Mucin present in saliva is a

A. Mucoprotein

B. Mucopolysaccharide

C. Deride protein

D. Samall polysachharide.

Answer: A

o Watch Video Solution

144. Proteins present in milk egg and meat are


https://dl.doubtnut.com/l/_cKRuNd4cSaBM
https://dl.doubtnut.com/l/_KcqWNJXrRFrv
https://dl.doubtnut.com/l/_R3TZ0N081S7q

A. Partially complete

B. Complete

C.Incomplete

D.Both B and C.

Answer: B

° Watch Video Solution

145. A globular protein is

A. Elastin

B. Keratin

C. Albumin

D. Collagen.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_R3TZ0N081S7q
https://dl.doubtnut.com/l/_UpdEixNwohv0

146. Adenine of DNA is equimolar with

A. Uridine

B. Thymine

C. Guanine

D. Cytosine.

Answer: B

° Watch Video Solution

147.DNA is a polymer of

A. Proteins

B. Carbohydrates

C.RNA


https://dl.doubtnut.com/l/_UpdEixNwohv0
https://dl.doubtnut.com/l/_8jaRlWE4Jf9v
https://dl.doubtnut.com/l/_c6zBYjAxfFmY

D. Nucleotides.

Answer: D

° Watch Video Solution

148. A DNA strand is directly involved in the synthesis of all of the

following, except

A. DNA

B. Protein

C.rRNA

D. mRNA

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_c6zBYjAxfFmY
https://dl.doubtnut.com/l/_Bng2fGSk1DgN

149. DNA is unique in that it has

A. Nitrogen bases

B. Ability to withstand heat

C. Ability to replicate

D. Ability for replication and transcription.

Answer: D

o Watch Video Solution

150. DNA differs from RNA in the nature of

A. Nuture of sugar alone

B. Nature of purines alone

C. Nature of sugar and pyrimidines

D. All the above.


https://dl.doubtnut.com/l/_uSearEJSnN6L
https://dl.doubtnut.com/l/_JXZ5Sg0RM8at

Answer: C

° Watch Video Solution

151. Enzymes (Biocatalysts) were discovered accidently in yeast cell extract

by a biochemist for which he was awarded Novel Prize was

A. Kuhne

B. Duclaux

C.Buchner

D. Dubrunfaut.

Answer: C

° Watch Video Solution

152. Who confirmed protein nature of enzymes


https://dl.doubtnut.com/l/_JXZ5Sg0RM8at
https://dl.doubtnut.com/l/_iDodM82osz9u
https://dl.doubtnut.com/l/_n5Zi4WIS5YQ7

A. Monod et al

B. Arber et al

C.Berzelium

D. Northrop.

Answer: D

° Watch Video Solution

153. Number of known enzymes is

A. 500

B. 1000

C. 1500

D. Over 2000.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_n5Zi4WIS5YQ7
https://dl.doubtnut.com/l/_iFDd7juoyqYg

154. Molecular weight of the smallest enzyme (bacterial ferredoxin) is

A. 6000

B. 5400

C.4500

D. 3500

Answer: A

o Watch Video Solution

155. A nucleic acid enzyme is

A. Lysozyme

B. Ribozyme

C. Ribonucleases-P


https://dl.doubtnut.com/l/_iFDd7juoyqYg
https://dl.doubtnut.com/l/_Tlc9tblGKt6Q
https://dl.doubtnut.com/l/_gkRP2G61TnCV

D.Both B and C.

Answer: D

° Watch Video Solution

156. Many enzymes are produced in inactive state called

A. Allosteric enzyme

B. Enzyme precursor

C. Proenzyme or zymogen

D.Both B and C.

Answer: D

o Watch Video Solution

157. Which one is a conjugate enzyme


https://dl.doubtnut.com/l/_gkRP2G61TnCV
https://dl.doubtnut.com/l/_9iWsoaJcwDoX
https://dl.doubtnut.com/l/_zq4nn7mEktog

A. Succinate dehyrogenase

B. Urease

C. Trypsin

D. Both A and B.

Answer: A

o Watch Video Solution

158. An enzyme made of both protein and non-protein part is together

called

A. Coenzyme

B. Endoenzyme

C. Exoenzyme

D. Holoenzyme.

Answer: D



https://dl.doubtnut.com/l/_zq4nn7mEktog
https://dl.doubtnut.com/l/_B3c7I0aE8x8r

| ° Watch Video Solution

159. An apoenzyme is a

A. Vitamin

B. Amino acid

C. Carbohydrates

D. Protein.

Answer: D

° Watch Video Solution

160. Non-protein part of holoenzyme is

A. Vitamin

B. Cofactor

C. Fatty acid


https://dl.doubtnut.com/l/_B3c7I0aE8x8r
https://dl.doubtnut.com/l/_ndeKrriwif8i
https://dl.doubtnut.com/l/_AMvVJMen3bBh

D. Zymogen.

Answer: B

° Watch Video Solution

161. Vitamins are generally involved in forming component of enzyme

called

A. Apoenzyme

B. Holoenzyme

C. Prosthetic group

D. Coenzyme and prosthetic group

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_AMvVJMen3bBh
https://dl.doubtnut.com/l/_jtJ0WShNquqO

162. Loosely attached organic cofactor of holoenzyme is called

A. modulator

B. Prosthetic group

C. Coenzyme

D. Ligase.

Answer: C

o Watch Video Solution

163. Firmly attached organic cofactor of holoenzyme is

A. Transferase

B. Activator

C. Modulator

D. Prosthetic group.


https://dl.doubtnut.com/l/_AY9mq77tb0YH
https://dl.doubtnut.com/l/_846JnMgKeDgq

Answer: D

° Watch Video Solution

164. Coenzyme is

A. Carbohydrate

B. Protein

C.Vitamin

D. Fatty acid.

Answer: C

° Watch Video Solution

165. Part of enzyme where substrate is changed into product is called

A. Allosteric site


https://dl.doubtnut.com/l/_846JnMgKeDgq
https://dl.doubtnut.com/l/_zNRJUVKFvEH2
https://dl.doubtnut.com/l/_q7hJ8PgdjZf6

B. Active site

C. Cofactor

D. Prosthetic group.

Answer: B

° Watch Video Solution

166. Which one gives rise to coenzyme

A B,

B. B,

C. Nicotinamide

D. All the above.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_q7hJ8PgdjZf6
https://dl.doubtnut.com/l/_NOI8iXwj7Lwj
https://dl.doubtnut.com/l/_YsXDnwwEtnk5

167. Each step of a metabolic pathway has its

A. Own cofactor

B. Enzyme

C. Coenzyme

D. One to serveral enzymes.

Answer: B

o Watch Video Solution

168. In certein metabolic pathways, a number of enzymes are required.

These multienzyme complexes occur enclosed in

A. Membrane

B. Area with in ATP

C. Microbodies

D. Endoplasmic reticulum.


https://dl.doubtnut.com/l/_YsXDnwwEtnk5
https://dl.doubtnut.com/l/_o8j0wE0bYBBB

Answer: A

° Watch Video Solution

169. Inorganic cofactor is often called

A. Coenzyme

B. Prosthetic group

C. Modulator

D. Activator.

Answer: D

° Watch Video Solution

170. Active site of an enzyme is formed of

A. Amino groups of some amino acids.


https://dl.doubtnut.com/l/_o8j0wE0bYBBB
https://dl.doubtnut.com/l/_lQrh72q5AEz7
https://dl.doubtnut.com/l/_3mBZ35h6dCrc

B. Carboxyl groups of some amino acids

C. HS bonds of amino acids

D. R-groups of selected amino acids

Answer: D

° Watch Video Solution

171. Different molecular forms of an enzyme having the same substrate

specificity are

A.Zymogens

B. Coenzymes

C.Isoenzyme

D. Allosteric enzymes.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3mBZ35h6dCrc
https://dl.doubtnut.com/l/_6WZ5A5iQc0oq

172. An allosteric enzyme has

A. One active site

B. One active site and one allosteric site

C. Active site and two types of allosteric sites

D. Two types of active sites

Answer: C

o Watch Video Solution

173. Allosteric enzymes have allosteric sites for

A. Both activation and inhibition

B. Inhibition only

C. Activation only

D. Reduction in activation energy.


https://dl.doubtnut.com/l/_6WZ5A5iQc0oq
https://dl.doubtnut.com/l/_6S4AyRvblEqh
https://dl.doubtnut.com/l/_wNiIPuQPz4LV

Answer: A

° Watch Video Solution

174. Turn-over number of the fastest enzyme is

A 18 x 10*

B. 10*

C.36 x 108

D. 10°.

Answer: C

° Watch Video Solution

175. Which of the following is the fastest enzyme ?

A. Urease


https://dl.doubtnut.com/l/_wNiIPuQPz4LV
https://dl.doubtnut.com/l/_Fr0LoxEGLmTq
https://dl.doubtnut.com/l/_paAMzZhGEs2p

B. Carbonic anhydrase

C. Trypsin

D. Pepsin.

Answer: B

° Watch Video Solution

176. Substrate concentration at which an enzyme attains half its

maximum velocity is

A. Threshold value

B. Half-life

C. Michaelis-Menten constant

D. Concentration coefficient.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_paAMzZhGEs2p
https://dl.doubtnut.com/l/_LgurEG1oSZ4O

177. Enzyme that does not follow K, value is

A. Exoenzyme

B. Allosteric enzyme

C.lsoenzyme

D. Pepsin.

Answer: B

° Watch Video Solution

178. K,,, value is

A. Maximum reaction velocity

B. Near maximum reaction velocity

C. One half of maximum reaction velocity

D. Threshold value.


https://dl.doubtnut.com/l/_LgurEG1oSZ4O
https://dl.doubtnut.com/l/_nOXkRhuooype
https://dl.doubtnut.com/l/_XxwFSW3SAQXp

Answer: C

° Watch Video Solution

179. The word appended at the end of enzyme name is

A. — ose
B. — ase
C. —in
D. — sin.
Answer: B

° Watch Video Solution

180. The word -ase added to enzyme name is

A. Suffix


https://dl.doubtnut.com/l/_XxwFSW3SAQXp
https://dl.doubtnut.com/l/_zB07DBioMiO0
https://dl.doubtnut.com/l/_CSSudVN5Dnwz

B. Prefix

C. Interpolation

D. Conjugation.

Answer: A

° Watch Video Solution

181. The suffix-ase to enzyme names was proposed by

A. Duclaux

B. Buchner

C. Northrop

D. Pasteur.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_CSSudVN5Dnwz
https://dl.doubtnut.com/l/_m8kGtmv36Ho8
https://dl.doubtnut.com/l/_YjPo1t2fR2Ml

182. The enzyme catalysting breakdown without addition of water are

called

A. Lyases

B. Hydrolases

C. Ligases

D. Oxidoreductases.

Answer: A

° Watch Video Solution

183. The enzyme that act on starch are

A. Esterases

B. Amylases

C. Proteases

D. Lipases.


https://dl.doubtnut.com/l/_YjPo1t2fR2Ml
https://dl.doubtnut.com/l/_jWAjPwQX4svt

Answer: B

° Watch Video Solution

184. Enzyme aldolase which helps in spliiting 1,6 fructose biphosphate
into dihydroxy acetone phosphate and glyceraldehyde phosphate
belongs to the category of

A. Ligases

B. Hydrolases

C. Transferases

D. lyases.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_jWAjPwQX4svt
https://dl.doubtnut.com/l/_8bcIJ6UAQPRs

185. Enzyme taking part in converting dihydroxyacetone phosphate to

glyceraldehyde phosphate belongs to the class of

A. Isomerases

B. Hydrolase

C. Ligases

D. Transferases.

Answer: A

o Watch Video Solution

186. Epimerase belongs to the class of enzymes

A. Hydrolases

B. ligases

C. Isomerases

D. Oxidoreductases.


https://dl.doubtnut.com/l/_oh54XAMRAVsP
https://dl.doubtnut.com/l/_chjp0cho6zWV

Answer: C

° Watch Video Solution

187. Enzymes catalysing bonding of two components with the help of ATP

are

A. Transferase

B. ligases

C. Lyases

D. Phosphorylases.

Answer: B

° Watch Video Solution

188. Enzymes used in breaking DNA at specific sites are


https://dl.doubtnut.com/l/_chjp0cho6zWV
https://dl.doubtnut.com/l/_kh2uzuL0Q1Kj
https://dl.doubtnut.com/l/_PAmCxmEY671t

A. DNA-ases

B. Endonucleases

C. Restricition endoucleases

D. Exonucleases.

Answer: C

o Watch Video Solution

189. Restriction endonucleases were discovered by

A. Arber et al

B. Monod et al

C. Cech et al

D. Altman et al

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PAmCxmEY671t
https://dl.doubtnut.com/l/_UhZt4wYy80PI

190. 1UB has divied enzymes into classes

A4

B.5

C.6

D.7

Answer: C

° Watch Video Solution

191. Most of the digestive enzymes belong to the class of

A. Ligases

B. Hydrolases

C. Oxidoreductases


https://dl.doubtnut.com/l/_UhZt4wYy80PI
https://dl.doubtnut.com/l/_ZKGacEtdsR0y
https://dl.doubtnut.com/l/_uQ8TpTNtkkZf

D. Transferases.

Answer: B

° Watch Video Solution

192. Constitutive enzymes are

A. Operational all the time

B. House keeping enzymes

C. Alloenzymes

D. Both A and B.

Answer: D

o Watch Video Solution

193. Repressible enzymes is


https://dl.doubtnut.com/l/_uQ8TpTNtkkZf
https://dl.doubtnut.com/l/_7BwKtHIJSvCH
https://dl.doubtnut.com/l/_NcempzwcjEbs

A. Present all the time

B. Functional almost all the time

C. Repressed in presence of a specific chemical

D. All the above.

Answer: D

o Watch Video Solution

194. Alloenzymes are

A. Enzyme precursors

B. Similar enzymes formed from different genes

C. Different enzyme of an enzyme system

D. Antienzymes.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_NcempzwcjEbs
https://dl.doubtnut.com/l/_0N9POxZm95kP

195. Which one has more free energy

A. Reactants

B. Transition state of reactants

C. Products

D. Active site of enzyme.

Answer: B

o Watch Video Solution

196. Energy required for start of a chemical reaction is

A. Activation energy

B. Entropy

C. Potential energy


https://dl.doubtnut.com/l/_0N9POxZm95kP
https://dl.doubtnut.com/l/_mCqwaVeOj9Q0
https://dl.doubtnut.com/l/_fvHyuOs8Fdhj

D. Kinetic energy.

Answer: A

° Watch Video Solution

197. An enzyne accelarates a biochemical reaction by

A. Increasing substrate movements

B. Changing free enzyme

C. Production of heat

D. Lowering energy of activation.

Answer: D

o Watch Video Solution

198. Enzyme function is to


https://dl.doubtnut.com/l/_fvHyuOs8Fdhj
https://dl.doubtnut.com/l/_w71T1CT2xXvD
https://dl.doubtnut.com/l/_Td0VggkdG3lc

A. Change equilibrium

B. Cause biochemical reaction

C. Change the direction of reaction

D. Change the rate of biochemical reaction.

Answer: D

o Watch Video Solution

199. Part of active site of enzyme where substrate is held is known as

A. Turnover number

B. Catalytic group

C. Activation site

D. Butterssing group.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Td0VggkdG3lc
https://dl.doubtnut.com/l/_lQyrWdguTzXw

200. The 'induced fit theory' for enzyme action was given by.......

A. Kuhne

B. Buchner

C. Fischer

D. Koshland.

Answer: D

o Watch Video Solution

201. Catalytic group of active site weakens substrate bonds by

A. Channel energy

B. Electrophilic changes

C. Nucleophilic changes


https://dl.doubtnut.com/l/_lQyrWdguTzXw
https://dl.doubtnut.com/l/_J06fzD1vk0wo
https://dl.doubtnut.com/l/_FNeQ09Xz98Hb

D.Both B and C.

Answer: D

° Watch Video Solution

202. As temperature changes from 3°C to 45°C, the rate of enzyme

activity will

A. Not change

B. Increase excitability of nerves and muscles

C.Increase initially and than decrease

D. Decrease.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FNeQ09Xz98Hb
https://dl.doubtnut.com/l/_HEiQIUAvfnkv

203. Spoilage of food meterial is prevented in cold storage due to

A. Reduced respiration at low temperature

B. Reduced enzyme activity in food articles

C. Reduced enzyme activty in microbes as well as food articles

D. Purified nature of air.

Answer: C

o Watch Video Solution

204. Competitive inhibition is due to

A. Protein poison

B. Substrate analogue

C. Nonavailability of activation energy

D. Short wave radiation.


https://dl.doubtnut.com/l/_izarNQgmsbhm
https://dl.doubtnut.com/l/_fH06l65SppB8

Answer: B

° Watch Video Solution

205. Feedback inhibition of an enzymatic reaction is caused by

A. Accumulated end products

B. Chemical produced by hormones

C. Hormones

D. Competitive inhibition.

Answer: A

° Watch Video Solution

206. A high fever is dangerous to a human because

A. Denatures enzymes


https://dl.doubtnut.com/l/_fH06l65SppB8
https://dl.doubtnut.com/l/_XHamsgRuavh9
https://dl.doubtnut.com/l/_O2wFC8SNzD4M

B. Inactivates enzymes

C. Coagalates blood

D. Boils fluids inside body.

Answer: A

° Watch Video Solution

207. Non-competitive inhibition often results in

A. Change in enzyme structure

B. Blocking of active site

C. Non-synthesis of enzymes

D. Non-aviaility of cofactore.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_O2wFC8SNzD4M
https://dl.doubtnut.com/l/_amch1r4Phs78
https://dl.doubtnut.com/l/_hI1MSYY4UZZd

208. A substance that unrelated to substrate reversibly changes the

activity of an enzyme. It is

A. Competitive inhibitor

B. Allosteric subunit

C. Allosteric modulator

D. None of the above.

Answer: C

o Watch Video Solution

209. Malonate functions as substrate analogue and inhibits enzyme

A. Succinate dehydrogenase

B. Pyruvate oxidase

C. Fumarase

D. Isocitrate dehydrogenase.


https://dl.doubtnut.com/l/_hI1MSYY4UZZd
https://dl.doubtnut.com/l/_KtfarS2l9OO5

Answer: A

° Watch Video Solution

210. Cyanide causes irreversible inhibition of cytochrome oxidase. It

A. Combines with an amino acid

B. Destroys tertiary structure

C. Attaches to iron

D. All the above.

Answer: C

° Watch Video Solution

211. Nerve gas (DFP) inhibits neurotransmission as it reacts with

A. Serine of acetylcholine-esterase


https://dl.doubtnut.com/l/_KtfarS2l9OO5
https://dl.doubtnut.com/l/_CxlyrTbl5HJ9
https://dl.doubtnut.com/l/_dx76FeZrfBIn

B. Choline of acetylcholine-esterase

C. Acetylcholine

D. Noradrenaline.

Answer: A

° Watch Video Solution

212. Sulphonamides were used to treat microbial infection because they

inhibit microbial growth by

A. Inhibiting wall formation
B. Competing with PABA required for synthesis of folic acid

C. Breaking nsked DNA of mirobes.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dx76FeZrfBIn
https://dl.doubtnut.com/l/_siMuOnFYbTKn

213. Enzyme action comes to a stop when hydration decreases in
maturing seeds to

A.50 - 60%

B.30-45%

C.25-30%

D.10 - 20%

Answer: D

° Watch Video Solution

1. The substance which makes up about 80 % of cytoplasm and has

unique structure


https://dl.doubtnut.com/l/_siMuOnFYbTKn
https://dl.doubtnut.com/l/_3w6jYQwE7n2B
https://dl.doubtnut.com/l/_sMYpJesanyyV

A. Proteins

B. Water

C. Fat

D. Minerals.

Answer: B

° Watch Video Solution

2. Most of the water found in the cell occurs m

A. Cell wall

B. Nucleus

C. Cytoplasm

D. Vacuoles.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_sMYpJesanyyV
https://dl.doubtnut.com/l/_jfAY3Mx4uY6P

3. which of the following disaccharides will give two molecules of glucose

on hydrolysis ?

A. Sucrose

B. Maltose

C. Lactose

D.Both B and C.

Answer: B

o Watch Video Solution

4. Which of the following is the simplest amino acid?

A. Gylcine

B. Lysine

C.Tyrosine


https://dl.doubtnut.com/l/_jfAY3Mx4uY6P
https://dl.doubtnut.com/l/_bDsV2wDJRYOw
https://dl.doubtnut.com/l/_1M61hllZzB41

D. Aspartic acid.

Answer: A

° Watch Video Solution

5. Instantaneous source of energy is

A. Sucrose

B. Glucose

C. Fat

D. Starch.

Answer: B

° Watch Video Solution

6. Which is not having high energy phosphate bond ?


https://dl.doubtnut.com/l/_1M61hllZzB41
https://dl.doubtnut.com/l/_Oy3OXJlUfXSU
https://dl.doubtnut.com/l/_M06rjD0kj338

A. Creatine phosphate

B. GTP

C.ATP

D. AMP.

Answer: D

° Watch Video Solution

7. A source of maximum energy is

A. Carbohydrate

B. Fat

C. Protein

D. Vitamins.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_M06rjD0kj338
https://dl.doubtnut.com/l/_nIsjsrl2ekOh

8. Which one is the last electron acceptor

phosphorylation

A. CoA

B.NADP™*

C.ATP

D. DNA.

Answer: B

over ETC in oxidative

° Watch Video Solution

9. Adenine is

A. Purine

B. Pyrimidine

C. Nucleoside


https://dl.doubtnut.com/l/_nIsjsrl2ekOh
https://dl.doubtnut.com/l/_Mz8dX7t1XpHn
https://dl.doubtnut.com/l/_jLDKL2kiAH37

D. Nucleotide.

Answer: A

° Watch Video Solution

10. Energy made available in catabolic reactions is immediately stored in

A. Glucose

B. NADH

C.ATP

D. DNA.

Answer: C

° Watch Video Solution

11. Carbohydrate is


https://dl.doubtnut.com/l/_jLDKL2kiAH37
https://dl.doubtnut.com/l/_3Wxzr6GfRr5h
https://dl.doubtnut.com/l/_YgePA1IWlgGG

A. Glycerol

B. Maltase

C. Sucrose

D. All the above.

Answer: C

° Watch Video Solution

12. Chemical used most by plant is

A. Carbon dixode
B. Oxygen
C. Cytochrome

D. Nitrogen.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_YgePA1IWlgGG
https://dl.doubtnut.com/l/_BFsHLjBDb4ug

13. A nucleotide is formed of

A. Purine, pyrimidine and phosphate

B. Purine, sugar and phosphate

C. Nitrogen base, sugar and phosphate

D. Pyrimidine, sugar and phosphate

Answer: C

o Watch Video Solution

14. Which are purines ?

A. Adenine and Guanine

B. Adenine and Thymine

C. Cytosine and thymine


https://dl.doubtnut.com/l/_BFsHLjBDb4ug
https://dl.doubtnut.com/l/_BzDFOna3kh5t
https://dl.doubtnut.com/l/_L9GZXxlvtIyk

D. Cytosine and Guanine.

Answer: A

° Watch Video Solution

15. Middle lamella mainly contains

A. Ca
B. Mg
C.K

D. Na.

Answer: A

° Watch Video Solution

16. Mineral associated with cytochrome is


https://dl.doubtnut.com/l/_L9GZXxlvtIyk
https://dl.doubtnut.com/l/_cJv7GX3GMBWc
https://dl.doubtnut.com/l/_0PDshmzb5Pux

A.Cu

B. Mg

C.Fe and Mg

D. Fe and Cu.

Answer: D

o Watch Video Solution

17. In blood, the main buffers are

A.Na and K

B.Sodium dihydrogen phosphate and sodium monohydrogen

phosphate

C. Carbonic acid and bicarbonate

D. Ammonium acetate.

Answer: C


https://dl.doubtnut.com/l/_0PDshmzb5Pux
https://dl.doubtnut.com/l/_Xw8JQsew6Ptk

° Watch Video Solution

18. Membrane permeability is controlled by

A.Na™

B.K™

C.Both Aand B

D.Ca’*

Answer: D

o Watch Video Solution

19. Water protects organisms from thermal shock due its high
(a) Thermal conductivity

(b) Latent heat

(c) Dielectric constant

(d) All the above


https://dl.doubtnut.com/l/_Xw8JQsew6Ptk
https://dl.doubtnut.com/l/_M8HLtVQaywIL
https://dl.doubtnut.com/l/_qHQO9uZkmboF

A. Thermal canductivity

B. Latent heat

C. Dielectric constant

D. All the above.

Answer: B

o Watch Video Solution

20. Living cell contains 60-75% water. Water present in human body is

A. 60-75%

B. 50-55%

C.75-80%

D. 65-70%

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_qHQO9uZkmboF
https://dl.doubtnut.com/l/_iXbJVPbmOzp9

21. Amino acids are produced from

A. Proteins

B. Fatty acid

C. Essential oils

D. a-keto acids.

Answer: D

° Watch Video Solution

22. Nucleotide found in the cells is

A. cAMP

B. AMP

C. ADP


https://dl.doubtnut.com/l/_iXbJVPbmOzp9
https://dl.doubtnut.com/l/_zwSHGiGCSoFd
https://dl.doubtnut.com/l/_AK5wcMwEYwQk

D. ATP.

Answer: D

° Watch Video Solution

23. Which one is nucleotide ?

A. Uridylic acid

B. Thymidine

C. Cytosine

D. Glutamic acid.

Answer: A

° Watch Video Solution

24.If an isolated strain of DNA is kept at 82-90° C, then


https://dl.doubtnut.com/l/_AK5wcMwEYwQk
https://dl.doubtnut.com/l/_boIosHiqSzz2
https://dl.doubtnut.com/l/_pcSB4vLUKQRq

A. The two strands uncoil and separate

B. Fragmentation occurs

C. Thymine is replaced by uracil

D. The structure is stabilised.

Answer: A

o Watch Video Solution

25.1n RNA, thymine is replaced by

A. Adenine

B. Guanine

C. Cytosine

D. Uracil.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pcSB4vLUKQRq
https://dl.doubtnut.com/l/_wfVb9heoJYiN

26. The common feature amongst nucleus, chloroplast and mitochondria

is

A. Lamellae

B. DNA

C. Cristae

D. All the above.

Answer: B

o Watch Video Solution

27.The basic unit of nucleic acid is

A. Pentose sugar

B. Nucleoid

C. Nucleoside


https://dl.doubtnut.com/l/_wfVb9heoJYiN
https://dl.doubtnut.com/l/_x3rP1X8i86D3
https://dl.doubtnut.com/l/_mts3G6NrNoa4

D. Nucleotide.

Answer: D

° Watch Video Solution

28. Which one is found only in RNA and not in DNA ?

A. Cytosine

B. Adenine

C. Uracil

D. Guanine.

Answer: C

o Watch Video Solution

29. Which is distributed more widely in a cell?


https://dl.doubtnut.com/l/_mts3G6NrNoa4
https://dl.doubtnut.com/l/_opSid8jNIU8H
https://dl.doubtnut.com/l/_D28NtlMAxGpK

A. DNA

B. RNA

C. Chloroplasts

D. Sphareosomes.

Answer: B

° Watch Video Solution

30. Starch is polymer of

A. Fructose

B. Glucose

C.Sucrose

D. Maltose.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_D28NtlMAxGpK
https://dl.doubtnut.com/l/_v3EkpsrcaOfB

31. Glucose is stored as glycogen in
(a) Pancreas
(b) Bone
(c) Kidney
(d) Liver
A. Pencreas
B. Bone

C.Kindney

D. Liver.

Answer: D

° Watch Video Solution

32. Glycogen is related to


https://dl.doubtnut.com/l/_v3EkpsrcaOfB
https://dl.doubtnut.com/l/_UNP8JKgRokeU
https://dl.doubtnut.com/l/_NA8qbIBAW9mW

A. Glucose

B. Starch

C.Ribose sugar

D. Lactose.

Answer: B

° Watch Video Solution

33.In DNA, adenine paris with

A. Guanine

B. Thymine

C. Cytosine

D. Uracil.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_NA8qbIBAW9mW
https://dl.doubtnut.com/l/_KGCDilJXCZWH

34. lodine test is used to detect

A. Carbohydrates

B. Nucleic acids

C. Lipids

D. Proteins.

Answer: A

o Watch Video Solution

35. Which of the following states the similarity between DNA and RNA, :

A. Polymers of nucleotides

B. Similar pyrimidines

C. Double strands


https://dl.doubtnut.com/l/_KGCDilJXCZWH
https://dl.doubtnut.com/l/_zSWWULgqCfJh
https://dl.doubtnut.com/l/_1N73sLEmjsqB

D. Sililar sugars.

Answer: A

° Watch Video Solution

36. During in vitro synthesis of DNA, a researcher used 2', 3'-dideoxy
cytidine triphosphate as raw nucelotide in place of 2' -deoxy cytidine.
What would be the consequnce?

A. Nirenberg

B. Watson and Crick

C. Khorana

D. Kornberg.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1N73sLEmjsqB
https://dl.doubtnut.com/l/_kYtGMtIKFG46
https://dl.doubtnut.com/l/_WfOpd46KNhW5

37.The helical structure of DNA was discovered by :

A. Kornberg

B. Nirenberg

C. Watson and Crick

D. Holley and nirenberg.

Answer: C

o Watch Video Solution

38. Cellulose is

A. Monosaccharide

B. Polysaccharide

C. Lipid

D. Disaccharide.


https://dl.doubtnut.com/l/_WfOpd46KNhW5
https://dl.doubtnut.com/l/_tuBl6FDHUbGn

Answer: B

° Watch Video Solution

39. Cellulose is

A. Hexosan polysaccharide

B. Pentosan polysaccharide

C. Heptopolysaccharide

D. Heteropolysaccharide.

Answer: A

° Watch Video Solution

40.The double strand helix strcutre of DNA was proposed by

A. Kornberg


https://dl.doubtnut.com/l/_tuBl6FDHUbGn
https://dl.doubtnut.com/l/_jxZqXZaq8oQG
https://dl.doubtnut.com/l/_3CeEfsPWqjZt

B. Nirenberg

C.Wastson and Crick

D. Wilkins and Franklin.

Answer: C

° Watch Video Solution

41. Name two scientists who were awarded Nobel Prize for deciphering

DNA structure.

A.RNA is single stranded

B. DNA is double stranded

C.DNA is genetic meterial

D. DNA guides mRNA synthesis.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3CeEfsPWqjZt
https://dl.doubtnut.com/l/_LtYL78sjRF4T

42. Draw a well labelled diagram of a DNA helix.

A. 200 A...

B.100 A...

C.20A..

D.50A...

Answer: C

o Watch Video Solution

43.Simple stronge protein that coagulates upon
heating but remains soluble in dilute salt solution
is correctly ecmaplified by

A. Keratin

B. Collagen


https://dl.doubtnut.com/l/_LtYL78sjRF4T
https://dl.doubtnut.com/l/_UNG18H5T8NI2
https://dl.doubtnut.com/l/_f1UDg4e52wrW

C. Haemoglobin

D. Glutelin/Globulin.

Answer: D

° Watch Video Solution

44.The RN A which takes part in the synthesis of proteins is:

A. DNA

B. Carbohydrates

C. Fat

D. Protein.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_f1UDg4e52wrW
https://dl.doubtnut.com/l/_RaP632atgBcX

45, Inulin occurs in the root of

A. Mango

B. Dahlia

C. Wheet

D. Sugarcane.

Answer: B

o Watch Video Solution

46. The bond present between two nucleotides is known as

A. Covalent bond

B. Hydrogen bond

C. Phospodiester bond

D. high energy phosphate bond.


https://dl.doubtnut.com/l/_qbXFJP860mCG
https://dl.doubtnut.com/l/_FqbsOYzkNsK4

Answer: C

° Watch Video Solution

47.DNA is composed of repeating units of

A. Ribonucleosides

B. Deoxyribonuclosides

C. Ribonucleotides

D. Deoxyribonucleotides.

Answer: D

° Watch Video Solution

48.The number of hydrogen bonds formed between adenine and thymine

and that formed between guanine and cytosine are respectively


https://dl.doubtnut.com/l/_FqbsOYzkNsK4
https://dl.doubtnut.com/l/_eQHrWMLZ5G2P
https://dl.doubtnut.com/l/_IU1SVmGFeArC

A23

B.3,2

c1,2

D.4,1

Answer: B

° Watch Video Solution

49.The two strands of DNA are held together by bond:

A. Nitrogen

B. Oxygen

C. Hydrogen

D. Carbon.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IU1SVmGFeArC
https://dl.doubtnut.com/l/_73omK7Ys0hlJ

50. Glycogen is a homopolymer made up of

A. Galactose
B. Glucose
C. Fructose

D. Sucrose.

Answer: B

° Watch Video Solution

51. DNA was discovered by

A. Altmann
B. Fleming

C. Miescher


https://dl.doubtnut.com/l/_73omK7Ys0hlJ
https://dl.doubtnut.com/l/_b1Z9l5N8xBTG
https://dl.doubtnut.com/l/_2yOxx9OuEHdC

D. Koch.

Answer: C

° Watch Video Solution

52.1n AGST of DNA hydrogen bonds and base pairigs occur between

A A-UC-G

B.A-CG-T

CAGC-T

D.A-T,C-G

Answer: D

° Watch Video Solution

53.DNA does not occur in


https://dl.doubtnut.com/l/_2yOxx9OuEHdC
https://dl.doubtnut.com/l/_etbGD58BI1YV
https://dl.doubtnut.com/l/_OIiKPEQcgXUk

A. Nucleus

B. Ribosomes

C. Mitochondria

D. Plastids.

Answer: B

o Watch Video Solution

54. Enzyme catalysis optical or geometrical rearrangement of atomic

groupings without altering molecular weight or number of atoms is

A. Ligase

B. Isomerase

C. Oxidoreductase

D. Hydrolase.

Answer: B



https://dl.doubtnut.com/l/_OIiKPEQcgXUk
https://dl.doubtnut.com/l/_i5oTuia1zoPK

| ° Watch Video Solution

55. Lactic dehydrogenase (LDH) that takes part in cataysis of pyruvate

— lactate is an example of

A.lsoenzyme

B. Zymogen

C. Coenzyme

D. Apoenzyme.

Answer: A

° Watch Video Solution

56. Enzyme funtional at pH-2 is

A. Trypsin

B. Pepsin


https://dl.doubtnut.com/l/_i5oTuia1zoPK
https://dl.doubtnut.com/l/_53brcyFXVkh1
https://dl.doubtnut.com/l/_RLxyRsnLfStI

C. Lipase

D. Ptyalin.

Answer: B

o Watch Video Solution

57. The enzyme purified and crystallised for the first time was

A. Urease

B. Insulin

C. Diastase

D. Zymase.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RLxyRsnLfStI
https://dl.doubtnut.com/l/_VPwVvn8TOXe3

58. Enzymes are different from catalysts in

A. Being peoteinaceous

B. Not used up in reaction

C. Funxtional at high temperature

D. Having high rate of diffusion

Answer: A

o Watch Video Solution

59. Assertion : The protein part of the enzyme is called apoenzyme and

non-protein part of the enzyme is called co-factor.

Reason : Zinc is a co-factor for the proteoilytic enzyme carboxypeptidase.

A. Prosthetic group

B. Apoenzyme

C. Holoenzyme


https://dl.doubtnut.com/l/_y6Yuj4sYkfG0
https://dl.doubtnut.com/l/_nxOsPxTXSNgl

D. Zymogen.

Answer: B

° Watch Video Solution

60. Enzymes, vitamins and hormones are common in

A. Being proteinaceous

B. Being synthesised in the body of organisms

C. Enhancing oxidative metabolism

D. Regulating metabolism.

Answer: D

o Watch Video Solution

61. Enzymes are basically or All enzymes contain


https://dl.doubtnut.com/l/_nxOsPxTXSNgl
https://dl.doubtnut.com/l/_pohcfurDPgQo
https://dl.doubtnut.com/l/_wxJwofGCTCMp

A. Nucleic acids

B. Proteins

C. Fats

D. Vitamins.

Answer: B

° Watch Video Solution

62. Coenzymes FMN and FAD are derived from vitamin

A.C

B. B

C.B

D. B,.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wxJwofGCTCMp
https://dl.doubtnut.com/l/_eZ2cAkB48xBY

63. Template theory of enzyme action is supported by

A. Enzymes speed up reaction

B. Enzymes occur in living beings and speed up certain reactions

C. Enzymes determine the direction of reaction

D. Compounds similar to substrate inhibit enzyme activity.

Answer: D

° Watch Video Solution

64. Combination of apoenzyme and coenzyme produces

A. Prosthetic group

B. Holoenzyme

C. Enzyme-Substrate complex


https://dl.doubtnut.com/l/_eZ2cAkB48xBY
https://dl.doubtnut.com/l/_SRHVgXeNGHTH
https://dl.doubtnut.com/l/_Fj9TVAfWPfse

D. Enzyme-product complex.

Answer: B

o Watch Video Solution

65. Blocking enzyme action through blocking its active sites is
(a) Allosteric inhibition
(b) Feedback inhibition
(c) Competitive inhibition
(d) Non-competitive inhibition
A. Allosteric inhibition
B. Feedback inhibition

C. Competitive inhibition

D. Non-competitive inhibition.

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_Fj9TVAfWPfse
https://dl.doubtnut.com/l/_HmXhVL8cO0BY

66. Enzymes functional in cells are called

A. Endoenzymes

B. Exoenzymes

C. Apoenzymes

D. Isoenzymes.

Answer: A

o Watch Video Solution

67. Enzymes having slightly different molecular structure but performing

similar activity are

A. Homoenzymes

B. Isoenzymes


https://dl.doubtnut.com/l/_HmXhVL8cO0BY
https://dl.doubtnut.com/l/_PfuOnerzjq4z
https://dl.doubtnut.com/l/_9GDEWYa0CjCk

C. Apoenzymes

D. Coenzymes.

Answer: B

° Watch Video Solution

68. Which is not trait of enzymes ?

A. Proteinaceous nature

B. Specific in nature

C. Speed up rate of biochemical reaction

D. Used up in reaction.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9GDEWYa0CjCk
https://dl.doubtnut.com/l/_T9sm8R2ABLBA

69. ELISA is used to

A. Separate viral RNA

B. Purify proteins

C.lIsolate DNA sequences

D. Identify spexific proteins.

Answer: D

o Watch Video Solution

70.1In a cell , digestive enzymes mostly occur in

A. Ribosomes

B. Lysosomes

C. Mitochondria

D. Plastids.


https://dl.doubtnut.com/l/_Rc8gNAqAFBO6
https://dl.doubtnut.com/l/_4kpirkC932L5

Answer: B

° Watch Video Solution

71. Chemical reaction require energy for

A. Oxidation
B. Entropy
C. Activation

D. Enthalpy.

Answer: C

° Watch Video Solution

72. A plant proteinase is
(a) papain

(b) Trypsin


https://dl.doubtnut.com/l/_4kpirkC932L5
https://dl.doubtnut.com/l/_dz1sGBEBvbOJ
https://dl.doubtnut.com/l/_oSkW2XzCMjoH

(c) Pepsin

(d) Urease

A. papain

B. Trypsin

C. Pepsin

D. Urease.

Answer: A

o Watch Video Solution

73. Specificity of protein in enzyme action depends upon

A. (a) Active sites

B. (b) Linear sequence of amino acids

C.(c) K,,, constant

D. (d) Turn over number


https://dl.doubtnut.com/l/_oSkW2XzCMjoH
https://dl.doubtnut.com/l/_7svTocFxua2C

Answer: B

° Watch Video Solution

74. One of the following is without coenzyme activity

A. Vitamin E

B. Thiamine

C.Biotin

D. Riboflavin.

Answer: A

° Watch Video Solution

75. Enzyme complex involved in alcholic frementation is

A. Lipase


https://dl.doubtnut.com/l/_7svTocFxua2C
https://dl.doubtnut.com/l/_vuHQQKyZhkBO
https://dl.doubtnut.com/l/_Ua23P6I64V5e

B. Invertase

C.Zymase

D. Amylase.

Answer: C

° Watch Video Solution

76. Which of the followig has coenzyme activity ?

A. Nicotinamide

B. Purine

C. Pyrimidine

D.Both B and C.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Ua23P6I64V5e
https://dl.doubtnut.com/l/_S5qRhThX3BrP
https://dl.doubtnut.com/l/_lfiVdIP4c1fa

77. Which is not correct ?

A. All enzymes are biocatalysts

B. All proteins are enzymes

C. All enzymes are proteins

D. All enzymes are thermolabile.

Answer: B

o Watch Video Solution

78. Malonate is inhibited by succinate dehydrogenase. This is a type of

A. Malonate

B. Pyruvate

C. Glycolate

D. Phosphoglycerate.


https://dl.doubtnut.com/l/_lfiVdIP4c1fa
https://dl.doubtnut.com/l/_qelVpXjAtzQv

Answer: A

° Watch Video Solution

79. Essential amino acid is:

A. Leucine

B. Lysine

C. Methionine

D. Alanine.

Answer: D

° Watch Video Solution

80. Semi-indispensable amino acids are

A. Arginine


https://dl.doubtnut.com/l/_qelVpXjAtzQv
https://dl.doubtnut.com/l/_Uqe8onwSOqwV
https://dl.doubtnut.com/l/_HJL4TE7Aly2z

B. Valine

C. Lysine

D. Leucine.

Answer: A

o Watch Video Solution

81. Which of the two groups of following formula involved in peptide

linkage between different amino acids ?
u2

|
H,N' — C — COOH*
|
R’

A.2 and 3
B.1and 4
C.1and 3

D.2 and 4.


https://dl.doubtnut.com/l/_HJL4TE7Aly2z
https://dl.doubtnut.com/l/_KlxwB6EAOarx

Answer: C

° Watch Video Solution

82.Single letter symbol F is used for the amino acid

A. Phenylalanine (Phe)

B. Proline (Pro)

C. Tryptophan (Try)

D. Methionine (Met).

Answer: A

° Watch Video Solution

83.Ariboside is :

A. Base + Phosphate


https://dl.doubtnut.com/l/_KlxwB6EAOarx
https://dl.doubtnut.com/l/_mHrYdOr86X9F
https://dl.doubtnut.com/l/_77ctjBlAsyg8

B. Ribose + Phosphate

C.Ribose + Phosphate + Base

D. Ribose + Base.

Answer: D

° Watch Video Solution

84. A nucleotide is formed of

A. Sugar + phosphate
B. Base + Sugar + Phosphate
C. Base + Sugar -OH

D. (Base + sugar + Phosphate),..

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_77ctjBlAsyg8
https://dl.doubtnut.com/l/_zhnLQlOnqZwf
https://dl.doubtnut.com/l/_DGDHkZfdkgiB

85. A nucleoside is formed of

A. Pentose sugar, phosphate and nitrogen base

B. Phosphate and nitrogen base

C. Pentose sugar and phosphate

D. Pentose sugar and nitrogen base.

Answer: D

o Watch Video Solution

86. The four elements that make up 99% of all elements found in a living
system are

(a) CHOS

(b) CHOP

(c) CHON

(d) CNOP


https://dl.doubtnut.com/l/_DGDHkZfdkgiB
https://dl.doubtnut.com/l/_0GtezdTVePU0

A. CHOS

B. CHOP

C.CHON

D. CNOP.

Answer: C

o Watch Video Solution

87.The abundant elements in living beings is

A. Oxygen

B. Nitrogen

C. Carbonic acid and bicarbonate

D. Hydrogen.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0GtezdTVePU0
https://dl.doubtnut.com/l/_qymvT4a7xUZy

88. Decreasing order concentration of minerals inside cell is

A.Ca-K-Na

B.K-Ca-Na

C.k-Na-Ca

D.Na-K-Ca.

Answer: C

o Watch Video Solution

89. Most abundant component of cell is

A. Protein

B. Water

C. Cellulose


https://dl.doubtnut.com/l/_qymvT4a7xUZy
https://dl.doubtnut.com/l/_klNILCw8cjXB
https://dl.doubtnut.com/l/_tsHyAXFvG1bb

D. Lipid.

Answer: B

° Watch Video Solution

90. Glucose is

A. Pyranose pentose sugar

B. Furanose pentose sugar

C. Ketose hexose sugar.

D. Aldose hexose sugar.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_tsHyAXFvG1bb
https://dl.doubtnut.com/l/_AcMunbYHyQAq

91. Which is not a lipid ?
(a) Wax/lecithin
(b) Sterol/cholesterol
(c) Glycerol/maltose
(d) Lecithin/Ghee

A. Wax/lecithin

B. Streol/cholesterol

C. Gycerol/maltose

D. Lecithin/Ghee.

Answer: C

o Watch Video Solution

92. A sulphur containing amino acid is

A. Methionine


https://dl.doubtnut.com/l/_Gzf2dooU1I5O
https://dl.doubtnut.com/l/_7L8Srkz3o2DY

B. Cystine

C. Cysteine

D. All the above.

Answer: D

° Watch Video Solution

93. An acidic amino acid is

A. Lysine

B. Glutamate

C. Aspartate

D.Both B and C.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7L8Srkz3o2DY
https://dl.doubtnut.com/l/_1Q6d8WNFUyci
https://dl.doubtnut.com/l/_RajFRPRjArU3

94. A nucleoside differs from a nucleotide . It lacks the

A. Sugar

B. Nitrogen base

C. Phosphate

D. Phosphate and sugar.

Answer: C

o Watch Video Solution

95. maximum iron occurs in

A.RBC

B. WBC

C.Bone cells

D. Protein.


https://dl.doubtnut.com/l/_RajFRPRjArU3
https://dl.doubtnut.com/l/_MbqY50ndUW4r

Answer: A

° Watch Video Solution

96. Which metal ion is a constituent of chloro- phyll

A Mg

B. Mn

C.Zn

D. Fe.

Answer: A

° Watch Video Solution

97. Blood clotting requires

A. Na™


https://dl.doubtnut.com/l/_MbqY50ndUW4r
https://dl.doubtnut.com/l/_keD5xvEjJu3y
https://dl.doubtnut.com/l/_HqrrKgvZhvp2

B.KT
Cc.Ca’t

D. Mg?+

Answer: C

° Watch Video Solution

98. Calcium is required for

A. muscle contraction

B. Blood clotting

C. Bone formation

D. All the above.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HqrrKgvZhvp2
https://dl.doubtnut.com/l/_pYpgHihuET6M
https://dl.doubtnut.com/l/_MopD0gCGkoqi

99. Principle organic constituent of a living being in order of relative

abundance is

A. Water

B. Protein

C. Lipid

D. DNA.

Answer: B

o Watch Video Solution

100. The most diverse chemicals in a living organism are

A. Polysaccharides

B. Lipids

C. Proteins

D. Sugars.


https://dl.doubtnut.com/l/_MopD0gCGkoqi
https://dl.doubtnut.com/l/_Z0XzIIZXk8Bc

Answer: C

° Watch Video Solution

101. Nitrogen bases of DNA are

A. ATUC

B. UTGC

C.ATGC

D. AUGC.

Answer: C

° Watch Video Solution

102. Nitrogen is an important constituent of

A. Lipids


https://dl.doubtnut.com/l/_Z0XzIIZXk8Bc
https://dl.doubtnut.com/l/_aMzhcfv0YuEe
https://dl.doubtnut.com/l/_0teCmFo40iIA

B. Carbohydrates

C. Polyphosphates

D. Proteins.

Answer: D

° Watch Video Solution

103. An enzyme/protein is formed by chemically bonding together

A. Lipases

B. Amino acids

C. Carbohydrates

D.CO,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_0teCmFo40iIA
https://dl.doubtnut.com/l/_WZnfSoPQj2Cz
https://dl.doubtnut.com/l/_mKUQoVAaOrsJ

104. Which one contains four pyrimidine bases?

A. GATCAATGC

B. GCUAGACAA

C. UAGCGGUAA

D. TGCCTAACG.

Answer: A

° Watch Video Solution

105. Cellulose occurs in

A. Tunicates

B. Cell membrane

C. Cell wall

D.Both Aand C


https://dl.doubtnut.com/l/_mKUQoVAaOrsJ
https://dl.doubtnut.com/l/_cWzx4wNKwRaC

Answer: D

° Watch Video Solution

106. Nucleotides/nucleic acids occur in
(a) Ribosomes
(b) Mitochondria
(c) DNA, RNA, chloroplasts and nucleus
(d) All the above

A. Ribosomes

B. Mitochondria

C. DNARNA, chloroplasts and nucleus

D. All the above.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cWzx4wNKwRaC
https://dl.doubtnut.com/l/_u7j2rSeNT8a3
https://dl.doubtnut.com/l/_LIln1R5Pahey

107. Functional proteins is
(a) Enzyme
(b) Collagen
(c) ossein
(d) Vitamin
A. Enzyme
B. Collagen

C. ossein

D. Vitamin.

Answer: A

o Watch Video Solution

108. Insulin (bovine) has 51 amino acids in A and B polypeptides. The
polypeptide A possesses amino acids

(a) 31


https://dl.doubtnut.com/l/_LIln1R5Pahey
https://dl.doubtnut.com/l/_0C3ATOJDNpnt

(b) 21

(c) 20

(d) 30

A. 31

B. 21

C.20

D.30

Answer: B

° Watch Video Solution

109. Variability found in DNA is due to

A.Sugars

B. Nitrogen bases

C. Phophates


https://dl.doubtnut.com/l/_0C3ATOJDNpnt
https://dl.doubtnut.com/l/_OvGQ9v6XIQd4

D. Glycosidic bonds.

Answer: B

° Watch Video Solution

110. What is unique to DNA alone

A. Denaturation and renaturation

B. Polymer complex

C. Replication

D. Resistance to temperature changes.

Answer: C

o Watch Video Solution

111. DNA occurs in


https://dl.doubtnut.com/l/_OvGQ9v6XIQd4
https://dl.doubtnut.com/l/_wUzEVjDh7YPa
https://dl.doubtnut.com/l/_Q2sU96ia1xbw

A. Nucleus

B. Choroplast

C. Mitochondrion

D. All the above.

Answer: D

o Watch Video Solution

112. Double hydrogen bond occurs in DNA between

A. Adenine and thymine

B. uracil and thymine

C. Adenine and guanine

D. Thymine and cytosine.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Q2sU96ia1xbw
https://dl.doubtnut.com/l/_qULmfQVnYB9D

113. Casein contained in milk is

A. Fat

B. Carbohydrates

C. Protein

D. Bacterium.

Answer: C

° Watch Video Solution

114. Plant cell wall mainly cansists of

A. Cellulose

B. Protein

C. Starch


https://dl.doubtnut.com/l/_qULmfQVnYB9D
https://dl.doubtnut.com/l/_6SLJmhMpILen
https://dl.doubtnut.com/l/_qwCuWQ402Cg2

D. None of the above.

Answer: A

° Watch Video Solution

115. Content of nucleic acids in protoplasm is

A.0.35

B.0.29

C.01

D.0.02

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qwCuWQ402Cg2
https://dl.doubtnut.com/l/_S9euMtenXWWM

116. Which one is absent in protein ?
(a) C
(b) N
(P
(d)s
A.C
B.N

C.P

D.S.

Answer: C

o Watch Video Solution

117. One of the following is not a carbohydrate

A. Maltose


https://dl.doubtnut.com/l/_NSU696XKAmJT
https://dl.doubtnut.com/l/_RqQBOJ4HmwhJ

B. Pepsin

C. Cellulose

D. Ascorbic acid.

Answer: B

° Watch Video Solution

118. Which one of the following is not protein?

A. Myosin

B. Actin

C. Albumin

D. Haematin.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RqQBOJ4HmwhJ
https://dl.doubtnut.com/l/_P1pY6Xl5Gwvi
https://dl.doubtnut.com/l/_neQS2B7XY6ne

119. Oval shaped and eccentric starch particles are found in

A. potato

B. Wheat

C.Rice

D. Maize.

Answer: A

o Watch Video Solution

120. Maximum amount of cellulose occurs in

A. Cotton

B. Coir

C. Hemp

D. Flax.


https://dl.doubtnut.com/l/_neQS2B7XY6ne
https://dl.doubtnut.com/l/_ImXyQmCyWuJo

Answer: A

° Watch Video Solution

121. An enzyme brings about

A. Decrease in reaction time

B. Increase in reaction time

C.Increase in activation energy

D. Reduction in activation energy.

Answer: D

° Watch Video Solution

122. Enzymes as they exist inside the cell are

A. Solid


https://dl.doubtnut.com/l/_ImXyQmCyWuJo
https://dl.doubtnut.com/l/_r8lRpLnKuw7b
https://dl.doubtnut.com/l/_1w2CpFwNU607

B. Crystals

C. Solution

D. Colloid.

Answer: D

° Watch Video Solution

123. Feedback inhibition of an enzyme is influenced by

A. Enzyme

B. External factors

C. End product

D. Substrate.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1w2CpFwNU607
https://dl.doubtnut.com/l/_wIKF2yZPBMHg
https://dl.doubtnut.com/l/_cjuQyU47bUt6

124. Hydrolysis of starch occurs with the help of

A. Sucrase

B. Amylase

C. Peptidase

D. Lipase.

Answer: B

o Watch Video Solution

125. A coenzyme is

A.Organic non-proteinaceous group that is essential for enzyme

activity

B. Organic or inorganic group that is essential for enzyme activity

C. Same enzyme found in different organs or tissues


https://dl.doubtnut.com/l/_cjuQyU47bUt6
https://dl.doubtnut.com/l/_V7O0hCeDSCOx

D. One that shares function of another enzyme.

Answer: A

° Watch Video Solution

126. Enzymes are polymers of

A. Fatty acids

B. Amino acids

C. Hexose sugar

D. Inorganic phosphate.

Answer: B

o Watch Video Solution

127. Coenzyme is


https://dl.doubtnut.com/l/_V7O0hCeDSCOx
https://dl.doubtnut.com/l/_h8sjgluh5YF3
https://dl.doubtnut.com/l/_yt6FnG70zMhY

A. Often a vitamin

B. Always an inorganic compound

C. Always a protein

D. Often a metal.

Answer: A

o Watch Video Solution

128. Many enzymes are secreted in inactive form to protect

A. Cell proteins

B. Mitochondria

C. Cell membrane

D. Cell DNA.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yt6FnG70zMhY
https://dl.doubtnut.com/l/_9dbHwAmxwOrV

129. Which one value is required for enzyme action ?

A Low K,

B. High K,

C.Low K;

Answer: C

o Watch Video Solution

130. Ribozyme is

A. RNA with enzyme activity

B. RNA without sugar

C. RNA without phosphate


https://dl.doubtnut.com/l/_9dbHwAmxwOrV
https://dl.doubtnut.com/l/_WMP7wK4LgAVw
https://dl.doubtnut.com/l/_BOLyj3jqlRd5

D. RNA with extra phosphate.

Answer: A

° Watch Video Solution

131. Which is true about enzymes ?

A. All enzymes are not proteins

B. All enzymes are vitamins

C. All enzymes are proteins

D. All proteins are enzymes.

Answer: A

o Watch Video Solution

132. Which is not true of enzymes ?


https://dl.doubtnut.com/l/_BOLyj3jqlRd5
https://dl.doubtnut.com/l/_PRU7eG7PN0zF
https://dl.doubtnut.com/l/_fdmTNvNJzung

A. They act at specific pH

B. They are made of proteins

C. Enzymes are most active at maximum temperature

D. They are most active at optimum temperature.

Answer: C

o Watch Video Solution

133. Which is not true about inorganic catalysts and enzymes?

A. They are specific

B. Inorganic catalysts require specific factors not needed by enzymes

C. They are sensitive pH

D. They speed up the rate of chemical reaction.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fdmTNvNJzung
https://dl.doubtnut.com/l/_YWvzmBSUknqP

134. Key and lock hypothesis of enzyme action was given by

A. Fischer

B. Koshland

C. Buchner

D. Kuhene.

Answer: A

o Watch Video Solution

135. Temperature range for maximum functioning of enzymes is

A.40° — 65°C

B.30° —45°C

C.20° —30°C


https://dl.doubtnut.com/l/_YWvzmBSUknqP
https://dl.doubtnut.com/l/_1UU35eJEasud
https://dl.doubtnut.com/l/_migiE8PhjHPZ

D.15° —25°C

Answer: B

o Watch Video Solution

136. An example of feedback inhibition is

A. Allosteric inhibition of hexokinase by glucoes 6-phosphate

B. Cyanide action on cyanide action on cytochrome

C. Sulpha drug on folic acid synthesis in bacteria

D. Reaction between succinic dehydrofenase and succinic acid.

Answer: A

o Watch Video Solution

137.The ratio of the enzyme to substrate molecule can be as high as


https://dl.doubtnut.com/l/_migiE8PhjHPZ
https://dl.doubtnut.com/l/_H0LNGLy2qmHZ
https://dl.doubtnut.com/l/_3PzIslAHSnam

A.1:100,000

B.1:50,000

C.1:10,000

D. 1:1,000.

Answer: A

o Watch Video Solution

138. Enzyme hexokinase is inhibited by excess glucose 6-P. It is

A. Competitive inhibiton

B. Feed-back allosteric inhibition

C. Positive feed-back.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3PzIslAHSnam
https://dl.doubtnut.com/l/_WiUlJupYDy9t

139. Enzymes (Biocatalysts) were discovered accidently in yeast cell extract

by a biochemist for which he was awarded Novel Prize was

A. Summer

B. Kuhne

C. Buchner

D. Pasteur.

Answer: C

o Watch Video Solution

140. Vitamin B, is component of coenzyme

A. Pyridoxal phosphate

B. TPP

C.NAD


https://dl.doubtnut.com/l/_WiUlJupYDy9t
https://dl.doubtnut.com/l/_h0D6AJCKW3XJ
https://dl.doubtnut.com/l/_OPdcFVgAgpZa

D. FMN/FAD.

Answer: D

° Watch Video Solution

141. K, value of enzyme is substrate concentration at

A1/4V
B. 2V
C.1/2Vinax

D. 4Vinax

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OPdcFVgAgpZa
https://dl.doubtnut.com/l/_GUEG9N0xNej2

142. Part of enzyme which combines with non-protein part to form

fuctional enzymes is

A. Apoenzyme

B. Coenzymes

C. Prosthetic group

D. None of the above.

Answer: A

o Watch Video Solution

143. Who got Nobel Prize in 1978 for working on enzymes ?

A. Koshland

B. Arber and Nathans

C. Nass and Nass

D. H.G. Khorana.


https://dl.doubtnut.com/l/_UJFlKoeWLqc0
https://dl.doubtnut.com/l/_HSok27JMA8lA

Answer: B

° Watch Video Solution

144. No cell can live without

A. Chloroplasts

B. Proteins

C. Enzymes

D. Phytochrome.

Answer: C

° Watch Video Solution

145. Enzyme amylase belongs to

A. Transferase


https://dl.doubtnut.com/l/_HSok27JMA8lA
https://dl.doubtnut.com/l/_qNgqZcS3ZtPn
https://dl.doubtnut.com/l/_8tpNwwri3Sgl

B. Hydrolases

C. isomerases

D. Oxidoreductases.

Answer: B

° Watch Video Solution

146. Hexokinase (Glucose + ATP — Glucose 6-P +ADP) belongs to the

category

A. Transferase

B. Lysases

C. Oxidoreductases

D. Transaminase.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8tpNwwri3Sgl
https://dl.doubtnut.com/l/_5craUiQQLMvr

147. Which enzyme is concerned with transfer of electrons?

A. Desmolase

B. Hydrolase

C. Dehydrogenase

D. Transaminase.

Answer: C

o Watch Video Solution

148. Cholera petients are provided with transfer of electrons ?

A.NaCl is component of blood, maintains RBCs and helps dissolve
proteins
B. Na™ is required for water transport across plasma membrane

C. Cl-is essential component of blood plasma


https://dl.doubtnut.com/l/_5craUiQQLMvr
https://dl.doubtnut.com/l/_DWTeuHJJwwZO
https://dl.doubtnut.com/l/_lOkTJDiYqfUs

D. Cl- helps form HCl in stomach.

Answer: B

° Watch Video Solution

149. On hydrolysis a nucleoside would not yield

A. Purine

B. Pyrimidine

C. Pentose sugar

D. Phosphoric acid.

Answer: D

o Watch Video Solution

150. ~ P in ATP represents


https://dl.doubtnut.com/l/_lOkTJDiYqfUs
https://dl.doubtnut.com/l/_W5ZXFOp6d1Dx
https://dl.doubtnut.com/l/_9gMfIp8zllVK

A. Two bonds with high energy

B. Two moles of phosphorus

C. Three atoms of high energy phosphate

D. None of the above.

Answer: A

o Watch Video Solution

151. Most common monosaccharides found in nucleus are

A. Trioses

B. Tetroses

C. Pentoses

D. Hexoses.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9gMfIp8zllVK
https://dl.doubtnut.com/l/_RSER4IKPvjGe

152. Amino acids synthesised in our body are

A. Non-essential

B. Essential

C. Non-proteinaceous

D. Deaminated.

Answer: B

o Watch Video Solution

153. Which one is made of a single ring of atoms ?

A. Guanine

B. Adenine

C. Thymine


https://dl.doubtnut.com/l/_RSER4IKPvjGe
https://dl.doubtnut.com/l/_nzN0Ky1vrZFc
https://dl.doubtnut.com/l/_6kjXPKkSvtkf

D. Glycine.

Answer: C

° Watch Video Solution

154. ATP = ADP ~ P hypothesis was givan by Lipman in

A. 1940

B. 1950

C. 1960

D. 1970

Answer: A

° Watch Video Solution

155. Lecithin is a


https://dl.doubtnut.com/l/_6kjXPKkSvtkf
https://dl.doubtnut.com/l/_JB9auGzpamq5
https://dl.doubtnut.com/l/_2UDVsK7iOYNQ

A. Steroid

B. Glycolipid

C. Carbohydrates

D. Phospholipid.

Answer: D

o Watch Video Solution

156. Which amino acid has no asymmetic carbon atom ?

A. Histidine

B. Threonine

C. Phenylalanine

D. Glycine.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_2UDVsK7iOYNQ
https://dl.doubtnut.com/l/_OkOmquXnePsX

157. A unit composed of a sugar and base linked by g glycosidic bond is

known as a

A. Purine

B. Glycoside

C. Nucleoside

D. Nucleotide.

Answer: C

o Watch Video Solution

158. In water, the angle between the atoms of Hydrogen and one atom of

Oxygen is

A.180°

B.104.5°


https://dl.doubtnut.com/l/_OkOmquXnePsX
https://dl.doubtnut.com/l/_l54IDEjF2V8I
https://dl.doubtnut.com/l/_vOKHhL2ylx7K

C.106.5°

D. 154.8°

Answer: B

o Watch Video Solution

159. Lactose is composed of

A. Glucose + Fructose

B. Glucose + Glucose

C. Glucose + Galactose

D. Fructose + Fructose.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vOKHhL2ylx7K
https://dl.doubtnut.com/l/_Q2jGxE0x5v3a

160. Nitrogen is a component of

A. Proteins

B. Carbohydrates

C. Lipid

D. Polyphosphate.

Answer: A

° Watch Video Solution

161. Protoplasm is formed of

A. O,P, minerals

B.H,C, Iron

C.O,N, Iron

D. O,C,H,N.


https://dl.doubtnut.com/l/_DOTgu2L5kpfG
https://dl.doubtnut.com/l/_tvSDqCqqMEdc

Answer: D

° Watch Video Solution

162. Carbohydrate used in translocation in angiosperms is

A. Ribose

B. Glucose

C. Sucrose

D. Fructose.

Answer: C

° Watch Video Solution

163. Which os the following pair is monosaccharide ?

A. Glucose and Fructose


https://dl.doubtnut.com/l/_tvSDqCqqMEdc
https://dl.doubtnut.com/l/_8CwxYRL9VjEJ
https://dl.doubtnut.com/l/_ymFR94iRSnkc

B. Glucose and Sucrose

C. Ribose and maltose

D. Ribose and Surcose.

Answer: A

° Watch Video Solution

164. Which one consists of essential amino acids ?

A. Trytophan and Glutamic acid

B. Lysine and Phenylalanine

C. Leucine and Glysine

D. Valine and Histidine.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ymFR94iRSnkc
https://dl.doubtnut.com/l/_VNG26wnGGmP4
https://dl.doubtnut.com/l/_RCMumCHQEHfw

165. Which one of the following amino acids is an essential part of human

diet?

A. Oleic acid

B. Linoleic acid

C. Stearic acid

D. palmitic acid.

Answer: B

o Watch Video Solution

166. Which is not nucleotide component ?

A. Thymine

B. Guanine

C. Lysine

D. Adenine.


https://dl.doubtnut.com/l/_RCMumCHQEHfw
https://dl.doubtnut.com/l/_DIZe4LYqIRSE

Answer: C

° Watch Video Solution

167. Nickel is component of

A. PEP carboxylase

B. Rubisco

C. Urease

D. Nitrate reductase.

Answer: C

° Watch Video Solution

168. Energy currency/coin of cell is

A.ATP


https://dl.doubtnut.com/l/_DIZe4LYqIRSE
https://dl.doubtnut.com/l/_jdECxiuqy8y5
https://dl.doubtnut.com/l/_ozVci9Mj72TW

B. NAD

C. ADP

D. GDP.

Answer: A

° Watch Video Solution

169. Content of unsaturated fatty acids linolenic acid is highest in

A. Sunflower oil

B. Cotton seed oil

C. Groundnut oil

D. Coconut oil.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ozVci9Mj72TW
https://dl.doubtnut.com/l/_DwRkejIDEuNv
https://dl.doubtnut.com/l/_MKaCYR7NAMQx

170. Q. Arachidonic acids is

A. a) Non-essential fatty acid

B. b) Saturated fatty acid

C. c) Monousaturated fatty acid

D. d) Polyunsaturated fatty acid.

Answer: D

° Watch Video Solution

171. Number of essential amino acids in human is

A 14

B.10

C.9

D.6


https://dl.doubtnut.com/l/_MKaCYR7NAMQx
https://dl.doubtnut.com/l/_ux9jKXcuqFXU

Answer: C

° Watch Video Solution

172.In which of the following all are poly-saccharides ?

A. Glycogen, sucrose and maltose

B. Sucrose, glucose and fructose

C. Maltose, lactose and fructose

D. Glycogen, cellulose and starch.

Answer: D

° Watch Video Solution

173. Which one yields protein on hydrolysis ?

A. Fatty acid


https://dl.doubtnut.com/l/_ux9jKXcuqFXU
https://dl.doubtnut.com/l/_RbkFbO4sbl8y
https://dl.doubtnut.com/l/_4JhUayTQWDo2

B. Nucleic acid

C. Amino acid

D. None of the above.

Answer: D

° Watch Video Solution

174. Which of the following is polymerised to form proteins?

A. Amino acids

B. Muramic acid

C. Monosaccharide

D. All the above.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_4JhUayTQWDo2
https://dl.doubtnut.com/l/_jzFMrv8hCVQh
https://dl.doubtnut.com/l/_5JoUp3KvzEK6

175. Which one of the following constitutes natural silk ?

A. Phosphorus

B. Nitrogen

C. Potassium

D. Magnesium.

Answer: B

o Watch Video Solution

176. Which of the following is a fibrous joint ?

A. Collagen

B. Globulin

C. Haemoglobin

D. Hordein.


https://dl.doubtnut.com/l/_5JoUp3KvzEK6
https://dl.doubtnut.com/l/_bu4wBaaB3qBu

Answer: A

° Watch Video Solution

177. Ester linkages occur in

A. Nucleic acids

B. Lipids

C. Carbohydrates

D. Proteins.

Answer: B

° Watch Video Solution

178. Maximum amount of RNA is found in

A. Cytoplasm


https://dl.doubtnut.com/l/_bu4wBaaB3qBu
https://dl.doubtnut.com/l/_VCXYCTGPTxw8
https://dl.doubtnut.com/l/_5kofIBgGxTtu

B. Nucleous

C. Ribosomes

D. Chlorophasts.

Answer: C

° Watch Video Solution

179. Polymer of a-D glucose is

A. Glycogen

B. Cellulose

C.Inulin

D. Callose.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5kofIBgGxTtu
https://dl.doubtnut.com/l/_SDZ08DtJqQlg
https://dl.doubtnut.com/l/_3oFTcJea2Gda

180. Choose the correct statement with respect hereditary material

A.DNA is hereditary material

B. RNA is hereditary material

C.DNA is hereditary material but where it is absent RNA can function

as hereditary material

D. Both DNA and RNA are hereditary materials.

Answer: C

° Watch Video Solution

181. Joining of repeating units to form a macromoleule is called

A. Polymerisation

B. Aggregation

C. Polymorphism


https://dl.doubtnut.com/l/_3oFTcJea2Gda
https://dl.doubtnut.com/l/_mDgsx4GsmxU2

D. Condensation.

Answer: A

o Watch Video Solution

182. Cellulose is made of

A.Unbranched chain of glucose molecules linked by a-1,6 glycosidic

bonds

B. Unbranched chain of glucose molecules linked by (-1,4 glycosidic

bonds

C.Branched chain of glucose molecules having a-1,6glycosidic bonds

at the site of branching

D. Branched chain of glucose molecules with a-1,6 glycosidic bonds in

the straight chain and (-1, 4 linked bonds at the site of branching .

Answer: B


https://dl.doubtnut.com/l/_mDgsx4GsmxU2
https://dl.doubtnut.com/l/_qhB8FqskOjkD

° Watch Video Solution

183. Enormous diversity of protein molecules is due to

A. Sequence of amino acids

B. R- groups of amino acids

C. Amino groups of amino acids

D. Peptide bonds.

Answer: A

o Watch Video Solution

184. DNA differs from RNA in having

A. Cytosine but no guanine

B. Thymine but no uracil

C. Uracil but no thymine


https://dl.doubtnut.com/l/_qhB8FqskOjkD
https://dl.doubtnut.com/l/_rPXBsHHrCJRH
https://dl.doubtnut.com/l/_U7MggRyXAEKL

D. Thymine but no cytosine.

Answer: B

° Watch Video Solution

185. Which one is correct base pairing for DNA molecule ?

A. Cytosine-Uracil

B. Thymine - Guanine

C. Adenine - Thymine

D. Thymine - Uracil.

Answer: C

o Watch Video Solution

186. RNAconteins


https://dl.doubtnut.com/l/_U7MggRyXAEKL
https://dl.doubtnut.com/l/_thB9HhfuKHMY
https://dl.doubtnut.com/l/_alc8h54rJRQ1

A. Hexose sugar

B. Dextrose sugar

C.Ribose sugar

D. Deoxyribose sugar.

Answer: C

o Watch Video Solution

187. Which of the following is a purine ?

A. Cytosine

B. Guanine

C. Thymine

D. Uracil.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_alc8h54rJRQ1
https://dl.doubtnut.com/l/_GnjaioLNmyaK

188. The stored food material found in muscles is

A. Protein

B. Glycogen

C. Lipid

D. Phosphogen.

Answer: B

o Watch Video Solution

189. Nucleotide constituents/nitrogen bases of RNA are

A. AGCU

B. TCXU

C. AGCT


https://dl.doubtnut.com/l/_GnjaioLNmyaK
https://dl.doubtnut.com/l/_WeK7Cqmv2DO9
https://dl.doubtnut.com/l/_gzFlytSDsXG7

D. CTAU.

Answer: A

° Watch Video Solution

190. Base pairs present in one helix of DNA in a B DNA are

A 12

B. 1

C.10

D.9

Answer: C

° Watch Video Solution

191. Excess of ATP inhibits which enzyme


https://dl.doubtnut.com/l/_gzFlytSDsXG7
https://dl.doubtnut.com/l/_dCVMXyi4HVWT
https://dl.doubtnut.com/l/_NFR1FkgNxLwO

A. Phosphofructokinase

B. Hexokinase

C. Pyruvic decarboxylase

D. Aldolase.

Answer: A

° Watch Video Solution

192. Enzymes are sensitive to

A. Cold

B. Cell wall

C. Heat

D. Pressure.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NFR1FkgNxLwO
https://dl.doubtnut.com/l/_UcWmyYedCjiZ

193. The enzyme that converts starch into maltose is called

A. Protease

B. Amylase

C. Lactase

D. Maltase.

Answer: B

o Watch Video Solution

194. Which enzyme is most abundantly found?

A. Catalase

B. RuBisCo

C. Nitrogenase


https://dl.doubtnut.com/l/_UcWmyYedCjiZ
https://dl.doubtnut.com/l/_F1lfHhF50oZy
https://dl.doubtnut.com/l/_LLSn35ZwyDHF

D. Invertase.

Answer: B

° Watch Video Solution

195. Holoenzyme is a/an

A. Protein moiety of enzyme

B. Non-protein moiety of enzyme

C. Complete enzyme

D. Inactive enzyme.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_LLSn35ZwyDHF
https://dl.doubtnut.com/l/_0KHGXxqK9dQp

196. [A] : The energy derived from enzyme-sub-strate interaction , is called
energy of formation .
[R] : Free energy is the major source of energy used by enzymes to lower
the activation energies of reactions .

A. Activation energy

B. Binding energy

C. Constant energy

D. Varible energy.

Answer: B

o Watch Video Solution

197. Induced fit theory of enzyme action was proposed by

A. Koshland

B. Fischer


https://dl.doubtnut.com/l/_tYkRGd6cyuU6
https://dl.doubtnut.com/l/_Wt8JJwjnHbfb

C. Hershet and Chase

D. Sumner.

Answer: A

o Watch Video Solution

198. Which one is disaccharide ?

A. Glucose

B. Cellulose

C. Maltose

D. Ribose.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Wt8JJwjnHbfb
https://dl.doubtnut.com/l/_bZcXc1qpQzkW

199. Phospholipids are

A. Amphibolic

B. Amphipaththic

C. Hydrophobic

D. Hydrophilic.

Answer: B

° Watch Video Solution

200. Steroid is

A. Cholesterol

B. Thyroxine

C.Vitamin A

D. Fatty acid ester.


https://dl.doubtnut.com/l/_bGHxy9vgaZIu
https://dl.doubtnut.com/l/_T9p8eMPuuwBi

Answer: A

° Watch Video Solution

201. Phosphorus is a constituent of:

A. Carbohydrate

B. Protein

C. Fat

D. Nucleotide.

Answer: D

° Watch Video Solution

202. Number of fatty acid residues present in one molecule of fat is

A4


https://dl.doubtnut.com/l/_T9p8eMPuuwBi
https://dl.doubtnut.com/l/_sZFBsjg8Pi18
https://dl.doubtnut.com/l/_KQDE8dNvOMCp

B.3

C.2

D.1

Answer: B

° Watch Video Solution

203.ATPis a

A. Nucleotide

B. Nucleoside

C. Purine base

D. Nucleosome.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KQDE8dNvOMCp
https://dl.doubtnut.com/l/_IHecev9tnZT0
https://dl.doubtnut.com/l/_zbsRQizhEcXM

204. Essential amino acid is:

A. Serine

B. Phenylalanine

C. Aspartic acid

D. Tyrosine.

Answer: B

o Watch Video Solution

205. Which amino acid is required for haemoglobin

A.Glu

B. Val

C.Ser

D. All the above.


https://dl.doubtnut.com/l/_zbsRQizhEcXM
https://dl.doubtnut.com/l/_WcayZn9Pe2sp

Answer: D

° Watch Video Solution

206. A triose sugar is

A. Fructose

B. Glucose

C. Deoxyribase

D. Glyceraldehyde.

Answer: D

° Watch Video Solution

207. Which is not correct ?

A.(a) Na™ ions help retain water


https://dl.doubtnut.com/l/_WcayZn9Pe2sp
https://dl.doubtnut.com/l/_8AYD1TIIyvOB
https://dl.doubtnut.com/l/_acjFqmcsjAOJ

B.(b) Na™ ions help conduct nerve impulse
C.(c) Na*ions help in transport of substances across membranes

D. (d) NaCl is component of blood

Answer: C

° Watch Video Solution

208. The most abundant intracellular cation is :

A. Na™

B.K™

C.Ca**

D. Chlorine.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_acjFqmcsjAOJ
https://dl.doubtnut.com/l/_b8S3xpWVagZf
https://dl.doubtnut.com/l/_SF0RNpb464be

209. Which one of the following can supply energy ?

A. MALT

B. GALT

C. AMP

D. UTP.

Answer: D

o Watch Video Solution

210. Coiling of B DNA duplex is

A. Left hand

B. Right handed

C. Parallel

D. All the above.


https://dl.doubtnut.com/l/_SF0RNpb464be
https://dl.doubtnut.com/l/_WMefbEk844gN

Answer: B

° Watch Video Solution

211. DNA resembles RNA as both have

A. Polymers of nucleotides

B. Similar sugar

C. Similar pyrimidine bases

D. Ability to replicate.

Answer: A

° Watch Video Solution

212. A protein conjugated to carbohydrates is

A. Lecithoprotein


https://dl.doubtnut.com/l/_WMefbEk844gN
https://dl.doubtnut.com/l/_3wUsovSmN8Bb
https://dl.doubtnut.com/l/_VbxsPU6U9DPl

B. Glycoprotein

C.lipoportein

D. Metalloprotein.

Answer: B

° Watch Video Solution

213. Nucleic acids occur in

A.Viruses only

B. Bacteria only

C. Mammals only

D. All forms of life.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_VbxsPU6U9DPl
https://dl.doubtnut.com/l/_Qla1BkFT8ieU
https://dl.doubtnut.com/l/_rFnDMe2oAVM1

214. Which one is phosphoprotein ?

A. Ferritin

B. Casein

C. mucin

D. Albumin

Answer: B

o Watch Video Solution

215. Number of amino acids in adrenocorticotrophic hormone is

A. 19

B. 29

C.39

D. 49


https://dl.doubtnut.com/l/_rFnDMe2oAVM1
https://dl.doubtnut.com/l/_fxvQKorxWtrk

Answer: C

° Watch Video Solution

216. Ultraviolet light absorbed by nucleic acid is

A.26 nm

B.75 nm

C.160 nm

D. 1500 nm.

Answer: C

° Watch Video Solution

217. Cellulose is a homopolymer of

A. Fructose


https://dl.doubtnut.com/l/_fxvQKorxWtrk
https://dl.doubtnut.com/l/_CoKe8EriTcqg
https://dl.doubtnut.com/l/_KOPDRhEFikyl

B. Mannose

C. Galatose

D. Glucose.

Answer: D

° Watch Video Solution

218. Enzymes enhance the rate of reaction by

A. Combining with product

B. Forming reactant - product complex

C. Changing equilibrium of reaction

D. Lowering activation energy.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KOPDRhEFikyl
https://dl.doubtnut.com/l/_p1aCQOt57052
https://dl.doubtnut.com/l/_tWS09souXIwq

219. Nomenclature of enzyme consists of

A. First substrate name and then reaction name

B. First reaction name and then product name

C. Only product name.

D. Only reaction name.

Answer: A

o Watch Video Solution

220. Endoenzymes generally act at

A. Acidic pH

B. Alkaline pH

C. neutral pH

D. Any pH.


https://dl.doubtnut.com/l/_tWS09souXIwq
https://dl.doubtnut.com/l/_9xBI4Akk9A5Z

Answer: C

° Watch Video Solution

221. Non-protein organic component of enzyme is

A. Apoenzyme

B. Holoenzyme

C. Coenzyme

D. Isoenzymes.

Answer: C

° Watch Video Solution

222. Enzyme activity is facilitated through

A. Reduction in activation energy


https://dl.doubtnut.com/l/_9xBI4Akk9A5Z
https://dl.doubtnut.com/l/_aqSCbcoeL0sV
https://dl.doubtnut.com/l/_iKEuzfU9jVu1

B. Increase in activation energy

C. Altering pH

D. Altering temperature

Answer: A

° Watch Video Solution

223. Optimum pH for enzyme trypsin is

A.59

B.4.6

C.85

D.7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iKEuzfU9jVu1
https://dl.doubtnut.com/l/_somtzo6H4wT5
https://dl.doubtnut.com/l/_dScb9Rbom26q

224.Km value is related to

A. Chromatography

B. ES complex

C. ABO complex

D. Morphometry.

Answer: B

o Watch Video Solution

225.In competitive inhibition the

A. Inhibitor binds to active site

B. Feed back operates

C. Allosteric mechanism is involved

D. All the above.


https://dl.doubtnut.com/l/_dScb9Rbom26q
https://dl.doubtnut.com/l/_4D5F2udhFZZU

Answer: A

° Watch Video Solution

226. Most of hydrolytic reactions are

A. Exothermic

B. Endothermic

C. Irreversible

D. Reversible .

Answer: D

° Watch Video Solution

227. Little quantity influences the rate of chemical reaction

A. Hormone


https://dl.doubtnut.com/l/_4D5F2udhFZZU
https://dl.doubtnut.com/l/_38EHiHLPVpOe
https://dl.doubtnut.com/l/_BIfBOzU2OnIQ

B. Enzyme

C. Catalyst

D. Alkaloids.

Answer: B

° Watch Video Solution

228.The form in which sugar is present in sugarcane

A. maltose

B. Sucrose

C. Fructose

D. Glucose.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BIfBOzU2OnIQ
https://dl.doubtnut.com/l/_f6fdhXWC26eN
https://dl.doubtnut.com/l/_tlRfqVtnN1eD

229. A basic amino acid is

A. Leucine

B. Methionine

C. Aspartic acid

D. Lysine.

Answer: D

o Watch Video Solution

230. Calmodulin is

A. Carotene binding protein
B. Cadmiun binding protein
C. Calcium binding protein

D. Chlorohyll binding protein.


https://dl.doubtnut.com/l/_tlRfqVtnN1eD
https://dl.doubtnut.com/l/_o0F8t1bWtGDz

Answer: C

° Watch Video Solution

231. Peptide bond is formed between two amino acids through

A. Addition of water

B. Loss of water

C. Decarboxylation

D. Deamination.

Answer: B

° Watch Video Solution

232. Glycosidic linkage in maltose is

Aod—1


https://dl.doubtnut.com/l/_o0F8t1bWtGDz
https://dl.doubtnut.com/l/_iYMyI8M18cZG
https://dl.doubtnut.com/l/_MTzQ766BfVvj

B.f4 — 1

C.al — 4

D.Al — 4

Answer: C

° Watch Video Solution

233. Calcium gives rigidity to bones and teeth alongwith

A. Oxalate

B. Pectate

C. Carbonate

D. Phosphate.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MTzQ766BfVvj
https://dl.doubtnut.com/l/_vwz78vqrOmFE
https://dl.doubtnut.com/l/_lCEpvrFivsfO

234. Maximum number of nitrogen atoms occur in

A. Guanine

B. Uric acid

C. Urea

D. Ammonia.

Answer: A

o Watch Video Solution

235. A hexose sugar is

A. Arabinose

B. Galactose

C. Mannose

D. Both B and C.


https://dl.doubtnut.com/l/_lCEpvrFivsfO
https://dl.doubtnut.com/l/_QOXR0aRrHAIj

Answer: D

° Watch Video Solution

236. Fehling's solution can detect

A. Glucose

B. Sucrose

C. Starch

D. Fat.

Answer: A

° Watch Video Solution

237. Number of oxygen atoms in lipid molecules is always &€|. As

compared to number of carbon atoms


https://dl.doubtnut.com/l/_QOXR0aRrHAIj
https://dl.doubtnut.com/l/_R8jW8RDKYhpD
https://dl.doubtnut.com/l/_C6so3bNBkqrF

A. Less

B. More

C. Equal

D. Double.

Answer: A

o Watch Video Solution

238. Which group has the same distinct class

A. Sterols,Waxes, Amino acids, starch

B. Lipids,RNA,Glucine,Cellulose

C. DNARNA, Nucleosides, Nucleotides

D. Ribose, Surose, Glucose, Maltose

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_C6so3bNBkqrF
https://dl.doubtnut.com/l/_DkdNuigsRoMu

239. Number of amino acids present in protoplasm is

A. 20

B.12

D.8

Answer: A

° Watch Video Solution

240. Which one contains maximum energy ?

A. Cyclic AMP

B. ADP

C. AMP


https://dl.doubtnut.com/l/_DkdNuigsRoMu
https://dl.doubtnut.com/l/_xBo9UPKsCYcF
https://dl.doubtnut.com/l/_k7MBnwYuRCRo

D. Adenosine.

Answer: B

° Watch Video Solution

241. which of the following is the most essential fatty acid ?

A. Arachidonic acid

B. Linolenic acid

C. Linoleic acid

D. Oleic acid.

Answer: C

o Watch Video Solution

242. Which one would be components of proteins ?


https://dl.doubtnut.com/l/_k7MBnwYuRCRo
https://dl.doubtnut.com/l/_X6DxrHaNz49K
https://dl.doubtnut.com/l/_IxgYKAteUl3v

A. CHOP

B.CHO

C.CHON

D. CONS.

Answer: C

° Watch Video Solution

243. DNA strands have

A. Quaternary structure

B. Same polarity

C. Antiparallel polarity

D. Disulphide bonds.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IxgYKAteUl3v
https://dl.doubtnut.com/l/_4x2KunpgXCHV

244, Length of one turn of DNA is

A 34 A..

B.34A..

C.034A..

D.20A..

Answer: A

° Watch Video Solution

245. Macromolecule most common in plant cell walls is

A. Glycogen

B. Starch

C. Protein


https://dl.doubtnut.com/l/_4x2KunpgXCHV
https://dl.doubtnut.com/l/_Cceuke1g8ZNV
https://dl.doubtnut.com/l/_9uFnHDAGT9jN

D. Cellulose

Answer: D

° Watch Video Solution

246. Keratin is the major constituent of

A. Brain

B. Hair and skin

C.Blood

D. Bones and teeth.

Answer: B

o Watch Video Solution

247. Most abundant organic compound on earth is


https://dl.doubtnut.com/l/_9uFnHDAGT9jN
https://dl.doubtnut.com/l/_lPr7pCaCqBDL
https://dl.doubtnut.com/l/_U2cYhvBKrAeo

A. Cellulose

B. Protein

C. Lipids

D. Steroids.

Answer: A

° Watch Video Solution

248. Pectin is

A. Waste product

B. Excretory product

C. Phytolectin

D. Secretory product.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_U2cYhvBKrAeo
https://dl.doubtnut.com/l/_diULCMoeSMcG

249. Macro molecule chitin is

A. Sulphur containing polysaccharide

B. Phosphorus containing polysaccharide

C. Nitrogen containing polysaccharide

D. Simple polysaccharide.

Answer: C

° Watch Video Solution

250. Water is ideal material for disposal of excess solar energy because

A. Water is easily available and its specific heat is high

B. Water evaporates from leaf surface and its latent heat is high

C. Water is general solvent


https://dl.doubtnut.com/l/_diULCMoeSMcG
https://dl.doubtnut.com/l/_PEaL35tZqoU6
https://dl.doubtnut.com/l/_QkmtHxunoLEr

D. Upward movement of water creates a difference in water potential.

Answer: B

° Watch Video Solution

251. An example of conjugated protein is :

A. Haemoglobin/Flavoprotein

B. Globulin

C. Albumin

D. Peptone.

Answer: A

o Watch Video Solution

252. Insulin produced by f-cells in our body contains amino acids


https://dl.doubtnut.com/l/_QkmtHxunoLEr
https://dl.doubtnut.com/l/_2PRkBD5Rk17T
https://dl.doubtnut.com/l/_B00x7Gc9Y3Hj

A. 50

B. 51

C.52

D. 53

Answer: B

° Watch Video Solution

253. Chitin is polymer of

A. N-acetyl muramic acid

B. N- acetyl gluconic acid

C. N-acetyl glucosamine

D. None of the above.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_B00x7Gc9Y3Hj
https://dl.doubtnut.com/l/_4ImENPVIYu0Y

254. Two fatty acid monomers are joined by

A. Hydrogen bond

B. Peptide bond

C. Phosphodiester bond

D. Ester bond.

Answer: D

o Watch Video Solution

255. NAD" and NADP " resemble each other in ability to

A. Give out a proton
B. Take up two electrons at one time

C. Take up two hydrogen atoms


https://dl.doubtnut.com/l/_4ImENPVIYu0Y
https://dl.doubtnut.com/l/_SE20gx8iGTkS
https://dl.doubtnut.com/l/_nw57MMq8N1K4

D. Take up one electron at one time.

Answer: B

° Watch Video Solution

256. Two polypeptide chains are joined by hydrogen bonds to produce

A. a-helix

B. Tertiary structure

C. B-pleated sheet

D. All the above.

Answer: C

o Watch Video Solution

257. Mucilage present in 'Bhindi' (Okra, Lady's Finger) contains


https://dl.doubtnut.com/l/_nw57MMq8N1K4
https://dl.doubtnut.com/l/_7RNpVpwJexX0
https://dl.doubtnut.com/l/_SiGCgppo3eJ5

A. Mannose

B. Galactose

C. Lactose

D. Both A and B.

Answer: D

o Watch Video Solution

258. Unsaturated fats are made saturated by

A. Polymerisation

B. Hydrogenation

C. Dehydrogenation

D. Hybridisation.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SiGCgppo3eJ5
https://dl.doubtnut.com/l/_THTx0U9VqM88

259. Non reducing sugars have

A. Free-CHO group

B. Free -CO group

C.Both Aand B

D. Neither A nor B.

Answer: D

° Watch Video Solution

260. The sweetest sugar is

A. Fructose

B. Glucose

C. Mannose


https://dl.doubtnut.com/l/_THTx0U9VqM88
https://dl.doubtnut.com/l/_Ztpd4mTqSRXr
https://dl.doubtnut.com/l/_41T0Me3yWc5Z

D. Lactose.

Answer: A

° Watch Video Solution

261. A trisaccharide is

A. Galactose

B. Maltose

C. Raffinose

D. Mannose.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_41T0Me3yWc5Z
https://dl.doubtnut.com/l/_60TGpODvRv7D

262. Unsaturated fatty acids have
(a) high melting point
(b) one or more double bonds
(c) oleic acid
(d) palmitic acid
A. Oleic acid
B. High melting point

C. One or more double bonds

D. palmitic acid.

Answer: C

o Watch Video Solution

263. Differences in amino acids are due to their

A. Carboxyl group


https://dl.doubtnut.com/l/_cKq9nZGUgdCk
https://dl.doubtnut.com/l/_VY1h9kU1jPlv

B. Amino group

C. Peptide bond

D. R-Group.

Answer: D

° Watch Video Solution

264. A fatty acid not synthesised in human body is

A. Cholesterol

B. Linoleic acid

C. Glycerol

D. None of the above.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VY1h9kU1jPlv
https://dl.doubtnut.com/l/_qTdB2IYOQMR6
https://dl.doubtnut.com/l/_EmoTQySiRlUi

265. Which one is a disaccharide ?

A. Sucrose

B. Glucose

C. Fructose

D. Galactose.

Answer: A

o Watch Video Solution

266. Adenine,pentose sugar and phosphate interact to form

A. Adenosine

B. Adenylic acid

C. Adenosine diphosphate

D. Adenine triphosphate.


https://dl.doubtnut.com/l/_EmoTQySiRlUi
https://dl.doubtnut.com/l/_DuSbgdn1jhjh

Answer: B

° Watch Video Solution

267. Cane sugar on hydrolysis gives

A. Glucose + Fructose

B. Glucose + Glucose

C. Glucose + Galactose

D. Glucose + Maltose.

Answer: A

° Watch Video Solution

268. Water is important for the functioning body as

A. It releases energy


https://dl.doubtnut.com/l/_DuSbgdn1jhjh
https://dl.doubtnut.com/l/_Jzb8akMxYzzv
https://dl.doubtnut.com/l/_VHzj0OvUkTOU

B. Provides H " ions

C. Killed microorganisms

D. It is a very good solvent.

Answer: D

° Watch Video Solution

269. Inulin found in plant cell is a

A. Protein

B. Polysaccharide

C. Lipid

D. Vitamin

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VHzj0OvUkTOU
https://dl.doubtnut.com/l/_W6SVXNUwHPz7
https://dl.doubtnut.com/l/_iTaQ4G8kLvQT

270. ATP is

A. Adenosine D-ribose triphosphate

B. Adenosine L-ribose triphophate

C. Adenine D-ribose triphophate

D. Adenine L-ribose triphosphate.

Answer: C

o Watch Video Solution

271.Starch is

A. (CsH50g),,
B. (CsH1905),,
C. (C12H2011),,

D. (C12H24011),,


https://dl.doubtnut.com/l/_iTaQ4G8kLvQT
https://dl.doubtnut.com/l/_y6a4ofsK1E1T

Answer: B

° Watch Video Solution

272. A peptide chain attains secondary structure through the formation

of

A. Peptide bonds

B. Intrachain ionic bonds

C. Intrachain hydrogen bonds

D. Intrachain disulphide bonds.

Answer: C

° Watch Video Solution

273.Sugar Present in DNA is


https://dl.doubtnut.com/l/_y6a4ofsK1E1T
https://dl.doubtnut.com/l/_44P49xYaeD6G
https://dl.doubtnut.com/l/_G3GXg7OWmBsr

A. Heptose

B. Hexose

C. Tetrose

D. Pentose.

Answer: D

o Watch Video Solution

274.The following molecule is

CH,OH
OH l OH

H .
\ JOH H

H

(
H OH

A. Galactose


https://dl.doubtnut.com/l/_G3GXg7OWmBsr
https://dl.doubtnut.com/l/_8W6S6Wq0a7Ud

B. Glucose

C. Fructose

D. Lactose

Answer: A

° Watch Video Solution

275.CH3(CH,), = CH(CH,),COOH is for mula of .

A. Linolenic acid
B. Oxalosuccinate
C. Oleic acid

D. a-Ketroglutarate.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8W6S6Wq0a7Ud
https://dl.doubtnut.com/l/_eYLs18pU7UEJ
https://dl.doubtnut.com/l/_VHZd5JlamNuZ

276. Ribose is differentiable from deoxyribose in having

A. Two extra oxygen

B. No oxygen

C. Hydroxyl group

D. One extra hydrogen.

Answer: C

o Watch Video Solution

277.1n ATP high energy bond occurs between

A. Phosphate and phosphate

B. Ribose and Phosphate

C. Adenine and phosphate

D. Adenine and ribose.


https://dl.doubtnut.com/l/_VHZd5JlamNuZ
https://dl.doubtnut.com/l/_vEl1SZZFwCxs

Answer: A

o Watch Video Solution

278. A reagent added to a sample to a shows change of colour from green

to yellow. It is due to presence of reducing sugar. The test is

A. Elisa test for detecting AIDS

B. Benedict's test for detecting glucosuria

C. Fihling's test for detecting hyperglycemia

D. Ninhydrin test for detecting glucosidic linkage.

Answer: B

o Watch Video Solution

279. In a dead or killed animal, glycogen of liver disintegrates

enzymatically to form


https://dl.doubtnut.com/l/_vEl1SZZFwCxs
https://dl.doubtnut.com/l/_stTsJbGxMs0g
https://dl.doubtnut.com/l/_oQ0L9dvGUIpu

A. lactose

B. Fructose

C. Glucose

D. None of the above.

Answer: D

o Watch Video Solution

280. Which enzyme is concerned with transfer of electrons ?

A. Hydrolyses

B. Hydrogenases

C. Proteases

D. Transaminases.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oQ0L9dvGUIpu
https://dl.doubtnut.com/l/_Rx5dzzc3dSMV

281. The enzymes that join together two molecules by forming new

covaient bonds are:

A. Ligases

B. Transferases

C. Oxidoreductoses

D. lyases.

Answer: A

o Watch Video Solution

282. A non-protein organic part attached firmly by covalent linkage to

apoenzyme is

A. Cofactor

B. Coenzymes


https://dl.doubtnut.com/l/_Rx5dzzc3dSMV
https://dl.doubtnut.com/l/_9WZ0npNZPmt8
https://dl.doubtnut.com/l/_NfPKchNsr91M

C. Prosthetic group

D. Activator.

Answer: C

° Watch Video Solution

283. The inhibitor which does not resemble the substrate in structure and

binds to the enzyme at site other than the active site is called

A. Competitive inhibitor

B. Non-competitive inhibitor

C. Catalytic inhibitor

D. Allosteric modulator/inhibitor

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_NfPKchNsr91M
https://dl.doubtnut.com/l/_N3xs4lIV76bN
https://dl.doubtnut.com/l/_SkeXb163fQ1M

284.Who coined the term zymase for enzymes in yeast

A. Buchner

B. Kuhne

C. Pasteur

D. Sumner.

Answer: A

o Watch Video Solution

285. One molecule of an enzyme is needed to convert 2 molecules of a
substrate into products in 5 minutes. 10 molecules of the enzyme and 25
moleucles of the substrate are mixed in a test tube. After 10 minutes the

test tube will be having.

A. Products only

B. Products and enzymes molecules


https://dl.doubtnut.com/l/_SkeXb163fQ1M
https://dl.doubtnut.com/l/_K5ZknTQuf3hp

C. Products and 5 unreacted substance molecules

D. Products, enzyme molecules and 5 molecules of substrate.

Answer: B

° Watch Video Solution

286. Vtamins nicotinamide can be synthesised in our body from

A. Fructose

B. Lactose

C.Tyrosine

D. Tryptophan.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_K5ZknTQuf3hp
https://dl.doubtnut.com/l/_63WuGO9NyNxV

287. Fehling test is positive for

A. Lactose

B. Sucrose

C. Glucose

D. Fructose.

Answer: B

° Watch Video Solution

288. Which one is a reducing sugar ?

A. Galactose

B. Gluconic acid

C. Sucrose

D. B-methyl galactoside.


https://dl.doubtnut.com/l/_A4aUdqC6cYfP
https://dl.doubtnut.com/l/_YGmDrrv7e5aP

Answer: A

° Watch Video Solution

289. Lipids are insoluble in water, because lipids molecules are

A. Hydrophilic

B. hydrophobic

C. Zwitter ions

D. Neutal.

Answer: B

° Watch Video Solution

290. pentoses are insoluble in water as they are

A. Oilgosaccharides


https://dl.doubtnut.com/l/_YGmDrrv7e5aP
https://dl.doubtnut.com/l/_uc2hJR4ZxLEk
https://dl.doubtnut.com/l/_FxWHnVZplmH8

B. Disaccharides

C. Monosacchrides

D. Polysaccharides.

Answer: C

° Watch Video Solution

291. Collagen is

A. Carbohydrate

B. Lipid

C. Fibrous or sclero-protein

D. Globular protein.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FxWHnVZplmH8
https://dl.doubtnut.com/l/_uyVgsTiXRMGm
https://dl.doubtnut.com/l/_j5YGnLxXo2iy

292. Osmotically inactive chief stored material in animal body is

A. Protein

B. Phosphogen

C. Lipid

D. Glycogen.

Answer: D

o Watch Video Solution

293. The major role of minor elements inside living organisms is to act as

A. Cofactors of enzymes

B. Binder of cell structure

C. Constituent of hormones

D. Building blocks of mino acids.


https://dl.doubtnut.com/l/_j5YGnLxXo2iy
https://dl.doubtnut.com/l/_T1KxfW8mOnrz

Answer: A

° Watch Video Solution

294. Which element is located at the centre of the porphyrin ring in

chlorophyll : -

A. Potassium

B. Manganese

C. Magnesium

D. Calcium.

Answer: C

° Watch Video Solution

295. The major portion of the dry weight of plants comprised of



https://dl.doubtnut.com/l/_T1KxfW8mOnrz
https://dl.doubtnut.com/l/_7uKBlTgTQ1jE
https://dl.doubtnut.com/l/_GyUPUTqhKksQ

A. Calcium, magnesium and sulphur

B. Carbon, hydrogen and oxygen

C. Carbon, nitrogen and hydrogen

D. Nitrogen, phosphorus and potassium.

Answer: B

o Watch Video Solution

296. Which of the following is essential for nitrogen fixation in legumes

A. Copper

B. Zinc

C. Manganese

D. Molybdenum.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_GyUPUTqhKksQ
https://dl.doubtnut.com/l/_fpRDFa4hTFTA

297.In green plants, Boron assists

A.Sugar transport

B. Activation of enzymes

C. Functioning as enzyme cofactor

D. Photosynthesis.

Answer: A

o Watch Video Solution

298. Plants with zinc deficiency show reduced biosynthesis of

A. Cytokinin

B. Auxin

C. Abscisic acid


https://dl.doubtnut.com/l/_fpRDFa4hTFTA
https://dl.doubtnut.com/l/_VEAk3Hg1hB2O
https://dl.doubtnut.com/l/_mBLVOsKsju72

D. Ethylene.

Answer: B

° Watch Video Solution

299. In which of the following form is glucose stored in liver
(a) Starch
(b) Glycogen
(c) Cellulose
(d) Sucrose
A. Cellulose
B. Starch

C. Glycogen

D. Sucrose.

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_mBLVOsKsju72
https://dl.doubtnut.com/l/_iTwGaX7z3WJC

300. Adenosine monophosphate is a

A. Nucleoside of DNA

B. Nucleotide of DNA

C. Nucleoside RNA

D. Nucleotide of RNA.

Answer: D

° Watch Video Solution

301. In the organism, energy is stored in the form of

A.ATP

B. ADP

C. AMP


https://dl.doubtnut.com/l/_iTwGaX7z3WJC
https://dl.doubtnut.com/l/_JUZrjm9CSTYf
https://dl.doubtnut.com/l/_QXqEohmKQQNN

D. All the above.

Answer: A

° Watch Video Solution

302. Nucleotide is composed of

A. Sugar

B. Phosphoric acid

C. Nitrogenous base

D. All the above.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_QXqEohmKQQNN
https://dl.doubtnut.com/l/_ZRvZnCTIS4a2

303. An examle of competitive inhibition fo an enzyme is the inhibition of

A. Succinic dehydrogenase by molonic acid

B. Cytochrome oxidase by cyanide

C. Hexokinnase by glucose 6-Phosphate

D. Carbonic anhydrase by cabon dioxide.

Answer: A

o Watch Video Solution

304.Silk is formed of

A. Fibroin

B. Collagen

C. Elastin

D. myosin.


https://dl.doubtnut.com/l/_SDvUK0FK00MM
https://dl.doubtnut.com/l/_LRiYDCaesNtG

Answer: A

° Watch Video Solution

305. Protein found in egg white is

A. Albumin

B. Casein

C. Globulin

D. Vitelline.

Answer: A

° Watch Video Solution

306. Which one will not yield glucose

A. Cellulose


https://dl.doubtnut.com/l/_LRiYDCaesNtG
https://dl.doubtnut.com/l/_2WB26NapTk6W
https://dl.doubtnut.com/l/_tMoP7CP0fUKW

B. Maltose

C. Glycogen

D. Hemicellulose.

Answer: D

° Watch Video Solution

307. Which is not a macromolecule

A. Cellulose

B. DNA

C. Glycogen

D. None of the above.

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_tMoP7CP0fUKW
https://dl.doubtnut.com/l/_7EQUJYRUX1mO
https://dl.doubtnut.com/l/_Ql7QXJgbYBQ4

308. Chitin occurs in

A. Crab

B. prawn

C. Agaricus

D. All the above.

Answer: D

o Watch Video Solution

309. Which one is a saturated fatty acid ?

A. Arachidonic acid

B. Stearic acid

C. Oleic acid

D. Linoleic acid.


https://dl.doubtnut.com/l/_Ql7QXJgbYBQ4
https://dl.doubtnut.com/l/_d1D2XjIsWg9H

Answer: B

° Watch Video Solution

310. Thymine is

A. Amino acid

B. Purine

C. Pyrimdine

D. Fatty acid.

Answer: C

° Watch Video Solution

311. Which is wrong

A. Uracil is pyrimidine


https://dl.doubtnut.com/l/_d1D2XjIsWg9H
https://dl.doubtnut.com/l/_4rKksttmXyi9
https://dl.doubtnut.com/l/_TMwGwHSveaUw

B. Glycine contains sulphur

C. Sucrose is disaccharide

D. Cellulose is polysaccharide.

Answer: B

° Watch Video Solution

312. Match and choose the true option

A. NaCl-Inorganic micromolecule

B. H,O-Organic micromolecule

C. Starch-Organic micromolecule

D. Glucose-inorganic micromolecule

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_TMwGwHSveaUw
https://dl.doubtnut.com/l/_VpiFsZskfPgZ
https://dl.doubtnut.com/l/_zakwmrGXGBUX

313. An essential amino acid is

A. Tryptophan

B. Glycine

C. Glutamine

D. Tyrosine.

Answer: A

° Watch Video Solution

314.The enzyme needed in biological system for joining two molecules is

called

A. Lyase

B. Diastase

C. Polymerase

D. Hydrolase.


https://dl.doubtnut.com/l/_zakwmrGXGBUX
https://dl.doubtnut.com/l/_NEnGmIu33N8S

Answer: C

° Watch Video Solution

315. Starch and cellulose are

A. Branched polysaccharides

B. Storage products

C. Components of plant cell walls

D. Composed of glucose.

Answer: D

° Watch Video Solution

316. Scleroproteins are

A. Glycoproteins


https://dl.doubtnut.com/l/_NEnGmIu33N8S
https://dl.doubtnut.com/l/_epirUGZaGDGH
https://dl.doubtnut.com/l/_lNv9djQONAFD

B. Keratins

C. Collagens

D.Both B and C.

Answer: B

° Watch Video Solution

317. Trigyceride consists of

A. Three fatty acids + two glycerol

B. Three fatty acids + one glycerol

C. One fatty acid + one glycerol

D. One fatty acid + three glycerol.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_lNv9djQONAFD
https://dl.doubtnut.com/l/_2nXEA1CtJ9o2
https://dl.doubtnut.com/l/_DrsLwA98gOC0

318. Tertiary structure of proteins having amino acid cysteine is achieved

through

A. lonic bonds

B. Covalent bonds

C. Disulphide bonds

D. Hydrogen bonds.

Answer: C

o Watch Video Solution

319. Mathematical explanation for enzyme action on substrate was

provided by

A. Vant Hoff

B. hans Krebs

C. Michaelis and menten


https://dl.doubtnut.com/l/_DrsLwA98gOC0
https://dl.doubtnut.com/l/_9ATD70a1qVMV

D. Calvin.

Answer: C

° Watch Video Solution

320. Which one is not a fibrillar protein

A. Keratin

B. Collagen

C. Albumin

D. Elastin.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9ATD70a1qVMV
https://dl.doubtnut.com/l/_4OYx7obMI5gX

321. Energy is stored in the liver and muscles in the form of

Or

In the muscles carbohydrates are stored in the form of

A. Glucose

B. Sucrose

C. Starch

D. Glycogen.

Answer: D

o Watch Video Solution

322. DNA and RNA contain four bases each. Which of the following bases

is not present in RNA ?

A. Uracil

B. Thymine


https://dl.doubtnut.com/l/_TbtbHxnOPiuF
https://dl.doubtnut.com/l/_FU1gJVczX1Bw

C. Guanine

D. Cytosine.

Answer: B

o Watch Video Solution

323. Amino acid having sulphur is

A. Cysteine

B. Lysine

C. Leucine

D. Isoleucine.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FU1gJVczX1Bw
https://dl.doubtnut.com/l/_yMFyb81bi4be

324. Protein denaturation is caused by disruption of

A. Peptide bonds

B. Three -dinensional configuration

C. Tertiary and secondary structure

D.Both B and C.

Answer: D

o Watch Video Solution

325. K, value is dependent upon

A. Temperature

B. Substrate concentration

C. Enzyme concentration

D. All the above.


https://dl.doubtnut.com/l/_Sz0lpnhKrzIN
https://dl.doubtnut.com/l/_66k3KGCc7sAg

Answer: B

° Watch Video Solution

326. Non-proteinaceous part of enzyme is

A. Cofactor

B. Coenzyme

C. Prosthetic group

D. All the above.

Answer: D

° Watch Video Solution

327. Amino acid present in histones are

A. Arginine and histidine


https://dl.doubtnut.com/l/_66k3KGCc7sAg
https://dl.doubtnut.com/l/_qhXp5GHXvmka
https://dl.doubtnut.com/l/_Y8gOuUyPlFS3

B. Arginine and lysine

C. Lysine and histidine

D. Arginine and cytosine.

Answer: B

° Watch Video Solution

328. Which is a non-reducing sugar?

A. Glucose

B. Sucrose

C. Galactose

D. Mannose.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Y8gOuUyPlFS3
https://dl.doubtnut.com/l/_Zfc5kwJD9cyW
https://dl.doubtnut.com/l/_UEteW9RramSv

329. Chitin occurs in

A. Bcteria

B. Algae

C. Fungi

D. Yeast.

Answer: C

o Watch Video Solution

330. Moisturising gel is extracted from

A. Saraca indica

B. Aloe vera

C. Acacia vistita

D. None of the above.


https://dl.doubtnut.com/l/_UEteW9RramSv
https://dl.doubtnut.com/l/_hLQ3f7sx68w3

Answer: B

° Watch Video Solution

331. Structure of protein insulin was first studied by

A. Sanger

B. Stanley

C. Nicholson

D. Watson.

Answer: A

° Watch Video Solution

332.Sugar Present in DNA is

A. Dextrose


https://dl.doubtnut.com/l/_hLQ3f7sx68w3
https://dl.doubtnut.com/l/_ftXMLLUAEWFO
https://dl.doubtnut.com/l/_oD8YOHCzUJ9o

B. Levulose

C. Glucose

D. Deoxyribose.

Answer: D

° Watch Video Solution

333. Which one is simple protein

A. Albumin

B. Nucleoprotein

C. Lipoprotein

D. Glycoprotein.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_oD8YOHCzUJ9o
https://dl.doubtnut.com/l/_uDKueJ4q06Qn
https://dl.doubtnut.com/l/_RP36W8dPrKHT

334. Which is not a hydrolase?

A. Protease

B. Dehydrogenase

C. Sucrase

D. Amylase.

Answer: B

o Watch Video Solution

335. ATP ws discovered by

A. Lipmann

B. Lohmann

C. Blackman

D. Bowman.


https://dl.doubtnut.com/l/_RP36W8dPrKHT
https://dl.doubtnut.com/l/_3rU7Pr2s9nP1

Answer: B

° Watch Video Solution

336. Match the column and find out the correct combination

ColumnlI ColumnlII
a Starch p Protein synthesis
b Haemoglobin g Sex hormone
¢ RNA r Storage product
d Steroid s Transp or tofgases
A. a-, b-p, cs,d-q

B. a-r, b-s, c-p, d-q

C.a-s, b-r,cp,dq

D. a-r, b-s, c-q, d-p.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3rU7Pr2s9nP1
https://dl.doubtnut.com/l/_HBRcnaUsatO5

337. Chemical nature of cellulose is

A. Disaccharide

B. Polypeptide

C. Polysaccharide

D. Polynucleotide.

Answer: C

o Watch Video Solution

338.Kuhne

A. Discovered enzymes

B. Coined the term enzyme

C. Coined the term gene

D. Discovered parathyroid.


https://dl.doubtnut.com/l/_NHqvfYJzcMkB
https://dl.doubtnut.com/l/_73Z4cpuLo11h

Answer: B

° Watch Video Solution

339. Which one is not a coenzyme ?

A NAD™

B. NADPH

C.FAD

D. ATP.

Answer: A

° Watch Video Solution

340. Starch is stored in Potato tuber as

A. Storage product should be insoluble


https://dl.doubtnut.com/l/_73Z4cpuLo11h
https://dl.doubtnut.com/l/_9FjR2wU980CD
https://dl.doubtnut.com/l/_3JPGjU8Htw86

B. Strach is synthesised in tubers

C. Tubers repire slowly

D. Translocated sucrose is polymerised here.

Answer: B

° Watch Video Solution

341. Water molecules are joined by

A. Amino bonding

B. Covalent bonding

C. Hydrogen bonding

D. Van der waals force.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3JPGjU8Htw86
https://dl.doubtnut.com/l/_2af2vB8Fx7d6
https://dl.doubtnut.com/l/_Xyku11sufQwx

342. Number of carbon in ring of deoxyribose sugar is :

A. Three

B. Four

C. Five

D. Six.

Answer: B

° Watch Video Solution

343.Bond present between two residues of carbohydrate is

A. Amide

B. Phosphodiester

C. Glycosidic

D. Hydrogen bond.


https://dl.doubtnut.com/l/_Xyku11sufQwx
https://dl.doubtnut.com/l/_OWTv7SeaOzxY

Answer: C

° Watch Video Solution

344.The similarity between bacterial and eukaryotic DNA is that both are

A. Circular

B. Single stranded

C. Double stranded

D. All the above.

Answer: C

° Watch Video Solution

345.In ATP high energy bond is present

A. Nucleoside and phosphate group


https://dl.doubtnut.com/l/_OWTv7SeaOzxY
https://dl.doubtnut.com/l/_3r4T7vkFmc4a
https://dl.doubtnut.com/l/_OuwEE5ISHpOU

B. Sugar and phosphate group

C. Base and phosphate group

D. None of the above.

Answer: D

° Watch Video Solution

346. Which enzyme shows greatest substrate specificity

A. Nuclease

B. Trypsin

C. Pepsin

D. Sucrase.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_OuwEE5ISHpOU
https://dl.doubtnut.com/l/_mdprbPSY5OV2
https://dl.doubtnut.com/l/_8cvOL81senAO

347. End product of action of enzyme cellulase over cellulose is

A. Glucose

B. Sucrose

C. Starch

D. Glycogen

Answer: A

o Watch Video Solution

348. Maltose is formed of

A. a-glucopyranose and S-fructopyranose

B. a-glucopyranose and a-glucopyranose

C. B-glucopyranose and B-glucopyranose

D. a-galactopyranose and a-galactopyranose.


https://dl.doubtnut.com/l/_8cvOL81senAO
https://dl.doubtnut.com/l/_b2H8T4plV3Nu

Answer: B

° Watch Video Solution

349, Glucose is

A. Cane sugar

B. Grape sugar

C. Malt sugar

D. Triose sugar

Answer: B

° Watch Video Solution

350. Protein present in Wheat grain is

A. Glutenin


https://dl.doubtnut.com/l/_b2H8T4plV3Nu
https://dl.doubtnut.com/l/_jM3ZjxQGUDqf
https://dl.doubtnut.com/l/_Dn2qGNjf46VY

B. Albumin

C.Zymase

D. Glycogen.

Answer: A

o Watch Video Solution

351. Match the words in column | with the phrases in column Il. Choose

the answer, which gives the correct combination of the alphabets of the

columns.

Column -1 Column-IT

(A)Magnesium  (1)Found in some amino acids

ulphur ot important of plants
B)Sulph 2)Not i f pl
odine tructural component of chlorophy
C)lodi 3)S al f chl hyll
anganese omponent of sugar
(D)Mang (4)Comp f sug
(5)Required for enzyme activity

A.a-, b-s,c-q,d-p

B. a-r, b-p, c-q, d-s

C.a-r,b-p,cq,d-t


https://dl.doubtnut.com/l/_Dn2qGNjf46VY
https://dl.doubtnut.com/l/_C9MbhsOsxgyO

D. a-s, b-r, c-p, d-t

Answer: C

° Watch Video Solution

352. Sucrose is

A. Monosaccharide

B. Disaccharides

C. Trisaccharide

D. Polysaccharides.

Answer: B

° Watch Video Solution

353. Phosphorus is always present in


https://dl.doubtnut.com/l/_C9MbhsOsxgyO
https://dl.doubtnut.com/l/_vAzEbSJbPIHd
https://dl.doubtnut.com/l/_9FSqn3QfPksP

A. protein

B. DNA

C.RNA

D.Both B and C.

Answer: D

° Watch Video Solution

354. Telomerase is an enzyme which is a

A. Simple protein

B. RNA

C. Ribonucleoprotein

D. Repetitive DNA.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9FSqn3QfPksP
https://dl.doubtnut.com/l/_AazxZq0obfOM

355. The catalytic efficiency of two different enzymes can be compared by

the

A. Product

B. Molecular size

C. K,, value

D. pH optimum value.

Answer: C

° Watch Video Solution

356. An important step in the manufacture of pulp of paper industry from

the woody tissues of plants is the

A. Preparation of pure cellulose by removing lignin

B. Treatment of weed with chemicals for breakdown of cellulose


https://dl.doubtnut.com/l/_AazxZq0obfOM
https://dl.doubtnut.com/l/_Shw5lEnZ65iE
https://dl.doubtnut.com/l/_FZEUHCei5YJo

C. Removal of oil by suitable chemicals

D. Removal of water from wood by prolonged heating at 50° C.

Answer: A

° Watch Video Solution

357. Which one of the following statements regarding enzyme inhibition

is correct?

A. Competitive inhibition occurs when a substrate competes with

enzyme for binding to inhibition protein

B. Competitive inhibition occurs when the substrate and the

inhibition compete for active site on the enzyme

C. Non-competitive inhibition of an enzyme can be overcome by

adding large amount of substrate.

D. Non-competitive inhibition.often bind to the enzyme irreversibly.


https://dl.doubtnut.com/l/_FZEUHCei5YJo
https://dl.doubtnut.com/l/_wgqwiCViZFHf

Answer: B

° Watch Video Solution

358. What does the graph indicate ?

The graph given below shows the effect of substrate concentration on

the rate of reaction of the enzyme green- gram-phos-phatase.

Velocity
o

i . <4

§) Substrate concentration

A. Formation of enzyme substrate complex

B. Increase of pH at higher concentration of substrate

C. presence of enzyme inhibitor


https://dl.doubtnut.com/l/_wgqwiCViZFHf
https://dl.doubtnut.com/l/_gMLzqdY3altS

D. Rate of reaction is directly proportional to substrate concentration.

Answer: C

° Watch Video Solution

359. Heparin is synthesised in

A. Kidney

B. Salivary glands

C. Pancreas

D. Liver.

Answer: D

o Watch Video Solution

360. Which of the following amino acid is optically inactive?


https://dl.doubtnut.com/l/_gMLzqdY3altS
https://dl.doubtnut.com/l/_A3J5FSsDV0xx
https://dl.doubtnut.com/l/_JsTJLLk7mT8X

A. Glycine

B. Leucine

C.lIsoleycine

D. Valine.

Answer: A

o Watch Video Solution

361. Which is incorrect about coenzyme ?

A. Every coenzyme is a cofactor and enery cofactor is a coenzyme

B. Every coenzyme is a cofactor and every cofactor is not a coenzyme

C.Most of the coenzymes are nucleotides and are composed of

vitamins

D. Coenymes are the active constituents of enzymes.

Answer: A


https://dl.doubtnut.com/l/_JsTJLLk7mT8X
https://dl.doubtnut.com/l/_aPgD17DFxXwh

° Watch Video Solution

362. Calcium is required for functioning of enzyme

A. Fumarase

B. ATP-ase

C. Succinate thiokinase

D. Isocitrate dehydrogenase.

Answer: D

o Watch Video Solution

363. Which is protein in nature?

A. Polyethylene

B. Cellulose

C.Terylene


https://dl.doubtnut.com/l/_aPgD17DFxXwh
https://dl.doubtnut.com/l/_jsHp9970AN3g
https://dl.doubtnut.com/l/_c2cqAibnErAy

D. Silk and wool.

Answer: D

° Watch Video Solution

364. Natural anticoagulant is

A. Serotonin

B. Digitonin

C. Heparin

D. Erythromtcin.

Answer: C

° Watch Video Solution

365. Ribosome


https://dl.doubtnut.com/l/_c2cqAibnErAy
https://dl.doubtnut.com/l/_eJNOdO3KuF6m
https://dl.doubtnut.com/l/_bBJUPkT9tfOZ

A. Consists of one large and two small subunits

B. Contains identical components in prokaryote and eukaryote

C.is the only site of RNA replication

D. has two or three major sites to which tRNA can be bound.

Answer: D

o Watch Video Solution

366. An organic substance bound to and enzyme and essential for its
activity is called
Or
Non-protein part of an enzyme is known as
A. lsoenzyme
B. Coenzyme

C. Apoenzymes

D. Holoenzyme.


https://dl.doubtnut.com/l/_bBJUPkT9tfOZ
https://dl.doubtnut.com/l/_DQ19TIMOAiwD

Answer: B

° Watch Video Solution

367. Richest source of protein is

A. Wheat

B. Sago

C. Soyabean

D. Rice.

Answer: C

° Watch Video Solution

368. Which set is correctly matched ?

A. Lysine, Glycine, Thiamine -Amino acids


https://dl.doubtnut.com/l/_DQ19TIMOAiwD
https://dl.doubtnut.com/l/_EqxxSa6LjKVX
https://dl.doubtnut.com/l/_Ppb08HmD4Ov4

B. Myosin, Oxytocin, Gastrin-Hormones

C. Rennin, Helicase, Hyaluronidase-Enzymes

D. Optic nerve, Oculomotor, Vagus -Sensory nerves.

Answer: C

o Watch Video Solution

369. The figure given below shows three velocity substrate concentration

curves for an enzyme reaction . What do the curves A, B and C depict

respectively ?

-------P-----"—---ﬂﬁ—

-
Il'-

A" -
/ Bf ‘_c._._...--—»f“'--‘------..

'Substralo concentration (S) —»


https://dl.doubtnut.com/l/_Ppb08HmD4Ov4
https://dl.doubtnut.com/l/_eQagBYgzyVcl

A. a-normal enzymes action, b-competitive inhibition,c-noncompetitive

inhibition

B. a-enzyme with an allosteric modulator added, b-normal enzyme

activity, cccompetitive inhibition

C.a-enzyme with an allosteric stimulator,b-competitive inhibition

added, c-normal enzyme reaction

D. a-normal enzyme reaction, b-non-competitive enhibition added c-

allosteric inhibitor add.

Answer: A

o Watch Video Solution

370. Match the items in colour | with items in column Il and choose the

correct option.


https://dl.doubtnut.com/l/_eQagBYgzyVcl
https://dl.doubtnut.com/l/_V1utKowUs5R8

Column-I Column-1I1

(A) Triglyceride (1) Animal hormones

(B) Membrane lipid (2) Feathers and leaves
(C) Steroid (3) Phospholipids
(D) Wax (4) Fat stored in the form

A. a-4,b-3,c-1,d-2

B. a-2, b-3, c-4, d-1

C.a-3,b-4,c-1,d-2

D. a-4,b-1, c-2,d-3

Answer: A

o Watch Video Solution

371. Allosteric modulation is due to inhibition of coenzyme action by

A. Competitive inhibition
B. Substrate concentration

C. Product of reaction


https://dl.doubtnut.com/l/_V1utKowUs5R8
https://dl.doubtnut.com/l/_O6Dx0NAvo1da

D. Non-competitive inhibition.

Answer: C

° Watch Video Solution

372. Name the most abundant elements which occur in nucleic acid

macromolecules

A. CH,ON,S

B.C,ON,S

C.H,OP

D. CH,ON,P

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_O6Dx0NAvo1da
https://dl.doubtnut.com/l/_kZTOT696mqpl

373. Pentoses and hexoses are the most common

Or

The simple polyhydroxy ketone molecule containing 3-7 carbons is a

A. Disacharide

B. Monosaccharide

C. Polysaccharide

D. Dipeptide

Answer: B

o Watch Video Solution

374. Phospholipids are important components of cell membranes

because they

o Watch Video Solution



https://dl.doubtnut.com/l/_AZFNMpEApJo4
https://dl.doubtnut.com/l/_YtVmvjRiPoDP

375.Wax is

A. Ester

B. Cholesterol

C. Acid

D. Monohydric alcohol.

Answer: A

° Watch Video Solution

376. Non-protein part of enzyme is called

A. Prosthetic group

B. Active site

C. Cofactor

D. Catalytic agent.


https://dl.doubtnut.com/l/_o5i1AF0A6cjb
https://dl.doubtnut.com/l/_gDEXAbsI6AXQ

Answer: C

° Watch Video Solution

377. Match the column :

Columnl ColumnlI
a Biological pigments 1 Sodium chloride
b Chemical messengers 2 Steroids
¢ Important constituent of blood 3 Prostaglandins
d Four carbon rings 4 Terpenes

A. a-2, b-4, c-3, d-1

B. a-2, b-1, c-4,d-3

C.a-3,b-4,c-2,d-1

D. a-4,b-3, c-1,d-2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_gDEXAbsI6AXQ
https://dl.doubtnut.com/l/_A4oZObAapbYc

@)

||
378. Given below is the chemical formula of CH3(CH,),, — C — OH

A. Palmitic acid
B. Stearic acid
C. Glycerol

D. Galactose.

Answer: A

° Watch Video Solution

379. Which is mismatched ?

A. Agar-polymer of glucose and sulphur containing carbohydrates

B. Chitin-Polymer of glycosamine

C. Lipopolysaccharides-A complex of lipid and polysaccharide

D. Glycogen -Polymer of glucose.


https://dl.doubtnut.com/l/_ib9IhBqZH7wB
https://dl.doubtnut.com/l/_XQ3Vtq6X0j93

Answer: A

° Watch Video Solution

380. Which one is water soluble vitamin ?

A. Vitamin A

B. Vitamin B

C.Vitamin D

D. Vitamin E

Answer: B

° Watch Video Solution

381. Select the wrong statement wrt the biomolecules


https://dl.doubtnut.com/l/_XQ3Vtq6X0j93
https://dl.doubtnut.com/l/_SBXUqZtwHHyC
https://dl.doubtnut.com/l/_yVucgdEGBFj7

A. Majority of enzymes contain a nonprotein part called prosthetic

group

B. Thylakoids are arranged one above the other like stack of coins

forming a granum

C. Building blocks of lipid are amino acids

D. Cross-over occurs at pachytene stage of meiosis |I.

Answer: C

° Watch Video Solution

382. Match the following with correct combination

Column - I Column - IT

A. Triglycerides 1. Galactose

B. Lactose 2. Glycerol

C.RNA 3. Palmitic acid

D. Bpleats 4. Uracil

E. Beewax 5. secondary structure

A. a-4, b-1, c-5,d-2, e-3


https://dl.doubtnut.com/l/_yVucgdEGBFj7
https://dl.doubtnut.com/l/_E3HimUHYt0tG

B. a-5, b-1, c-4, d-2, e-3

C.a-3,b-1,c-4,d-5, e-2

D. a-2, b-1, c-4, d-5, e-3

Answer: D

° Watch Video Solution

383. In a protein, amino acids are linked by

A. Peptide bonds

B. Glycosidic bonds

C. Hydrogen bonds

D. All the above.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_E3HimUHYt0tG
https://dl.doubtnut.com/l/_pe25SxP3KnRW
https://dl.doubtnut.com/l/_gHFDQ7E27HCt

384.NAD is

A. Nicotinamide adenosine diphosphate

B. Nicotine adenosine adenosine phosphate

C. Nicotinamide adenine dinucleotide

D. None of the above.

Answer: C

o Watch Video Solution

H

|

385. H,N — C — COOAH is general formula of amino acid. Here R stands
|
R

is
A. An amino acid

B. A carboxylic group

C. Avariable group


https://dl.doubtnut.com/l/_gHFDQ7E27HCt
https://dl.doubtnut.com/l/_6iJ7TNevQezI

D. A hydroxyl group.

Answer: C

° Watch Video Solution

386. Prostaglandin is

A. Steroid

B. Carbohydrate

C. Amino acid

D. Fatty acid .

Answer: D

° Watch Video Solution

387. Which one is glucose ?


https://dl.doubtnut.com/l/_6iJ7TNevQezI
https://dl.doubtnut.com/l/_hT0RxaGboj29
https://dl.doubtnut.com/l/_0CJQSgaNG2jC

A C3HyOs

B. C6H1206

C.C55H7O¢

D. CﬁHloOﬁ.

Answer: B

° Watch Video Solution

388. Silk obtained from silkworm is a

A. Fat

B. Cellulose

C. Protein

D. Carbohydrate.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_0CJQSgaNG2jC
https://dl.doubtnut.com/l/_qC9XpjOmXF3q

389. What is laevorotatory

A. Fructose

B. Glucose

C. Maltose

D. Sucrose.

Answer: A

° Watch Video Solution

390. Which is not pyrmidine

A. Guanine

B. Thymine

C. Uracil


https://dl.doubtnut.com/l/_qC9XpjOmXF3q
https://dl.doubtnut.com/l/_DCX6FjrnZsr6
https://dl.doubtnut.com/l/_qMJWW4A9BCLS

D. Cytosine.

Answer: A

° Watch Video Solution

391. Which is not a protein ?

A. a-amylase

B. Nitrogenase

C. Histidine kinase

D. Ribozyme.

Answer: D

° Watch Video Solution

392. Which is least harmful


https://dl.doubtnut.com/l/_qMJWW4A9BCLS
https://dl.doubtnut.com/l/_tmchmtHtGKsO
https://dl.doubtnut.com/l/_rcbXIDO6JVyS

A. Saturated fat

B. Oils

C. Cholesterol

D. Polyunsaturated fats.

Answer: D

o Watch Video Solution

393. Jojoba (Simmondsia) possesses

A. Triglyceride and wax

B. Wax

C. Triglyceride

D. Sterol.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rcbXIDO6JVyS
https://dl.doubtnut.com/l/_7bUufGNZ7dHJ

394. Digestive enzymes are
(a) hydrolases
(b) oxidoreductases
(c) transferases
(d) lyases
A. Hydrolases
B. Transferases

C. Oxidoreductases

D. Ligases.

Answer: A

o Watch Video Solution

395. Expand ELISA


https://dl.doubtnut.com/l/_7bUufGNZ7dHJ
https://dl.doubtnut.com/l/_9sZS65Uo7yYQ
https://dl.doubtnut.com/l/_I23YVDLjCUrm

A. Enzyme linkes inductive assay

B. Enzyme linked ion sorbent assay

C. Enzyme linked immunosorbent assay

D. None of the above.

Answer: C

o Watch Video Solution

396. IAA and serotonin are derived (formed) from which of the following

A. Tyrosine

B. Tryptophan

C. Phenylalanine

D. Glycine.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_I23YVDLjCUrm
https://dl.doubtnut.com/l/_VGo8u7vXeohs

397. Maximum amount of lipid content occurs in

A. Chylomicron

B. VLDL

C.CDL

D. HDL.

Answer: A

° Watch Video Solution

398. Which of the following is not a disaccharide

A. Lactose

B. Sucrose

C. Maltose


https://dl.doubtnut.com/l/_VGo8u7vXeohs
https://dl.doubtnut.com/l/_AeYjm9QHGJrO
https://dl.doubtnut.com/l/_mqwucnHCWJyI

D. Starch.

Answer: D

° Watch Video Solution

399. Which one is not added in detergents

A. Amylase

B. Protease

C. Peptidase

D. Cellulase.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_mqwucnHCWJyI
https://dl.doubtnut.com/l/_Z3riSRt8AK3H

400. The length of DNA molecule greatly exceeds the dimensions of the

nucleus in eukaryotic cell. How is this DNA accommodated

A. DNA-ase digestion

B. Super coiling

C. Elimination of repetitive DNA

D. Deletion of non-essential genes.

Answer: B

o Watch Video Solution

401. About 98 percent of the mass of every living organism is composed

of just six elements including carbon, hydrogen, nitrogen, oxygen and

A.S and Mg

B. Mg and Na

C.CaandP


https://dl.doubtnut.com/l/_ohkaYZVqR3zV
https://dl.doubtnut.com/l/_SQbjRV8tnRAe

D.PandS.

Answer: D

° Watch Video Solution

402. Amount of energy released during hydrolysis of a high energy bond

of ATP is

A. 686000 cal/mol

B. 73000 cal/mol

C. 800 cal/mol

D. 7300 cal/mol.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_SQbjRV8tnRAe
https://dl.doubtnut.com/l/_ESZbBKc3xJhH

403. Which is correct for ADP

A. One high energy bond

B. Two high energy bond

C.Three high energy bonds

D. None of the above.

Answer: A

o Watch Video Solution

404. Which one is absent in honey ?

A. Glucose

B. Lactose

C. Maltose

D. Laevulose.


https://dl.doubtnut.com/l/_Kz2cLgbPDomq
https://dl.doubtnut.com/l/_ZFJKhTZbQlgd

Answer: B

° Watch Video Solution

405. Which one of the following is a polysaccharide?

A. Fructose

B. Glucose

C. Sucrose

D. Cellulose.

Answer: D

° Watch Video Solution

406. Gluconeogenesis is

A. Formation of glycogen


https://dl.doubtnut.com/l/_ZFJKhTZbQlgd
https://dl.doubtnut.com/l/_xGvaVTy2yE73
https://dl.doubtnut.com/l/_cdZBOxfsq9KM

B. Formation of ammonia from glucose

C. Formation of glucose from non-carbohydrate sources

D. Breakdown of glucose.

Answer: C

o Watch Video Solution

407. Read the assertion and reason carefully to mark the correct option
out of the option given below:
Assertion: Arachidic acid is an unsaturated fatty acid
Reason: There are present one or more double bods between carbon
atoms in unsaturated fatty acid

A. if both are true with reason being correct explanation

B. both true but reason is not correct explanation

C. assertion true but reason is wrong

D. and both are wrong


https://dl.doubtnut.com/l/_cdZBOxfsq9KM
https://dl.doubtnut.com/l/_iEMiXxxWIvXl

Answer: D

o Watch Video Solution

408. Consider the following statements :
(A) Coenzyme or metal ion that is tightly bound to enzyme protein is
called pros- thetic group.
(B) A complete catalytic active enzyme with its bound prosthetic group is
called apoen- zyme.
Select the correct option.

A. if both are true with reason being correct explanation

B. both true but reason is not correct explanation

C. assertion true but reason is wrong

D. and both are wrong

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iEMiXxxWIvXl
https://dl.doubtnut.com/l/_9bDAKxdDUmSs

409. Which of the following promotes softening of fruits

A. Polygalacturonase

B. Polyethylene glycol

C. Colchicine

D. Cellulase.

Answer: A

° Watch Video Solution

410. Which of the following statements is/are not true

(A) Glycerol is a 3 carbon alcohol with 3 OH groups that

(B) Waxes are esters formed between a long chain alcohol and saturated
fatty acids

(C) The term protein was coined by Gerardus Johannes Mulder


https://dl.doubtnut.com/l/_9bDAKxdDUmSs
https://dl.doubtnut.com/l/_wUfJ3UmJ4uBH
https://dl.doubtnut.com/l/_YqyKQ0TVkQJP

(D) Agar is an indispensable polysaccharide and it is a complex polymer of
glucose and sulphur-containing carbohydrates

A.a and conly

B.d only

C.aand d only

D.a,b and d only

Answer: B

o Watch Video Solution

411. Read the statements

(a) Element important for production thyroxine is iodine
(b) Vitamin Bg is niacin or nicotinic acid

(c) Fructose is a hexose monosaccharide

(d) Globuiln is a conjugate protein

A.a, b, care correct,d is wrong


https://dl.doubtnut.com/l/_YqyKQ0TVkQJP
https://dl.doubtnut.com/l/_wy6sYN3ejgS0

B. a, c are correct, b, d are wrong

C.a, b are correct, c,d are wrong

D.ais correct, b, c,d are wrong

Answer: B

° Watch Video Solution

412. Benedict reagent test is conducted to confirm presence of

A. Protein

B. Lipid

C. Starch

D. Reducing sugar.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wy6sYN3ejgS0
https://dl.doubtnut.com/l/_8RQZvy0VtInT
https://dl.doubtnut.com/l/_X8BHkmMpZCHD

413. Study the statements and choose the correct answer

Statement a. Amino acids are amphoteric.

Statement b. All amino acids are necessary for our body.

A.a and b are correct

B.a and b are wrong

C.ais correct, b is wrong

D.ais wrong, b is correct

Answer: C

o Watch Video Solution

414. Quarternary structure of protein is

A. Consists of 4 subunits

B.Is eithera or [

C.Is unrelated to its functions


https://dl.doubtnut.com/l/_X8BHkmMpZCHD
https://dl.doubtnut.com/l/_suJTE3qj72Ei

D. Is dictared by primary structure of individual subunits.

Answer: D

o Watch Video Solution

415. Statement 1- Competitive inhibitor is also called as substrate

analogue.

Statement 2- It resembles the enzyme in structure.

A. if both are true with reason being correct explanation

B. both true but reason is not correct explanation

C. assertion true but reason is wrong

D. and both are wrong

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_suJTE3qj72Ei
https://dl.doubtnut.com/l/_rVnwZAeit0pE
https://dl.doubtnut.com/l/_WcHor8p9QV6S

416. Reduction means

A. Loss of electrons

B. Gain of electrons

C. Gain of protons

D. Loss of protons and electrons.

Answer: B

o Watch Video Solution

417. Khapra beetle larvae were raised on basal diet to which was added

increasing amount of cholesterol. The result is shown in the


https://dl.doubtnut.com/l/_WcHor8p9QV6S
https://dl.doubtnut.com/l/_VU0aasUMslOE

accompanying graph. It indicates

- DN

o

Wt. of insect larva
(khapra beetle) mg

0123456
ug cholesterol/g basal diet

A. Cholesterol is an essential dietary requirement

B.Growth of beetle is directly proportional to cholesterol
concentration

C. Cholesterol concentration of 2ug/ g diet is optimum

D. Growth is inhibited when cholesterol concentration exceeds 2ug /g

of diet.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VU0aasUMslOE

418. A metal ion required for normal functioning of an enzyme is

A. Holoenzyme

B. Coenzyme

C. Cofactor

D. Prosthetic group.

Answer: C

o Watch Video Solution

419. Select the correct answer from the following statements :
1. Cutin is fatty acid polymer

2. Starch is glucose polymer

3. Sucrose is monosaccharide

4. maltose is polymer of fructose.

A. 1, 2,3 are correct


https://dl.doubtnut.com/l/_SJkrn7NfZNhF
https://dl.doubtnut.com/l/_D7aX97hGB7cX

B.1and 2 are correct

C.2 and 4 correct

D. 1 and 3 correct.

Answer: B

o Watch Video Solution

420. Select the correct answer from the following for DNA can be

1. A-DNA 2.B-DNA

3.Z-DNA 4.Y-DNA.

A. 1,2 and 3 correct

B.1and 2 are correct

C.2 and 4 correct

D. 1 and 3 correct.

Answer: A

[ -


https://dl.doubtnut.com/l/_D7aX97hGB7cX
https://dl.doubtnut.com/l/_oPf7bcytwHxl

| @J Watch Video Solution

421.In which form does the food transported in plants

A. Fructose

B. Glucose

C. Sucrose

D. Lactose.

Answer: C

° Watch Video Solution

422. Which one is wrongly matched ?

A. Guanine, adenine-Purines

B. Thymine, uracil-Pyrimidines

C. Uracil, cytosine-Pyrimidines


https://dl.doubtnut.com/l/_oPf7bcytwHxl
https://dl.doubtnut.com/l/_ZweMOZy6rLlu
https://dl.doubtnut.com/l/_X9HftTmvFZlu

D. Adenine, thymine- Purines.

Answer: D

o Watch Video Solution

423. Carbohydrates are commonly found as starch in plant storate
organs. Which of the following five properties of starch (A-E) make it
useful as a storage material?

A. Easily translocated

B. chemically non-reactive.

C. easily digested by animals

D. osmotically inactive

E. synthesised during photosynthesis

The useful properties are:-

A. 13,5
B.1and 5

C.2and 3


https://dl.doubtnut.com/l/_X9HftTmvFZlu
https://dl.doubtnut.com/l/_xld87JirwHSW

D.2 and 4.

Answer: D

° Watch Video Solution

424. Organic compound found in most cells is

A. Water

B. Glucose

C. Oxygen

D. Sodium chloride.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xld87JirwHSW
https://dl.doubtnut.com/l/_B2RFGHD0GcB1

425. The ‘lock’ and ‘key’ model of enzyme action illustrates that a

particular enzyme molecule

A.Is destroyed and resynthesised several times

B. Reacts at the same rate in all conditions

C. Interacts with specific type of substrate molecule

D. Forms a permanent enzyme-substrate complex.

Answer: C

o Watch Video Solution

426. The effectiveness of an enzyme is affected least by

A. Temperature

B. Concentration of substrate

C. Concentration of enzyme

D. Original activation energy of the system.


https://dl.doubtnut.com/l/_PHZv4qRszFuM
https://dl.doubtnut.com/l/_KrJt2nw6I3zE

Answer: D

° Watch Video Solution

427.Ribose sugar occurs in

A.RNA and ATP

B. RNA polymerase and ATP

C.RNAonly

D. RNA polymerase, RNA and ATP.

Answer: A

° Watch Video Solution

428.The bond present between AMP + P; and ADP + P, are

A. Phosphoester bonds


https://dl.doubtnut.com/l/_KrJt2nw6I3zE
https://dl.doubtnut.com/l/_deEejO9dbxhD
https://dl.doubtnut.com/l/_kEbzO3iNFUrW

B. Phosphoanhydride bonds

C. Phosphodiester bonds

D. Covalent bonds.

Answer: B

° Watch Video Solution

429. Formation of a peptide bond involves

A. Two amino acids

B. Two monosaccharides

C. A condensation reaction

D.Both A and C.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kEbzO3iNFUrW
https://dl.doubtnut.com/l/_GRkvpd3sIttt
https://dl.doubtnut.com/l/_qG7KmXTlxMXF

430. Enzyme catalysing removal of groups and formation of double bond

are

A. Transferase

B. Ligases

C. Lyases

D. Oxidoreductases.

Answer: C

o Watch Video Solution

431. An essential fatty acids is

A. Palmitic acid

B. Arachidonic acid

C. Stearic acid

D. Arachidic acid.


https://dl.doubtnut.com/l/_qG7KmXTlxMXF
https://dl.doubtnut.com/l/_vfH9JMBbINtw

Answer: B

° Watch Video Solution

432. Holoenzyme is produced by

A. Combined coenzyme and epoenzyme

B. Only prosthetic group

C. Only protein

D. Only cofactor.

Answer: A

° Watch Video Solution

433. Papain produced from

A. Ficus carica


https://dl.doubtnut.com/l/_vfH9JMBbINtw
https://dl.doubtnut.com/l/_DT4VEwwx7mCv
https://dl.doubtnut.com/l/_HtlKva7hv3a0

B. Carica papaya

C. Glycine max

D. Citus reticulata.

Answer: B

° Watch Video Solution

434.Energy is stored in the liver and muscles in the form of

Or

In the muscles carbohydrates are stored in the form of

A. Fat

B. Protein

C. Glycogen

D. Glucose.

Answer: C

[ -


https://dl.doubtnut.com/l/_HtlKva7hv3a0
https://dl.doubtnut.com/l/_ygrUPgyN47qM

| @J Watch Video Solution

435. A nitrogen base is linked to sugar by a glycosidic bond at carbon

number

AT
B.2'
C. 4

D.5'

Answer: A

° Watch Video Solution

436. Among the nitrogenous bases involved in DNA and RNA formation,

the double ring base is :

A. Thymine


https://dl.doubtnut.com/l/_ygrUPgyN47qM
https://dl.doubtnut.com/l/_vZaX5okM5Gdu
https://dl.doubtnut.com/l/_RcmfjVjRXrGZ

B. Cytosine

C. Uracil

D. Guanine.

Answer: D

° Watch Video Solution

437. In human per cent of body weight of carbohydrates, lipids and

proteins respectively is

A.15]17,7
B. 1,15,17
C. 71715

D.17]15,7.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_RcmfjVjRXrGZ
https://dl.doubtnut.com/l/_2FfBQwxgGl46

438. Choose the correct non-protein amino acid

A. Hydroxyproline

B. Cystine

C. Gamma-aminobutyric acid

D. Hydroxylysine.

Answer: C

o Watch Video Solution

439. Which of the followig substances yeild less than 4 Kcal/mol when its
phosphate bond is hydrolysed

A. ADP

B. ATP

C. Creatine phosphate


https://dl.doubtnut.com/l/_2FfBQwxgGl46
https://dl.doubtnut.com/l/_tAnCoroSQk17
https://dl.doubtnut.com/l/_56E3OGDVxRUA

D. Glucose 6-phosphate.

Answer: D

° Watch Video Solution

440. the haeme - protein complexes which act is oxidising agents are

known as

A. Haemoglobin

B. Myoglobin

C. Chlorophyll

D. Cytochrome.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_56E3OGDVxRUA
https://dl.doubtnut.com/l/_hohzg4VhA3aN

441. Which is wrongly matched ?

A. Fungi - chitin

B. Phospholipid - plasma membrane

C. Enzyme - lipopolysaccharide

D. ATP -Nucleotide derivative

Answer: C

o Watch Video Solution

442, An example of non-competitive inhibition is

A. Succinic dehydrogenase by Malonic acid

B. Cytochrome oxidase by cyanide

C. hexokinase by glucose 6-phosphate

D. Carbonic anhydrase by carbon dioxide


https://dl.doubtnut.com/l/_E0Vx0MFCCE3F
https://dl.doubtnut.com/l/_Kpwf4wsrFGzb

Answer: B

° Watch Video Solution

443. Ribose sugar is not a component of

A. AMP

B. ATP

C.DNA

D. RNA.

Answer: C

° Watch Video Solution

444, Nucleotides contain

A. Purine, sugar and phosphate


https://dl.doubtnut.com/l/_Kpwf4wsrFGzb
https://dl.doubtnut.com/l/_F42Xo7p3vW2Q
https://dl.doubtnut.com/l/_xb9WAlfJApzQ

B. Purine, pyrimidine and phosphate

C. Pyrimidine, sugar and phosphate

D. Purine, pyrimidine, sugar and phosphate.

Answer: D

° Watch Video Solution

445, Starch is polymer of

A. Glucose

B. Fructose

C. Maltose

D. Sucrose.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xb9WAlfJApzQ
https://dl.doubtnut.com/l/_a1hQq8BGDHZH
https://dl.doubtnut.com/l/_oNG8ban8l8Vw

446. Prostaglandins are

A. Amino acids

B. Fatty acids

C. Carbohydrates

D. Steroids.

Answer: B

° Watch Video Solution

447. Pentadiplandra brazzeana, the source of sweetest protein is found in

A. Sri Lanka

B. Africa

C. Arabia

D. Australia.


https://dl.doubtnut.com/l/_oNG8ban8l8Vw
https://dl.doubtnut.com/l/_WdKoJoGQMFjR

Answer: B

° Watch Video Solution

448. Where can we find major and minor grooves ?

A. Polypeptide

B. RNA

C.DNA

D. chromatin.

Answer: C

° Watch Video Solution

449. Milk sugar is commonly known as

A. Fructose


https://dl.doubtnut.com/l/_WdKoJoGQMFjR
https://dl.doubtnut.com/l/_lgkUWe5wex03
https://dl.doubtnut.com/l/_jALYu6yQFvs3

B. Glucose

C. Lactose

D. Sucrose.

Answer: C

° Watch Video Solution

450. With reference to enzyme , turn over number means

A. Hour

B. Second

C. Minute

D. Day.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jALYu6yQFvs3
https://dl.doubtnut.com/l/_ay034hFmpSXC
https://dl.doubtnut.com/l/_pFCIhxjrwucn

451. The prosthetic group of a conjugated protein classified as a

glycoprotein is a:

A. Lipids

B. Nucleic acid

C. Metal ions

D. Carbohydrate.

Answer: D

o Watch Video Solution

452. Enzymes which catalyse reaction involving change in the structure of

a molecule are

A. Ligases

B. Isomerases

C. Hydrolases


https://dl.doubtnut.com/l/_pFCIhxjrwucn
https://dl.doubtnut.com/l/_RgWCJcSG66jE

D. Transferases.

Answer: B

° Watch Video Solution

453. Optimum temperature is the temperature at which an enzyme

A. Works at its best

B. Is not destroyed

C. Action is reversed

D. Is inactivated.

Answer: A

o Watch Video Solution

454. Purines are generally abbreviated as


https://dl.doubtnut.com/l/_RgWCJcSG66jE
https://dl.doubtnut.com/l/_1Y1Aw4RWsgj9
https://dl.doubtnut.com/l/_p7ILkFpUxqq8

AR

B.Y

C.C

D. U.

Answer: A

° Watch Video Solution

455. Immunoglobulins are proteins that show a structure

A. Primary

B. Secondary

C. Tertiary

D. Quaternary.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_p7ILkFpUxqq8
https://dl.doubtnut.com/l/_hXTLFlle7mMu

456. Essential-non-essential amino acid is

A. Lysine - Leucine

B. Valine - Tyrosine

C. Methionine - Threonine

D. Alanine - Cystine.

Answer: B

o Watch Video Solution

457. Source of turpentine oil is

A. Bark of Cinchona

B. Lichen

C. Gymnospermous wood


https://dl.doubtnut.com/l/_hXTLFlle7mMu
https://dl.doubtnut.com/l/_81iAXBT2dV8Q
https://dl.doubtnut.com/l/_2aPz1JcAvqBF

D. Algae.

Answer: C

° Watch Video Solution

458. Which one is diaminodicarboxylic amino acid

A. Cystine

B. Cysteine

C. Lysine

D. Aspartic acid.

Answer: A

o Watch Video Solution

459. Which one is a cofactor of carbonic anhydrase ?


https://dl.doubtnut.com/l/_2aPz1JcAvqBF
https://dl.doubtnut.com/l/_up9dgyR3qeSD
https://dl.doubtnut.com/l/_1kl7iXu7NPDs

A. Fe

B.Zn

C.Cu

D. Mg.

Answer: B

o Watch Video Solution

460. Which one is true for ATP

A. ATP is prosthetic group of an enzyme

B. ATP is a coenzyme

C. ATP is an enzyme

D. ATP is the organic ion of enzyme.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1kl7iXu7NPDs
https://dl.doubtnut.com/l/_8GEajNIavV8C

461. Arrange the steps of catalytic action of an enzyme in order and select
the correct option

I. The enzyme releases the products of the reaction and the enzyme is
free to bind to another substrate

Il. The active site of enzyme is in close proximity of the substrate and
breaks the chemical bonds of the substrate

. The binding of substrate induces the enzyme to alter its shape fitting
more tightly around substrate.

VI. The substrate binds to the active site of the enzyme

A ivjiii,ii,i

B. iii,ii,l,iv

C. iv,ii,Liii

D. iii,ivyl,ii.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8GEajNIavV8C
https://dl.doubtnut.com/l/_q2QS0b9p9q3g

462. Find out the wrongly matched pair.

A. Primary metaboiltec Ribose
B. Secondary metabolite - Anthocyanin
C. protein - insulin

D. Cellulose - Heteropolymer

Answer: D

o Watch Video Solution

463. Match the columns and choose the correct combination.

Column | Column 11
a.  Sulphur 1. Chlorophyll
b. Zinc 2

Magnesium 3. Methionine
d. Molybdenum 4

Nitrogenase

@]

Auxin


https://dl.doubtnut.com/l/_q2QS0b9p9q3g
https://dl.doubtnut.com/l/_qA549z3NM3QZ
https://dl.doubtnut.com/l/_ozsona9o2Jiy

A a-1,b-2, c-3,d-4

B.a-3,b-4,c-1,d-2

C.a-3,b-1,c-2,d-4

D. a-2, b-4, c-1,d-3

Answer: B

o Watch Video Solution

464. Amino acid present in histones are

A. Alanine and glycine

B. Serine

C.Lysine and arginine

D. Histidine

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ozsona9o2Jiy
https://dl.doubtnut.com/l/_9CgXNFVFP1c4

465. The lock and key principle is related to

A. Dark reaction

B. Enzyme action

C. Chemical action

D. Hormonal action.

Answer: B

o Watch Video Solution

466. An important essential element is necessary in plants for protein
synthesis

Or

The most important element associated with protoplasm and

proteinaceous materials of plant is


https://dl.doubtnut.com/l/_9CgXNFVFP1c4
https://dl.doubtnut.com/l/_iiUCE3mbOeGG
https://dl.doubtnut.com/l/_YVOHXCJut7If

A. Nitrogen

B. Oxygen

C. Sulphur

D. Potassium.

Answer: A

° Watch Video Solution

467. Quaternary structure is present is

A. Histone

B. Haemoglobin

C. Globulin

D. Potassium.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YVOHXCJut7If
https://dl.doubtnut.com/l/_waf1sFPtMsUo

468. Class of enzymes containing in lysosome

A. Lyases

B. Ligases

C. Hydrolases

D. Transferases.

Answer: C

o Watch Video Solution

469. Which of the amino acids has hydroxyl in its R-group
(a) Serine

(b) Alanine

(c) Arginine

(d) Proline


https://dl.doubtnut.com/l/_waf1sFPtMsUo
https://dl.doubtnut.com/l/_yWfU2KpeF7rp
https://dl.doubtnut.com/l/_ykYiruiNI7Nm

A. Serine

B. Alanine

C. Arginine

D. Proline.

Answer: A

o Watch Video Solution

470. Formation of peptide and glycosidic bonds involves

A. Esterification

B. Hydration

C. Dehydration

D. Acidification.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ykYiruiNI7Nm
https://dl.doubtnut.com/l/_DZIeQSNKVtXs

471. Excess carbohydrates and proteins are stored in body as
(a) Amino acids

(b) Fats

(c) Monosaccharides

(d) Starch

A. Amino acids

B. Fats

C. Monosaccharides

D. Starch.

Answer: B

o Watch Video Solution

472. All enzymes are not proteins. Which of the following enzyme is not a

protein?


https://dl.doubtnut.com/l/_DZIeQSNKVtXs
https://dl.doubtnut.com/l/_NnztlqHSY5cb
https://dl.doubtnut.com/l/_PH6GJUO2Axgi

A. Arylsulphatase

B. Ribozyme

C. Nitroreductase

D. Dehydrogenase.

Answer: B

o Watch Video Solution

473. The amino acid that acts as a carrier of ammonia from skeletal
muscle to liver

(a) Alanine

(b) Arginine

(c) Methionine

(d) Glutamate

A. Alanine

B. Arginine


https://dl.doubtnut.com/l/_PH6GJUO2Axgi
https://dl.doubtnut.com/l/_7lrPGLJyBmUU

C. Methionine

D. Glutamate.

Answer: A

° Watch Video Solution

474. Molecules having charged groups of opposite polarity are

A. Zwitter ions

B. Anions

C. Cations

D. Negative ions.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7lrPGLJyBmUU
https://dl.doubtnut.com/l/_NXHinYyalKS4

475. That an enzyme interacts with specific substrate is explained by

A. Enzyme-substrate concept

B. Destroyed and resynthesized concept

C. Lock and key concept

D. Activation energy concept.

Answer: C

o Watch Video Solution

476. Three of the following statements about enzyme are correct and one

is wrong . Which one is worng ?

A.Enzymes are denatured at high temperature but in certain

exceptional organisms they are effective even at 80° — 90°C

B. Enzymes require optimum pH for maximal activity.

C. Most enzymes are proteins but some are lipids.


https://dl.doubtnut.com/l/_gOqQclD1HH0u
https://dl.doubtnut.com/l/_3yriXuGBBIu0

D. Enzymes are highly specific.

Answer: C

o Watch Video Solution

477. The figure given below shows the conversions of a substrate into

product by an enzyme. In which one of the four options (1-4) the


https://dl.doubtnut.com/l/_3yriXuGBBIu0
https://dl.doubtnut.com/l/_6I3H2tzX9IJx

components of reaction labelled as A, B, C and D are identified correctly -

B
— Product
Progress of Reaction
Options
A B - C D |
, Activation Activati
Transition |Potential  |energy ctivation
(D : energy with
state energy without enzvme
enzyme "y
Potential  |Transition Activation g?;;VﬂﬂOﬂ
) otentia a energy with crey
energy statc NZYME without
Y enzyme
Activati Activation '
ctnvat:o;: h Transition |energy Potential
(3) [enerey wi state without energy
enzyme enzyme
Activation Activation
i ition . ener
@) Potential  |Trans energy with .“gyt
energy state enzyme withou
enzyme

A. Potenital energy, Transition state, Activation energy with enzyme,

Activation energy without enzyme

B. Transition state, Potenital

energy, Activation energy without

enzyme, Activation energy with enzyme,


https://dl.doubtnut.com/l/_6I3H2tzX9IJx

C. Potenital energy, Transition state, Activation energy with enzyme,

Activation energy without enzyme,

D. Activation energy with enzyme, Transition state, Activation energy

without enzyme, Potential energy.

Answer: B

o Watch Video Solution

478. Pick out lectin from those given below:

A. Gum

B. Diterpene

C. Concanavillin

D. Curcumin

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_6I3H2tzX9IJx
https://dl.doubtnut.com/l/_EwcTNR4fvA6D

479. Which is true about enzyme

A. Apoenzyme =Holoenzyme + Coenzyme

B. Holoenzyme = Cofactor+ Coenzyme

C. Coenzyme = Apoenzyme + Holoenzyme

D. Holoenzyme = Coenzyme - Apoenzyme.

Answer: B

o Watch Video Solution

480. Cerebroside is

A. Glyoclipid

B. Sterol

C. Phospholipid


https://dl.doubtnut.com/l/_EwcTNR4fvA6D
https://dl.doubtnut.com/l/_LhOgQZl90HSx
https://dl.doubtnut.com/l/_p1q9P08JNICx

D. Steroid.

Answer: A

o Watch Video Solution

481. Acoording to induces conformation change in enzyme

A. Substrate induces conformation change in enzyme

B. Substrate changes its shaps agter binding

C. Conformational change takes place in substrate

D. There is no conformation change in enzyme.

Answer: A

o Watch Video Solution

482. Which is not a protein/non-protein enzyme


https://dl.doubtnut.com/l/_p1q9P08JNICx
https://dl.doubtnut.com/l/_MA2iX7aMqXch
https://dl.doubtnut.com/l/_D1XwvaqYxQgS

A. Trypsin

B. Collagen

C. Rubisco

D. N-acetylglucosamine.

Answer: D

o Watch Video Solution

483. Select the type of enzyme involved in the following reaction.

S-G+S5 =-S5+85 -G

A. Dehydrogenase

B. Transferases

C. Hydrolase

D. Lyase.

Answer: B



https://dl.doubtnut.com/l/_D1XwvaqYxQgS
https://dl.doubtnut.com/l/_dtRMOpvHBwu0

| ° Watch Video Solution

484. Which of the following enzyme has/have haem as a prosthetic group
(i) Catalase
(ii) Carboxypeptidase
(iii) Succinic dehydrogenase
(iv) Peroxidase
A.(a) ionly
B.(b) i and ii

C.(c) iii and iv

D.(d)iand iv

Answer: A

° Watch Video Solution

485. Select the incorrect statement


https://dl.doubtnut.com/l/_dtRMOpvHBwu0
https://dl.doubtnut.com/l/_AMQpJRg2YozK
https://dl.doubtnut.com/l/_Nw7eCgdYdhwC

A. Amino acids are substituted methanes

B. Glycerol is trihydroxy propane

C. Lysine is neutral amino acid

D. Lecithine is phospholipid.

Answer: C

o Watch Video Solution

486. Select the incorrect statement

A. Collagen is the most abundant protein in the whole animal world.

B. Proteins are heteropolymers made of amino acids

C. Ribozymes are nucleic acids with catalytic power

D. Proteins, nucleic acids and polysaccharides are the only three types

of macromolecules found in living system

Answer: A


https://dl.doubtnut.com/l/_Nw7eCgdYdhwC
https://dl.doubtnut.com/l/_ZS0JrzAfLK6A

° Watch Video Solution

487. An amino acid is

A. Renin

B. Pepsin

C. Cystine

D. Proline.

Answer: D

° Watch Video Solution

488. Which one is polysaccharide ?

A. Lactose

B. Glycogen

C.Sucrose


https://dl.doubtnut.com/l/_ZS0JrzAfLK6A
https://dl.doubtnut.com/l/_65QNZGM1XRJr
https://dl.doubtnut.com/l/_DybcZl3N46dQ

D. Maltose.

Answer: B

° Watch Video Solution

489, Structural lipids of cell membrane are

A.Simple lipid

B. Chromolipid

C. Phospholipid

D. Steroid.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DybcZl3N46dQ
https://dl.doubtnut.com/l/_bjHG9u97jgKs

490. Which of the following is an

homopolysaccharide?

A. Starch

B. Lignin

C.Inulin

D. Suberin.

Answer: S

example

of

a

typical

o Watch Video Solution

491. Ribose is

A. Monosaccharide

B. Disaccharides

C. Polysaccharide

D. Heteropolymer.


https://dl.doubtnut.com/l/_gImylH5Ksa8A
https://dl.doubtnut.com/l/_3cz1lXBMP70z

Answer: A

° Watch Video Solution

492. Which is not true about coenzyme and prosthetic group?
(a) Both are required for enzyme action
(b) Both are separated from enzymes
(c) Both are organic compounds
(d) Both are not polypeptides
A. Both are required for enzyme action
B. Both are separated from enzymes

C. Both are organic compounds

D. Both are not polypeptides.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3cz1lXBMP70z
https://dl.doubtnut.com/l/_jXEqGidbr83v
https://dl.doubtnut.com/l/_z0xWz6008f6X

493. At isoelectric point, a protein has

A. No net charge

B. Negative charge

C. Positive charge

D.Both B and C.

Answer: A

o Watch Video Solution

494. A linear polymeric biomolecule with reducing and non-reducing ends

is

A.RNA

B. DNA

C. Amylose

D. Protein.


https://dl.doubtnut.com/l/_z0xWz6008f6X
https://dl.doubtnut.com/l/_05vHL21ls2ER

Answer: C

° Watch Video Solution

495. Polymer of sucrose is

A. Cellulose

B. Starch

C. Glycogen

D. Fluka Ficoll.

Answer: D

° Watch Video Solution

496. Nicotine and cocaine are

A. Peptides


https://dl.doubtnut.com/l/_05vHL21ls2ER
https://dl.doubtnut.com/l/_LcPRmZmMm24y
https://dl.doubtnut.com/l/_HRWz19JzJroI

B. Tannins

C. Alkaloids

D. Resin.

Answer: C

° Watch Video Solution

497. Protein quality depends upon

A. Essential amino acids

B. Isoelectric point

C. Coagulability

D. Quarternary structure.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HRWz19JzJroI
https://dl.doubtnut.com/l/_kQrAx5wzj47q
https://dl.doubtnut.com/l/_CEmmqnTANS57

498. Prostaglandins are
(a) Simple proteins
(b) Conjugated proteins
(c) Saturated fatty acids
(d) Unsaturated fatty acids
A. Simple proteins
B. Conjugated proteins

C. Saturated fatty acids

D. Unsaturated fatty acids.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CEmmqnTANS57

499. Which is correctly identified along with its function

(1) b- uracil, a component of DNA
(2) a- lecithin, a component of cell membrane
(3) b - adenine a nucleotide that makes up nucleic acid
(4) a- triglyceride a major source of energy
A. b- uracil, a component of DNA
B. a- lecithin, a component of cell membrane

C.b - adenine a nucleotide that makes up nucleic acid

D. a- triglyceride a major source of energy.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_sAvFzhajlsEs

500. The curve given below show enzymatic activity with relation to three

conditions (pH, temperature and substrate concentration)

S

Y-

X-axis

What do the two axises (x and y) represent

A X-axis Y-axis
" A Substrate concentratration Enzyme activity
B X-axis Y-axis
B Enzymatic activity Temperature
c X-axis Y-axis
" C Enzymeactivity pH
5 X-axis Y-axis

D Temperature Enzyme activity


https://dl.doubtnut.com/l/_sAvFzhajlsEs
https://dl.doubtnut.com/l/_2GBfVbuedNdT

Answer: D

° Watch Video Solution

501. Major function of mineral Magnesium is

A. Formation of bones

B. Maintenace of acid-base balance

C. Storing of energy

D. Activator of enzymes.

Answer: A

° Watch Video Solution

502. Steroids are

A. Lipids


https://dl.doubtnut.com/l/_2GBfVbuedNdT
https://dl.doubtnut.com/l/_KEdk1yeLKH1E
https://dl.doubtnut.com/l/_kQ6tUF9YFDe4

B. Proteins

C.Vitamins

D. Carbohydrate.

Answer: A

° Watch Video Solution

503. Which of the following sugars cannot split into further groups by

hydrolysis ?

A. Glucose

B. Sucrose

C. Lactose

D. Maltose.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kQ6tUF9YFDe4
https://dl.doubtnut.com/l/_TEy4o07a22PP

504. An apoenzyme is a

A. Protein

B. Amino acid

C.Vitamin

D. AGU.

Answer: A

o Watch Video Solution

505. Assertion : Enzymes lower the activation energy of the reactant

molecule to make its transition into product easier.

Reason : Enzymes are highly substrate specific

A. if both are true with reason being correct explanation

B. both are true but reason is not correct explanation


https://dl.doubtnut.com/l/_TEy4o07a22PP
https://dl.doubtnut.com/l/_BvFjha2D3oj7
https://dl.doubtnut.com/l/_lOFJQuwIAvYk

C. assertion is true but reason is wrong

D. and both are wrong

Answer: B

° Watch Video Solution

506.In a 50 g living tissue, the amount of water would be

A.15-25g
B.25-30g
C.35-45g

D.70-90 g.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lOFJQuwIAvYk
https://dl.doubtnut.com/l/_PJTGjphZWMQ0

507. Which is present in very little quantity in the body ?

A K

B. Ca

C. Mg

D. Cu.

Answer: D

o Watch Video Solution

508. Given below is the diagrammatic representation of one of the
categories of small molcular weight organic compounds in the living

tissues. Identify the category shown and the one blank component "X" in


https://dl.doubtnut.com/l/_K7GU8u6w2pyM
https://dl.doubtnut.com/l/_fj7NvoTjj9G1

HOCH,, X

OH OH

A. Cholesterol - Guanine
B. Amino acid - NH,
C. Nucleotide - Adenine

D. Nucleoside - Uracil.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_fj7NvoTjj9G1

509. Which one is the most abundant protein in the animals world?

A. Trypsin

B. Haemoglobin

C. Collagen

D. Insulin.

Answer: C

o Watch Video Solution

510. Which one out of A-D given below correctly represents the structural

formula of a basic amino acid ?


https://dl.doubtnut.com/l/_W1nHlCcYVpUU
https://dl.doubtnut.com/l/_MPMR6bhC4pp6

° Watch Video Solution

511. Which is not true of enzymes ?

A. They act on specific substrate

B. They are made of fat and substrate

C. They act at specific temperature

D. They act at specific pH.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_MPMR6bhC4pp6
https://dl.doubtnut.com/l/_4ZKEDYoFtFL8

512. Name the polysaccharide which represents the polymeric structure of

B-D glucose units.

A. Starch

B. Glycogen

C.Sucrose

D. Cellulose.

Answer: D

o Watch Video Solution

513. Simple stronge protein that coagulates upon
heating but remains soluble in dilute salt solution

is correctly ecmaplified by

A. Globulin


https://dl.doubtnut.com/l/_4ZKEDYoFtFL8
https://dl.doubtnut.com/l/_2bzLgBGxGqDC
https://dl.doubtnut.com/l/_7JCbvcYymwHE

B. Albumin

C. Histone

D. Collagen.

Answer: B

° Watch Video Solution

514.Inulin is a

A. Lipid

B. Carbohydrate

C. Protein

D. Nucleic acid.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7JCbvcYymwHE
https://dl.doubtnut.com/l/_iq12SkbndUfS
https://dl.doubtnut.com/l/_C2lbCiMTufVr

515. Higher animals cannot synthesize few fatty acids which are very
essential for their growth and development. These fatty acids are typically
(a) Saturated
(b) Branched
(c) Unsaturated
(d) Cyclic

A. Saturated

B. Branched

C. Unsaturated

D. Cyclic.

Answer: C

o Watch Video Solution

516. Thermolabile protein part of enzyme is

(a) Apoenzyme


https://dl.doubtnut.com/l/_C2lbCiMTufVr
https://dl.doubtnut.com/l/_kUYbOAzpbJMv

(b) Proenzyme

(c) Holoenzyme

(d) Isoenzyme

A. Apoenzyme

B. Proenzyme

C. Holoenzyme

D. Isoenzyme.

Answer: A

o Watch Video Solution

517. Which is used for staining lipids?
(a) Rhodamine

(b) lodine

(c) Ethidium bromide

(d) Sudan Red


https://dl.doubtnut.com/l/_kUYbOAzpbJMv
https://dl.doubtnut.com/l/_b0SVvnssKehU

A. Rhodamine

B. lodine

C. Ethidium bromide

D. Sudan Red.

Answer: D

o Watch Video Solution

518. Which biomolecule is correctly charaterised

A. Lecithin - Phoshorylated glyceride found in cell membrane

B. Palmitic Acid - An unsaturated fatty acids with 18 carbon atoms

C. Adenylic Acid - Adenosine with glucose phosphate molecule

D. Alanine Amino Acid - Contains an amino group and an acid group

anywhere in the molecule.

Answer: A


https://dl.doubtnut.com/l/_b0SVvnssKehU
https://dl.doubtnut.com/l/_EHdbDhZEa7KO

° Watch Video Solution

519. Inhbition of acetylcholine by DFP (Diisorpropyl-fluorophosphate) is an

example of

A. Competitive inhibition

B. Non - competitive inhibition

C. Non - competitive irreversible inhibition

D. Allosteric inhibition.

Answer: C

o Watch Video Solution

520. Nitrogen base + Pentose sugar + Phosphate group is

A. Nucleoside

B. Nucleic acid


https://dl.doubtnut.com/l/_EHdbDhZEa7KO
https://dl.doubtnut.com/l/_xJm9Wk6tYBqv
https://dl.doubtnut.com/l/_1cEa04EaOn5l

C. Pyrimidine

D. Nucleotide.

Answer: D

° Watch Video Solution

521. Which fatty acid is liquid at room temperature

A. Palmitic acid

B. Stearic acid

C. Arachidic acid

D. Linoleic acid.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1cEa04EaOn5l
https://dl.doubtnut.com/l/_sF4W62skgyOc

522. Chief energy food of cell is

A. Nucleotides

B. Proteins

C. Carbohydrates

D. Vaculose.

Answer: C

o Watch Video Solution

523. Which of the following is a secondary metabolit as well as a drug ?

A.Vinblastine

B. Abrin

C. Ricin

D. Carotenoids


https://dl.doubtnut.com/l/_22eIbuz26ZEw
https://dl.doubtnut.com/l/_weojQP9iYPOh

Answer: A

° Watch Video Solution

524. Match the following and choose the correct combination from the

option given

Columa I Column IT

(Organic Compound) (Example)

A. Fatty acid 1. Glutamic acid
B. Phospholipid 2. Tryptophan
C. Aromatic amino acid 3. Lecithin

D. Acidic amino 4. Palmitic acid

A.a-1,b-2,c-3,d-4

B.a-4,b-3,c-2,d-1

C.a-2,b-3,c-4,d-1

D.a-3,b-4,c-1,d-2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_weojQP9iYPOh
https://dl.doubtnut.com/l/_rF5hx5kV8y7e

525. Choose the correct combination

Columnl ColumnlII
a Carbohydrates 1 Trypsin
b Protein 2 Cholesterol
¢ Nucleic acid 3 Inulin
d Lipid 4 Adenylic acid

A1-b,2-d,3-a,4-c

B.1-b,2-¢,3-d,4-a

C.1-¢,2-d,3-a,4-b

D.1-d,2-a,3-b,4-c

Answer: A

o Watch Video Solution

526. Which is a structural polysaccharide ?

A. Glycogen

B. Chitin


https://dl.doubtnut.com/l/_RpYh0fkNbfvv
https://dl.doubtnut.com/l/_miRfgrN8fvZv

C. Keratin

D. Pectin.

Answer: B

o Watch Video Solution

527.Reducing sugars are

A. Glycogen

B. Sucrose

C. Lactose

D. All the above.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_miRfgrN8fvZv
https://dl.doubtnut.com/l/_wQU5YB7oivhO

528. The molecules that are well recognized as biocatalysts in addition to

enzymes are

A. Polysaccharides

B. RNAs

C. Fatty acids

D. None of the above.

Answer: B

o Watch Video Solution

529. Which of the following is a homopolysaccharide?

A. Pectin

B. Heparin

C. hyaluronic acid

D. Inulin.


https://dl.doubtnut.com/l/_HFauwxkf6iO7
https://dl.doubtnut.com/l/_o2Up7GWFdBXk

Answer: D

° Watch Video Solution

530. Select the option having all the correctly mathced pairs.
A. Alkaloids (i) Carotenoids , Anthocyanin

B. Pigments (ii) Vinblastin, curcumin
C.Drugs  (iii) Morphine, Codeine

A a-ii,b-iii,c-i
B.a-i,b-iii,c-ii
C.a-i,b-ii,c-iii
D.a-iii,b-i,c-ii
Answer: D

° Watch Video Solution

531. Cholesterol belongs to which of the following groups?


https://dl.doubtnut.com/l/_o2Up7GWFdBXk
https://dl.doubtnut.com/l/_NV5zVOE6VQmd
https://dl.doubtnut.com/l/_Q58fxazoqxq7

A. Steroid

B. Neutral fats

C. Waxes

D. Phospholipid.

Answer: A

o Watch Video Solution

532. The alpha helices and beta sheets are the example of which level of

protein organization

A. (a) Primary structure

B. (b) Secondary structure

C. (c) Tertiary structure

D. (d) Quaternary structure.

Answer: B



https://dl.doubtnut.com/l/_Q58fxazoqxq7
https://dl.doubtnut.com/l/_paPUc5d8zFbn

| ° Watch Video Solution

533. The anomeric carbon in D(+) glucose is

A.Ch

B.C

C.Cy

D. None of the above.

Answer: A

° Watch Video Solution

534. Histones are present in

A. Cell membrane

B. Lysosomes

C. Nucleosomes


https://dl.doubtnut.com/l/_paPUc5d8zFbn
https://dl.doubtnut.com/l/_8g75Z9QpDnT1
https://dl.doubtnut.com/l/_ptdpV4sjWmh8

D. Sphaerosomes.

Answer: C

° Watch Video Solution

535. Which is a carbohydrate having S-repeated units

A. (a) Pectin

B. (b) Lignin

C. (c) Starch

D. (d) Cellulose.

Answer: D

o Watch Video Solution

536. The fod is stored in plants in the form of


https://dl.doubtnut.com/l/_ptdpV4sjWmh8
https://dl.doubtnut.com/l/_Tap9bHMLvSN8
https://dl.doubtnut.com/l/_EDe2Oy0Hb5K3

A. Starch

B. Maltose

C. Inulin

D. Lactose.

Answer: A

o Watch Video Solution

537. Which is a coenzyme

A. Protein

B.NAD™

C.Zinc

D. Copper.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_EDe2Oy0Hb5K3
https://dl.doubtnut.com/l/_LFGlv0DZGS7A

538. NADP " is

A. An enzyme

B. part of RNA

C. A coenzyme

D. Part of soluble RNA.

Answer: C

o Watch Video Solution

539. Identify the aromatic amino acid from the given option.

A. Tyrosine

B. Methionine

C.Valine


https://dl.doubtnut.com/l/_LFGlv0DZGS7A
https://dl.doubtnut.com/l/_9oaGnuj1FaOX
https://dl.doubtnut.com/l/_AoJVI2MJ3AsN

D. Isoleucine.

Answer: A

° Watch Video Solution

540. |dentify the aromatic amino acid from the given option.

A.C-O

B.C-C

C.C-N

D. P-O.

Answer: D

° Watch Video Solution

541. DNA strands are joined by


https://dl.doubtnut.com/l/_AoJVI2MJ3AsN
https://dl.doubtnut.com/l/_GFXIjDuSzU1X
https://dl.doubtnut.com/l/_pvi5Wi83Yr9A

A. Oxygen bonds

B. Hydrogen bonds

C. Carbon bonds

D. Nitrogen Bonds.

Answer: B

o Watch Video Solution

542. Alanine is

A. Basic

B. Mono- amino dicarboxylic

C. Sulphur containing

D. Monoamino monocarboxylic.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pvi5Wi83Yr9A
https://dl.doubtnut.com/l/_ba9RZj25k4CC

543. Which of the following is false with respect to prosthetic groups ?

A. Proteins

B. Non - proteins

C. metal compounds

D. Tightly bound to enzymes

Answer: A

o Watch Video Solution

544. Which one is wrong about starch

A. Starch is polymer of alpha-glucose

B. It has amylose and amylopectin

C. Amylose is linear with 1, 4-glycosidic linkages


https://dl.doubtnut.com/l/_ba9RZj25k4CC
https://dl.doubtnut.com/l/_lPggDpGiwLAL
https://dl.doubtnut.com/l/_d66pT7lHhPRJ

D. Amylopectin is straight chain with 1, 4-glycosidic linkages.

Answer: D

° Watch Video Solution

545. Polysaccharide monomers are linked by

A. Peptide bonds

B. Glycosidic bonds

C. Hydrogen bonds

D. Phosphodiester bonds.

Answer: B

o Watch Video Solution

546. Which one conteins only secondary metabolites


https://dl.doubtnut.com/l/_d66pT7lHhPRJ
https://dl.doubtnut.com/l/_7zQDp95c0alv
https://dl.doubtnut.com/l/_eNt6TXST4scZ

A. Abrin, cellulose, arginine, tyrosine

B. Glycine, gums, serine, diterpenes

C. Carotenoids, phenylalanine, curcumin, rubber

D. Concanavalin-A, morphine, cocaine, vinblastin.

Answer: D

o Watch Video Solution

547. Assertion : All proteinaceous enzymes have a three dimensional
structure
Reason : The secondary structure of protein is according to amino
acids present inside the polypeptide
A. if both are true with reason being correct explanation
B. both are true but reason is not explanation

C. assertion true but reason is wrong

D. and both are wrong


https://dl.doubtnut.com/l/_eNt6TXST4scZ
https://dl.doubtnut.com/l/_Squ3qloAvNoO

Answer: B

° Watch Video Solution

548. Assertion : Glutamine contains amide group

Reason : Isoelectric point of glutamine is 7.

A. if both are true with reason being correct explanation

B. both are true but reason is not explanation

C. assertion true but reason is wrong

D. and both are wrong

Answer: C

° Watch Video Solution

549. A phosphoglyceride is always made up of


https://dl.doubtnut.com/l/_Squ3qloAvNoO
https://dl.doubtnut.com/l/_WPdjlO5mPYNL
https://dl.doubtnut.com/l/_Lp96lHJEZF8h

A. A saturated or unsaphated fatty acid esterified to a phosphate

group which is also attached to a glycerol molecule

B. Only a saturated fatty acid esterified to a glycerol molecule to which

a phoshate group is also attached

C.Only an unsaturated fatty acid esterified to a glycerol molecule to

which a phosphate group is also arrached

D.A saturated or unsaturated fatty acid esterified to a flycerol

molecule to which a phosphate group is also attached.

Answer: D

o Watch Video Solution

550. Transition state structure of the substrate fomed during an

enzymatic reaction is

A. Permanent and stable


https://dl.doubtnut.com/l/_Lp96lHJEZF8h
https://dl.doubtnut.com/l/_bfghV3BkBSMv

B. Transient but stable

C. Permanent but unstable

D. Transient and unsable.

Answer: D

° Watch Video Solution

551. The essential chemical components of many coenzymes are

A. Vitamins

B. proteins

C. Nucleic acids

D. Carbohydrates.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_bfghV3BkBSMv
https://dl.doubtnut.com/l/_lcMuhlI1P8u3
https://dl.doubtnut.com/l/_Ufkv5IqHxmeD

552. Macro molecule chitin is

A. Simple polysaccharide

B. Nitrogen containing polysaccharide

C. Phosphorus containing polysaccharide

D. Sulphur containing polysaccharide.

Answer: B

o Watch Video Solution

553. The figure shows a tetrapeptide hypothetical portion of a protein

with parts labeleld a-d. Which one of the following option is correct ?

CH,— COOH
!
- CH,

| | |
CH,OH THZ C|H2 (|:1-[2
|

—HN—CH— CO—NH—CH —CO —NH — CH — CO — HN — CH— CO—
a b c d

A. ciis an aromatic amino acid -tyrosine


https://dl.doubtnut.com/l/_Ufkv5IqHxmeD
https://dl.doubtnut.com/l/_uBGwVQK4wRMl

B. a is sulphur containing amino acid and d is N-terminal amino acid

C.a is sulphur containing amino acid -methionine

D.d is acidic amino acid -glutamic acid.

Answer: D

° Watch Video Solution

554. Uridine present only in RNA is a

A. Uridine present only in RNA is

B. Nucleotide

C. Purine

D. Pyrimidine

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uBGwVQK4wRMl
https://dl.doubtnut.com/l/_1dnTTq99ix5c
https://dl.doubtnut.com/l/_p91xMnRE1UI3

555. Which is wrong about enzymes

A. Enzymes are mostly proteins but some are lipids also

B. Enzymes are highly specific

C.Enzymes require optimum pH and temperature for maximum

activity

D. Enzymes are denatured at high temperature.

Answer: A

° Watch Video Solution

556. Select the aromatic amino acids : (a) Tyrosine (b) Valine (c ) Lysine (d)

Tryptophan (e ) Serine.

A.aand d only

B.a,dand e

C.cand d only


https://dl.doubtnut.com/l/_p91xMnRE1UI3
https://dl.doubtnut.com/l/_M3jCdIrZzZuF

D.b and d only.

Answer: A

° Watch Video Solution

557. Pick out wrong statement

A. Proteins are linear chains of amino acids linked by peptide bonds

B. Cellulose is a homopolymer

C. Inulin is polymer of glucose

D. RuBisCO is the most abundant protein in the whole biosphere

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_M3jCdIrZzZuF
https://dl.doubtnut.com/l/_jwdge1PvSzSu

558. Except blood, the cells of connective tissue secrete certain

substances that act as matrix. These substances are

A. Conjugated proteins

B. Signalling molecules

C. Cholesterol

D. Modified polysaccharides

Answer: D

o Watch Video Solution

559. Match the columns and find the right option

Protein Function
a Collagen 1 Glucose transport
b Trypsin 2 Hormone
¢ Insulin 3 Intercellular ground substance
d GLUT-4 4 Enzyme

A. a-3,b-4, c-2,d-1


https://dl.doubtnut.com/l/_iTHd5MVCIiFC
https://dl.doubtnut.com/l/_tTpOwOLy12iw

B.a-4,b-1,c-2,d-3

C.a-2,b-4,c1,d-3

D. a-3, b-4,c-1,d-2

Answer: A

° Watch Video Solution

560. Starch is polymer of

A. Maltose

B. Fructose

C. Sucrose

D. Amylose and amylopectin.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tTpOwOLy12iw
https://dl.doubtnut.com/l/_saEVPZ7hDvqG
https://dl.doubtnut.com/l/_zTJzUEGuIVo0

561. Linoleic is unsaturate fatty acid whose content is highest in

A. Cotton oil

B. Sunflower oil

C. Coconut oll

D. Groundnut oil.

Answer: B

o Watch Video Solution

562. Product of an enzyme catalysed reaction can act as an inhibition of

the reaction. It is

A. Feedback inhibition

B. Repression

C. Non-competitive inhibition

D. Competitive inhibition.


https://dl.doubtnut.com/l/_zTJzUEGuIVo0
https://dl.doubtnut.com/l/_OSEyKHyXB9Jw

Answer: A

° Watch Video Solution

563. Name the most abundant protein in animal world.

A. Ribozyme of plants and collagen of animals

B. RuBisCO of plants and collagen of animals

C. PEPcase of plants and keratin of animals

D. Alcohol dehydrogenase of plants and melenin of animals.

Answer: B

o Watch Video Solution

564. In which of the following amino acids, R-group contains sulphur?

A. Methionine


https://dl.doubtnut.com/l/_OSEyKHyXB9Jw
https://dl.doubtnut.com/l/_MNnhN5ZEnJpe
https://dl.doubtnut.com/l/_LeZlT478TLee

B. Alanine

C. Tryptophan

D. Phenylalanine

Answer: A

° Watch Video Solution

565. Which of the following sugars connot split into further groups by

hydrolysis

A.Ribose

B. Maltose

C. Sucrose

D. Lactose.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_LeZlT478TLee
https://dl.doubtnut.com/l/_RU1JyyRn7bA4

566. In how many interlocking rings are the carbon atoms arranged in a

steroid molecule

Al
B.2
C.3

D.4

Answer: D

o Watch Video Solution

567. identify the incorrect match between protein and its role

A. keratin - Structural component of hair
B. Immunoglobins-Protection of body against diseases

C. Haemoglobin - Transport of oxygen in muscles


https://dl.doubtnut.com/l/_RU1JyyRn7bA4
https://dl.doubtnut.com/l/_LQ7MepTAum2d
https://dl.doubtnut.com/l/_0189oLzJCvM3

D. Thrombin - Blood clotting.

Answer: C

o Watch Video Solution

568. Which of the following statements regarding fats is true

A. Arachidonic acid has 20 carbons excluding the carbonyl carbon

B. Glycerol is trihydroxy propane

C. Palmitic acid has 18 carbons including the carboxyl carbon

D. Oils have higher melting point than fats

Answer: B

o Watch Video Solution

569. Coenzymes NAD and NADP contain the vitamin


https://dl.doubtnut.com/l/_0189oLzJCvM3
https://dl.doubtnut.com/l/_yaJpFBWEWotz
https://dl.doubtnut.com/l/_7FFfhsN2ewzp

A. Niacin

B. Biotin

C. Thiamine

D. Vitamin Bjs

Answer: A

o Watch Video Solution

570. Which of the following secondary metabolites are wrongly matched
with their categories?

A. Toxin - Ricin

B. Drug - Curcumin

C. Alkaloid - Codeine

D. Lectin - Abrin

A.1and 2 only

B.2 and 3 only


https://dl.doubtnut.com/l/_7FFfhsN2ewzp
https://dl.doubtnut.com/l/_v3NS3K7hm32A

C.2and 4 only

D.3 and 4 only

Answer: C

o Watch Video Solution

571. Match the column-l and column-li

Column I
(7) Viroid
(i1)Cell
(44¢) Virus
(iv) Triple helical structure of collagen
A. G. N. Ramachandran
B. Anton von Leeuwenhoek

C. Mathias Schleiden

D. Theoder Schleiden

Answer: A

Column IT
(a)Ramachandran
(b) Leewenhoek
(¢)T.O.Diener
(d)lvanowsky

l ﬂ Watch Video Solution



https://dl.doubtnut.com/l/_v3NS3K7hm32A
https://dl.doubtnut.com/l/_tI2D2f88rwzR

572. Match the following and choose the correct combination from the

option given

I IT

Nitrogen base 1 RNA
Nucleoside 2 Thymidylic acid
Nucleotide 3 Cytidine

Nucleic acid 4 Uracil

S 2

QL O

A.a-1,b-2,c-3,d-4

B.a-1,b-3,c-2,d-4

C.a-4,b-3,c-2,d-1

D.a-4,b-1,c-2,d-3

Answer: C

o Watch Video Solution

573. Select the option whih is not correct with respect the enzyme action.


https://dl.doubtnut.com/l/_tI2D2f88rwzR
https://dl.doubtnut.com/l/_rX6oeSh8hzzn
https://dl.doubtnut.com/l/_NXlG8al3xjFW

A. Addition of lot of succinate does not reverse inhibition of succinic

dehydrogenase by malonate

B. A non-competitive inhibition binds the enzyme at a sight distinct

from that which binds the substrate

C. Malonate is a competitive inhibitor of succinic dehydrogenase

D. Substrate binds with the enzyme at its active site.

Answer: A

° Watch Video Solution

574. Which structure level enables proteins to function as enzymes

A. Primary

B. Secondary

C. Tertiary

D. Quarternary.


https://dl.doubtnut.com/l/_NXlG8al3xjFW
https://dl.doubtnut.com/l/_TGAxLvPcjyeg

Answer: C

° Watch Video Solution

575. An organic non-protein cofactor which is easily suparable from

apoenzyme is called

A. Prosthetic group

B. Coenzyme

C. Alloenzyme

D. All the above.

Answer: B

° Watch Video Solution

576. Adenylic acid is


https://dl.doubtnut.com/l/_TGAxLvPcjyeg
https://dl.doubtnut.com/l/_8JRIrZVTGDW4
https://dl.doubtnut.com/l/_gMHa7tEpmkkc

A. Nitrogen base

B. Nucleoside

C. Nucleotide

D. Amino acid.

Answer: C

o Watch Video Solution

577. A nitrogenous base is linked to the pentose sugar through :

A. Hydrogen bond

B. Glycosidic bonds

C. Phosphodiester bond

D. Peptide bonds.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gMHa7tEpmkkc
https://dl.doubtnut.com/l/_QmKqcrezMzyh

578. Observe the two structural farmulae. They are

CHL,ON CH,0H
| UM
e S
t' On i COH {
A f t O OH ._é/
i R
A. lsomers
B. Epimers
C. Anomers

D. All the above.

Answer: C

o Watch Video Solution

579. Fish proteins are nutritionally superior to most vegetable proteins

because they are rich in


https://dl.doubtnut.com/l/_QmKqcrezMzyh
https://dl.doubtnut.com/l/_gzq3bmhxKhWj
https://dl.doubtnut.com/l/_i2NWnNkfNgn6

A. All the 20 amino acids

B. Essential amino acids

C. Peptide bond

D. Polypeptides.

Answer: B

o Watch Video Solution

580. A stretch of DNA consisting of 10-20 bases is most appropriately be

called as :

A. Polynucleotide

B. Nucleotide

C. Nucleoside

D. Oligonucleotide.

Answer: D



https://dl.doubtnut.com/l/_i2NWnNkfNgn6
https://dl.doubtnut.com/l/_fwgNtjlECNWA

| o Watch Video Solution

581. DNA and RNA comprise of

A. Sugar, phosphate, base

B. Sugar, phosphate

C. Base, phosphate

D. Sugar, base.

Answer: A

o Watch Video Solution

582. Which of the following options consist of nonessential amino acids

A. Valine, leucine, glycine, alanine

B. Glycine, serine, proline, glutamin acid

C. proline, aspartic acid, glutamic acid, methionine


https://dl.doubtnut.com/l/_fwgNtjlECNWA
https://dl.doubtnut.com/l/_ZLEhQpCyaCOO
https://dl.doubtnut.com/l/_knBBkhFrJc97

D. Cysteine, tyrosine, alanine, isoleucine.

Answer: B

° Watch Video Solution

583. Proteins which help other proteins to fold properly are called

A. Chaperons

B. Actins

C. Porins

D. Synthases.

Answer: A

o Watch Video Solution

584.The linkage in disaccharide is


https://dl.doubtnut.com/l/_knBBkhFrJc97
https://dl.doubtnut.com/l/_qdWQcNjJZMDI
https://dl.doubtnut.com/l/_y6hwydYPesvN

A. glycosidic

B. Ester

C. Amide

D. Phosphodiester.

Answer: A

° Watch Video Solution

585. This is wax

A. Palmitic acid

B. Ethyl palmitate

C. Hexacosyl palmitate

D. Sodium stearate.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_y6hwydYPesvN
https://dl.doubtnut.com/l/_ARwAm72UJfSa

586. Not all proteins have a

A. Primary structure

B. Secondary structure

C. Tertiary structure

D. Quaternary structure.

Answer: D

o Watch Video Solution

587. A tripeptide conteins

A. 3 amino acid

B. 4 amino acid

C.6 amino acid


https://dl.doubtnut.com/l/_ARwAm72UJfSa
https://dl.doubtnut.com/l/_nbgVIVKUBY1s
https://dl.doubtnut.com/l/_FTK0h7hPkSLQ

D. 2 amino acid.

Answer: A

° Watch Video Solution

588. How many phosphodiester bonds are there in ATP

A3

B.2

C.1

D.O

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FTK0h7hPkSLQ
https://dl.doubtnut.com/l/_KwkHE8fERWsz

589. 98% of all living organisms is made up of just following number of

elements.

A. 25

B.6

C.50

D. 100

Answer: B

° Watch Video Solution

590. Chitin is

A. Amino acid

B. Polysaccharide

C. Protein

D. Oligosaccharide.


https://dl.doubtnut.com/l/_Z6xBQm5vLfrC
https://dl.doubtnut.com/l/_zbtDS1M3ZqyH

Answer: B

° Watch Video Solution

591. Name the most abundant protein in animal world.

A. Collagen

B. Haemoglobin

C. Tryspin

D. Insulin.

Answer: B

° Watch Video Solution

592. Cellulose is a polymer of

A. a-D glucose


https://dl.doubtnut.com/l/_zbtDS1M3ZqyH
https://dl.doubtnut.com/l/_5i0ycTq9QdAU
https://dl.doubtnut.com/l/_NsJCjKqyXUMg

B. 8-D glucose

C. a-D Fructose

D. B-Fructose.

Answer: B

° Watch Video Solution

593. Which of the following is a disaccharide

A. Glucose

B. Lactose

C. Starch

D. Galactose.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NsJCjKqyXUMg
https://dl.doubtnut.com/l/_ahwQoQoLE2Jt
https://dl.doubtnut.com/l/_k0wcuvZ2ezsk

594. Which is not applicable to glycogen

A. Homopolysaccharide

B. Heteropolysaccharide

C.Branched chain molecule

D. Stored in liver and muscle.

Answer: B

o Watch Video Solution

595. An allosteric inhibitor of the enzyme acts by binding to the

A. Substrate

B. Product

C. Catalytic site of enzyme

D. Non-catalytic site of enzyme.


https://dl.doubtnut.com/l/_k0wcuvZ2ezsk
https://dl.doubtnut.com/l/_eDkZMhR06QfN

Answer: D

° Watch Video Solution

596. Which one of the following natural polymers is found in both insects

and fungi

A. Pectin

B. Chitin

C. Cellulose

D. Suberin.

Answer: B

° Watch Video Solution

597. Which one of the following combination of all three fatty acids are

essential for human beings


https://dl.doubtnut.com/l/_eDkZMhR06QfN
https://dl.doubtnut.com/l/_QlQlTigZ3qYW
https://dl.doubtnut.com/l/_SMV2CZ69VFeD

A. Oleic acid, linoleic acid and linolenic acid

B. Palmitic acid, linoleic acid and linolenic acid

C. Oleic acid, linoleic acid and arachidonic acid

D. Linoleic acid, linolenic acid and arachidonic acid.

Answer: D

o Watch Video Solution

598. What is exhibited by lower kmvalue

A. More affinity with substrate

B. Less affinity with substrate

C. More affinity with Product

D. Less affinity with Product

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SMV2CZ69VFeD
https://dl.doubtnut.com/l/_eJkDCAj0XrHq

599. Which nitrogen base is this

A. Cytosine

B. Thymine

C. Adenine


https://dl.doubtnut.com/l/_eJkDCAj0XrHq
https://dl.doubtnut.com/l/_VGJi2GbyQbax

D. Uracil.

Answer: A

o Watch Video Solution

600. Identify the correct pair of statements

(i) Alternate name of thymine is 5- methyl uracil

(ii) Arachidonic acid molecule contains less number of carbons than
palmitic acid

(iii) Cellulose contains helices

(iv) Aquaporin is a polypeptide

A iijiii
B. i,ii

C.ii,iv
D. i,iv.

Answer: D


https://dl.doubtnut.com/l/_VGJi2GbyQbax
https://dl.doubtnut.com/l/_i6PEWDpMe12R

o Watch Video Solution

601. Identify the polypeptide subunit present in the adult haemoglobin

A. Two a-and two (3-subunits

B. Four a-subunits

C. Four B-subunits

D. Three a-subunits and one B-subunits.

Answer: A

o Watch Video Solution

602. Match the columns and find the correct options
I 17

Pigments ¢  Abrin, ricin
Toxins 72 Concannavalin A
Alkloids #i¢ Corotenoids

Lectins iv  Morphine, codeine

& 6 o 2


https://dl.doubtnut.com/l/_i6PEWDpMe12R
https://dl.doubtnut.com/l/_AIVie2aO7bEi
https://dl.doubtnut.com/l/_DDc7BqKzq7RN

A. a-iii, b-iv, c-ii, d-i

B. a-v, b-iv, c-ii, d-i

C. a-iii, b-iv, c-ii, d-v

D. a-iii, b-v, c-ii, d-i

Answer: B

o Watch Video Solution

603. Match and find the correct option

a Oxidoreductases ¢  Linking of two compounds

b Isomerases it Removal of group from substrates
c Ligases 111 Intercoversion of isomers
d Lyases tv  Dehydroganases

v Hydrolysis

A. a-iv, b-i, c-iii, d-ii

B. a-iv, b-iii, c-i, d-ii

C. a-iii, b-iv, c-ii, d-v

D. a-ii, b-v, c-iii, d-i.


https://dl.doubtnut.com/l/_DDc7BqKzq7RN
https://dl.doubtnut.com/l/_RqKMU27wGd9j

Answer: B

° Watch Video Solution

604. Which of the following rules states thet with increase of every 10°C

temperature , the rate of metabolic process gets doubled

A. Van't Hoff's rule

B. Bergman's rule

C. Allen's rule

D. Jordan's rule.

Answer: A

° Watch Video Solution

605. Which of the following biomolecules does have a phosphodiester

bond


https://dl.doubtnut.com/l/_RqKMU27wGd9j
https://dl.doubtnut.com/l/_SfboPSVtIxOP
https://dl.doubtnut.com/l/_IETUp6iFTX1y

A. Fatty acid in a diglyceride

B. Monosaccharidws in polysaccharide

C. Amino acids in polypeptide

D. Nucleotides in nucleic acid.

Answer: D

o Watch Video Solution

606. The given organic compound is a diagrammatic representation of :

O

I
HO—P—OCH, ~O«_ Adenine

|
OH

OH OH

A. Lecithin - Phos[horylated glyceride found in cell membrane

B. Adenosine


https://dl.doubtnut.com/l/_IETUp6iFTX1y
https://dl.doubtnut.com/l/_3c1EfePOLZwr

C. Adenylic acid

D. Uridine

Answer: C

° Watch Video Solution

607. Which of the following statements about the structure of proteins is

true

A.The sequence of amino acids in a protein represents the secondary

structure

B. Helices of proteins are always left handed

C. Adult human haemoglobin consists of two subunits

D. Protein are heteropolymers containing strings of amino acids.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3c1EfePOLZwr
https://dl.doubtnut.com/l/_mq9v02TS3Xfq

608. Which of the following secondary metabolites belong to the group
drugs

I. Morphine [l. Curcumin

. Codeine IV. Vinblastine

V. Abrin

(@) land 1l

(b) land V

(c) Iland IV

(d) Iand Il

A.land Il

B.land V

C.lland IV

D.land Ill

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_mq9v02TS3Xfq
https://dl.doubtnut.com/l/_TiF1AjaT6CIW

609. In the ribose of RNA, unlike DNA, every nucleotide residue has an

additional :

A.COOH group in 2' position

B. OH group in 5' position

C.OH group in 2' position

D. Phosphate group in 2' position

Answer: C

o Watch Video Solution

610. Nomenclature of enzyme is done on the basis of

A. Substrate on which they act

B. Type of reactions they catalyse

C. End products formed


https://dl.doubtnut.com/l/_TiF1AjaT6CIW
https://dl.doubtnut.com/l/_bZzomJbZTRSp
https://dl.doubtnut.com/l/_2TATvAUn2L5I

D.Both Aand B

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2TATvAUn2L5I

611. Identify the structure

A. Adenosine

B. Cholesterol

C. Uracil


https://dl.doubtnut.com/l/_liWkWYwDPAn7

D. Adenylic acid.

Answer: C

° Watch Video Solution

612. Which of the following is correct pair of pyrimidine bases

A. Adenine and thymine
B. Adenine and guanine
C. Thymine and cytosine

D. Guanine and cytosine.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_liWkWYwDPAn7
https://dl.doubtnut.com/l/_xmOtDdasRY73

613. Match the columns and find the correct options

I II
a Pigments ¢  Abrin, ricin
b Toxins 11 Concannavalin A
¢ Alkloids 4i7 Corotenoids
d Lectins tv  Morphine, codeine
A. a-iv, bAiii, c-l, d-ii
B. a-ii, b-iv, c-i, d-iii

C. a-iii, b-i, c-iv, d-ii

D. a-i, b-ii, c-iii, d-iv

Answer: C

o Watch Video Solution

614. Cholesterol is a precursor for each of the following except

A. Bile salts

B. Vitamin D


https://dl.doubtnut.com/l/_uIwZmeGSMc9E
https://dl.doubtnut.com/l/_qn8BOcgNNigq

C.Insulin

D. Steroids.

Answer: C

o Watch Video Solution

615. Which of the following is not derived from plants

A. Opioids

B. DDT

C. Cocaine

D. Cannabinoids.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qn8BOcgNNigq
https://dl.doubtnut.com/l/_hABlm9Q2k5yS

616. This consists of mostly linear strands

A. Starch

B. Glycogen

C. Cellulose

D. Firbrin.

Answer: C

o Watch Video Solution

617. A protein has

A. H-bonds

B. lonic bonds

C. Peptide bond

D. All the above.


https://dl.doubtnut.com/l/_N6euEVxHynFT
https://dl.doubtnut.com/l/_yorqhL4tNvKD

Answer: D

° Watch Video Solution

618. An amino acid often involved in forming interchain bounds is

A. Ala

B. Cys

C.Asp

D. Met.

Answer: B

° Watch Video Solution

619. Sulpha drugs act as competitive inhibitors

A. In folic acid synthesis in bacteria


https://dl.doubtnut.com/l/_yorqhL4tNvKD
https://dl.doubtnut.com/l/_llmVqiTbWdsr
https://dl.doubtnut.com/l/_dT51g6fNoH1X

B. In folic acid synthesis in viruses

C. For succinate dehydrogenase

D. For glucose 6-phosphate.

Answer: A

o Watch Video Solution

620. Among six elements forming 98% of living mass, which in not

included

A P

B.S

c.cl


https://dl.doubtnut.com/l/_dT51g6fNoH1X
https://dl.doubtnut.com/l/_GY2K0lHN9WTk

D. H.

Answer: C

° Watch Video Solution

621. Which alcohol is present in fats.

A. Glycerol

B. Butanol

C. Ethanol

D. Octanol.

Answer: A

° Watch Video Solution

622. Which is not true of enzymes ?


https://dl.doubtnut.com/l/_GY2K0lHN9WTk
https://dl.doubtnut.com/l/_mHWP5aldW3q3
https://dl.doubtnut.com/l/_X2szi5KiMOGc

A. Enzymes have substrates

B. All enzymes are catalysts

C. Enzymes may have an inhibitor.

Answer: B

o Watch Video Solution

623. Animal membranes contain

A. Steroids

B. Chlorophyll

C. Prostaglandins

D. Vit. A.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_X2szi5KiMOGc
https://dl.doubtnut.com/l/_a3wtQKBROZc5

624.This is an example of transport protein

A. Actin

B.Ig

C.Insulin

D. Haemoglobin.

Answer: D

° Watch Video Solution

625. Pick out the alkaloid among the following

A. Morphine

B. Curcumin

C. Cellulose


https://dl.doubtnut.com/l/_a3wtQKBROZc5
https://dl.doubtnut.com/l/_8qaAEqwatKdQ
https://dl.doubtnut.com/l/_RyOvr9s9bShT

D. Ricin.

Answer: A

° Watch Video Solution

626. Which of the following is /are cellulose

(i) Paper (ii) Cotton fibre

(iii) Chitin (iv) Glycogen

A.land ii

B.l and iii

C.l,iii and iv

D. iii and iv

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RyOvr9s9bShT
https://dl.doubtnut.com/l/_crZXFTOA4ypC
https://dl.doubtnut.com/l/_YqnFmqHEZxZd

627. Which of the following statements about amino acids is false

A. Based on the nature of carboxyl group there are many amino acids

B. Amino acids are substituted methanes

C. Amino acids have an amino group and acid group as substituents

on the a-carbon

D.There are four substituent groups occupying the four valency

positions

Answer: A

o Watch Video Solution

628. Enzymes hexokinase is injibited by excess glucose 6-P. It is

A. Non-competitive inhibition

B. Competitive inhibition

C. Allosteric modulator


https://dl.doubtnut.com/l/_YqnFmqHEZxZd
https://dl.doubtnut.com/l/_qeozr56zXTem

D. Denaturation of enzyme.

Answer: C

° Watch Video Solution

629. Which protein is called "guardian of genome"

A.P 53

B. Cyclin D

C.CDK 4

D. Rb.

Answer: A

o Watch Video Solution

630. An alkaloid which arrests cell division is Obtained from


https://dl.doubtnut.com/l/_qeozr56zXTem
https://dl.doubtnut.com/l/_MeINtfTZ9aYh
https://dl.doubtnut.com/l/_fLj5Z3vMNwuU

A. Chrysanthemum

B. Colchicum

C. Dalbergia

D. Crocus.

Answer: B

o Watch Video Solution

631. What is the role of competitive inhibitor during enzyme action?

(a) It enhances enzyme action

(b) It declines enzyme action

(c) It alters the active site of the enzyme and prevents the binding of
substrate

(d) it inhibits breaking of chemical bond of the substrate

A. It enhances enzyme action

B. It declines enzyme action


https://dl.doubtnut.com/l/_fLj5Z3vMNwuU
https://dl.doubtnut.com/l/_cWbZvMEh9ZzX

C. It alters the active site of the enzyme and prevents the binding of

substrate

D. it inhibits breaking of chemical bond of the substrate.

Answer: B

o Watch Video Solution

632. Glycosidic bonds exist in DNA molecule between
(a) Sugar and phosphate
(b) Any two nitrogen bases
(c) Sugar and nitrogen base
(d) Purines and pyrimidines
A. Sugar and phosphate
B. Any two nitrogen bases

C. Sugar and nitrogen base

D. Purines and pyrimidines.


https://dl.doubtnut.com/l/_cWbZvMEh9ZzX
https://dl.doubtnut.com/l/_pZiK9fH9zIm8

Answer: C

° Watch Video Solution

633. match the following and find correct option

1

Hydrogen bond
N-glycosidic linkage
Phosphodiester bond
Peptide bond

Q& 6 o 2

A. a-v, b-iii, c-iv, d-ii

B. a-i, b-iv, c-v, d-ii

C. a-v, b-i, c-iv, d-iii

D. a-ii, b-i, c-v, d-iii
Answer: C

1
13

v

I

Adenine-deoxyribose

Glucose - Fructose

Leucine-Glycine

Nucleotide-Nucleotide in polynucleotide ¢

Guanine-Cytosine on opposite strands of ]

o Watch Video Solution



https://dl.doubtnut.com/l/_pZiK9fH9zIm8
https://dl.doubtnut.com/l/_ahJEbVGwUxr6
https://dl.doubtnut.com/l/_dMiE4CEAb18Z

634. The enzyme which catalyses the formation of glutamine from its

substrate belongs to category

A. Hydrolases

B. Transferases

C. Ligases

D. lyases.

Answer: C

° Watch Video Solution

635. Statement (s) : According to Von't Hoff's rule, metabolic activity
doubles with energy 10° C increase in temperature
Reason (R ) : Reation rate is not affected with evergy 10° C decrease in

temperature.

A.S is correct but R is wrong

B.S is wrong but R is correct


https://dl.doubtnut.com/l/_dMiE4CEAb18Z
https://dl.doubtnut.com/l/_MsdSY7g4PG2R

C.Both S and R are correct and R is correct explanation to S

D.Both S and R correct but R is not correct explanation to S.

Answer: A

° Watch Video Solution

636. Arrange the following compounds in descending order on the basis
of number of carbon atoms present in them
(a) Palmitic acid (b) Serine
(c) Ribose (d) Arachidonic
(e ) Glucose
A.d,c,ab,e
B.b,ce,ad

C.d,aecb

D.cb,a,d,e.

Answer: C


https://dl.doubtnut.com/l/_MsdSY7g4PG2R
https://dl.doubtnut.com/l/_So0G1NdJo7uR

o Watch Video Solution

637. Identify the wrong statements

(a) The substrate binds to active site of enzyme and not fitting into active
site

(b) The binding of substrate induces the enzyme to alter its shape

(c ) Chemical bonds of substrate break down not to form now enzyme
product complex

(d) The enzyme releases the products of the reaction and run through

catalytic cycle once again

A.a,c

B.bd

C.b,c

D.ad

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_So0G1NdJo7uR
https://dl.doubtnut.com/l/_kZ5BybzACkqa

638. Which of the following is the earliest discovered amino acid ?

A. Glycine

B. Methionine

C. Phenylalanine

D. Asparagine.

Answer: D

o Watch Video Solution

639. Which one of the following is not an oligosaccharide

A. Insulin

B. Maltose

C.Sucrose

D. Raffinose


https://dl.doubtnut.com/l/_kZ5BybzACkqa
https://dl.doubtnut.com/l/_jGc1LahDKsuh
https://dl.doubtnut.com/l/_J8IfFXPqAXR6

Answer: A

o Watch Video Solution

640. Match and find the correct option
I 17

a Transferases i  Epimerase
b Hydrolases ii Kinases

¢ Lyases 111 Phosphate
d Isomerase tv  Fumarase

(a) a-ii, b-iii, c-iv, d-i

(b) a-ii, b-iii, c-i, d-iv

(c) a-v, b-i, c-iv, d-iii

(d) a-ii, b-i, c-v, d-iii

A. a-ii, bHiii, c-iv, d-i

B. a-ii, b-iii, c-i, d-iv

C. a-, b-i, c-iv, d-iii

D. a-ii, b-i, c-v, d-iii.


https://dl.doubtnut.com/l/_J8IfFXPqAXR6
https://dl.doubtnut.com/l/_luY2HW9tltxi

Answer: A

o Watch Video Solution

641.Identity P,Q,R and S in the diagram

= .

00 000 0 000 VVvevvVeePePQEe 9PV

—Ls S
.2

I

A.P-negative regative, Q-inhibitor,R-effector molecule, S-positive
regulation

B. P-positive regulation, Q-effector molecule, R-inhibitor,S-negative
regulation

C. P-negative regulation, Q-inhibitor, R-positive regulation, S-effector

molecule


https://dl.doubtnut.com/l/_luY2HW9tltxi
https://dl.doubtnut.com/l/_6rgPOK0CESZI

D. P-positive regulative, Q-effector molecule,R-negative

Sinhibitor.

Answer: C

regulation,

° Watch Video Solution

642. Which one of the following statement is wrong

A. Glycine is a sulphur containing amino acid

B. Sucrose is a disaccharide

C. Cellulose is a polysaccharide

D. Uracil is a pyrimidine.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6rgPOK0CESZI
https://dl.doubtnut.com/l/_3kZ7hiXBYGdk

643. Phytochrome is a

A. Chromoprotein

B. Flavoprotein

C. Glycoprotein

D. Lipoprotein.

Answer: A

o Watch Video Solution

644. Among the following edible fishes which one is a marine fish having

rich source of omega 3 fatty acids ?

A. Mackerel

B. Mystus

C. Mangur

D. Mrigula.


https://dl.doubtnut.com/l/_UOZrMcWIYqlE
https://dl.doubtnut.com/l/_evyiztI0p0L1

Answer: A

° Watch Video Solution

645. Which of the following is the least likely to be involved in stabilizing

the three-dimensional folding of most proteins ?

A. Ester bonds

B. Hydrogen bonds

C. Electrostatic interactions

D. Hydrophobic interactions

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_evyiztI0p0L1
https://dl.doubtnut.com/l/_e52zeHyvZENw

646. Which of the following describes the given graph correctly ?
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Reaction ——>»

A. Exothermic reaction with energy A in the absence of enzyme and B
in the presence of enzyme

B. Endothermic reaction with energy A in the presence of enzyme and
B in the absence of enzyme

C. Exothermic reaction with energy A in the presence of enzyme and B

in the absence of enzyme.


https://dl.doubtnut.com/l/_SmnupOe9RAA1

D. Endothermic reaction with energy A in the absence of enzyme and B

in the presence of enzyme.

Answer: C

o Watch Video Solution

647.Read the assertion and reason carefully to mark the correct option
out of the option given below:

Assertion: Carbohydrates are more suitable for the production of energy
in the body than proteins and fats.

Reason : Carbohydrates can be stored in the tissues as glycogen for use

in the production of energy, whenever necessary.

A. if both are true with reason being correct explanation

B. both true with but reason is not correct explanation

C. assertion true but reason is wrong

D. both are wrong


https://dl.doubtnut.com/l/_SmnupOe9RAA1
https://dl.doubtnut.com/l/_seLB5gEuUk1K

Answer: B

o Watch Video Solution

648. Assertion : Secondary metabolites are produced in small quantities
and their extraction from the plant is difficult and expensive.
Reason : Secondary metabolites can be commercially produced by using
tissue culture techinque.

A. if both are true with reason being correct explanation

B. both true with but reason is not correct explanation

C. assertion true but reason is wrong

D. both are wrong

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_seLB5gEuUk1K
https://dl.doubtnut.com/l/_8RgmzlopN1Uv

649. Which of the following are not polymeric

A. Nucleic acids

B. Proteins

C. Polysaccharides

D. Lipids.

Answer: D

° Watch Video Solution

Cyg

1. Immediate source of energy is

A. Glucose

B. ATP

C.Sucrose


https://dl.doubtnut.com/l/_ThAfXomPaEwk
https://dl.doubtnut.com/l/_6CBzNQf6sLul

D. Fructose.

Answer: A

° Watch Video Solution

2. Which chemical provides relaxation to nerves ?

A.(b) Na™
B.(c) K"
C.(c) Mn®*

D.(d) Ca®*

Answer:

o Watch Video Solution

3. An imino acid is


https://dl.doubtnut.com/l/_6CBzNQf6sLul
https://dl.doubtnut.com/l/_W0gNYgxteQBF
https://dl.doubtnut.com/l/_mhdJdtiUNbHW

A. Leucine

B. Phenylalanine

C. Lysine

D. Proline.

Answer: D

° Watch Video Solution

4. Maximum content of iron is present in

A. Myglobin

B. Cytochromes

C. Haemoglobin

D. Ferritin.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_mhdJdtiUNbHW
https://dl.doubtnut.com/l/_TrHBeisdMCW3

5. What happens if bile is not present in sufficient quantity in the body?

A. K
B. Na
C. Mg

D.Cl.

Answer:

° Watch Video Solution

6. protoplasmic elements are

A 4

B.5

C.6


https://dl.doubtnut.com/l/_TrHBeisdMCW3
https://dl.doubtnut.com/l/_4dTLTi21Cqxy
https://dl.doubtnut.com/l/_Gum3SJNzxWTV

D.9

Answer:

° Watch Video Solution

7.lodine is

A. Major mineral

B. Trace element

C. Minor metal

D. Non-essential element.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Gum3SJNzxWTV
https://dl.doubtnut.com/l/_7DnekTp0I3Wm

8.lodine is a component of
(@) haemocyanin
(b) Thyroxine
(c) Cytochrome
(d) Myoglobin
A. haemocyanin
B. Thyroxine

C. Cytochrome

D. Myoglobin.

Answer:

o Watch Video Solution

9. Metal present in cytochrome oxidase is


https://dl.doubtnut.com/l/_9HxJpVjHbd8B
https://dl.doubtnut.com/l/_fyGoyZERU4r9

A. Cu

B. Fe

C. Mg

D. Ca.

Answer:

° Watch Video Solution

10. Formation of glycogen from glucose is an example of

A. Catabolism

B. Polymerisation

C. Dehydration synthesis

D.Both B and C.


https://dl.doubtnut.com/l/_fyGoyZERU4r9
https://dl.doubtnut.com/l/_bhwUfhNClurF

Answer:

° Watch Video Solution

11. Reducing sugars are

A.Bonded aldose and ketose groups

B. Free aldose group

C. Free ketose group

D.Both B and C.

Answer:

° Watch Video Solution

12. Araban/xylan is

A. Tetrosan


https://dl.doubtnut.com/l/_bhwUfhNClurF
https://dl.doubtnut.com/l/_gvuRVHSf0vZs
https://dl.doubtnut.com/l/_bs6i6mEXNUAm

B. pentosan

C. hexosan

D. Heptosan.

Answer:

° Watch Video Solution

13. Sucrose or sugar is made of two hexosan residues of

A. Glucose and Fructose
B. Glucose and galactose
C. Fructose and galatose

D. Galactose and mannose.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_bs6i6mEXNUAm
https://dl.doubtnut.com/l/_aMRf2tnPjZ5B
https://dl.doubtnut.com/l/_qon4Sn2A7Rvu

14. Which one is least sweet ?

A. Fructose

B. Sucrose

C. Lactose

D. Maltose.

Answer:

° Watch Video Solution

15. Which one is a lipid ?

A. Stachyose

B. Lycopene

C. Leucine

D. Uracil.


https://dl.doubtnut.com/l/_qon4Sn2A7Rvu
https://dl.doubtnut.com/l/_HUq6iAHrkjcS

Answer:

° Watch Video Solution

16. A product of glycerol and phellonic acid is

A. Wax

B. Cutin

C. Suberin

D. Sterol.

Answer:

° Watch Video Solution

17.1n amylose fraction, glucose residues are linked by

A.a 1-4 linkages


https://dl.doubtnut.com/l/_HUq6iAHrkjcS
https://dl.doubtnut.com/l/_Tgl8GGBFFbAn
https://dl.doubtnut.com/l/_dHBUtq90JJW7

B. 3 1-4 linkages

C.a 1-6linkages

D. 8 1-6 linkages

Answer:

° Watch Video Solution

18. Smallest polysaccharide is

A. Starch

B. Inulin

C. Glycogen

D. Cellulose.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dHBUtq90JJW7
https://dl.doubtnut.com/l/_pzwifWNBjY9V
https://dl.doubtnut.com/l/_jnnaTOJbN04r

19. Which is true about heparin and hyaluronic acid ?
(a) Both are mucopolysaccharides
(b) They are formed of glucuronic acid and glucosamine
(c) Heparin is anticoagulant while hyaluronic acid is lubricating
(d) All the above
A. Both are mucopolysaccharides
B. They are formed of glucuronic acid and glucosamine

C. Heparin is anticoagulant while hyaluronic acid is lubricating

D. All the above.

Answer:

o Watch Video Solution

20. Cellulose is

A. Linear unbranched polymer


https://dl.doubtnut.com/l/_jnnaTOJbN04r
https://dl.doubtnut.com/l/_TZDsX30ZO6Lb

B. B-pyranose glucan
C.1 — 4 linked

D. All the above.

Answer:

° Watch Video Solution

21. The most abundant protein in the plant world is found in

A. Rubisco
B. Haemoglobin
C. Ferredoxin

D. Cytochrome.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_TZDsX30ZO6Lb
https://dl.doubtnut.com/l/_52yQ26bVLDE0
https://dl.doubtnut.com/l/_7hNPHrkj0YUL

22. A chemical where both D-galactose and L-galactose are present is

A. Hyaluronic acid

B. Agar-agar

C. Lactose

D. Raffinose

Answer:

o Watch Video Solution

23. Distance between two branching points in glycogen is

A.5 -6 glucose residues

B. 8-14 glucose residues

C. 20-25 glucose residues

D. 100-120 glucose residues


https://dl.doubtnut.com/l/_7hNPHrkj0YUL
https://dl.doubtnut.com/l/_ywSYZRKwX90f

Answer:

° Watch Video Solution

24.The main chain of glycogen is

A. Straight

B. helically coiled with each turn having 10 -14 glucose units

C. helically twisted with each turn having 6 glucose units

D. Double helical with each turn having 10 units.

Answer:

° Watch Video Solution

25. In B-pleated secondary structure

A. Polypeptides show alternate reverse helix


https://dl.doubtnut.com/l/_ywSYZRKwX90f
https://dl.doubtnut.com/l/_eaYKUdtMfqXH
https://dl.doubtnut.com/l/_3wTeMTKLQxbb

B. Two or more polypeptides form sheet and run parallel

C.As in B but the polypeptides run antiparallel

D.Both B and C.

Answer:

° Watch Video Solution

26. most of the blood proteins in our body are

A. Acidic

B. Basic

C. Neutral

D. All the above in equal proportions.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3wTeMTKLQxbb
https://dl.doubtnut.com/l/_ZCn9gwVsBQIK
https://dl.doubtnut.com/l/_0pt4WNtKrSfI

27. Proteoglycan is made of proteins hybridised are

A. Glucose

B. Oligosaccharide

C. polysaccharide

D. Mucopolysaccharide.

Answer:

° Watch Video Solution

28. Which one is polymer of fructose ?

A. Glycogen

B. Starch

C.Inulin

D. Raffinose


https://dl.doubtnut.com/l/_0pt4WNtKrSfI
https://dl.doubtnut.com/l/_wshIT7AS2ZAk

Answer:

° Watch Video Solution

29. Palindromic areas of DNA have

A. Repetitive sequences

B. Similar but opposite sequences in the two strands

C. Low melting

D. High melting.

Answer:

° Watch Video Solution

30. Amino acid binding site of tRNA has

A. CCA-OH


https://dl.doubtnut.com/l/_wshIT7AS2ZAk
https://dl.doubtnut.com/l/_577Nk7XaU1vC
https://dl.doubtnut.com/l/_RByCfwlZGHYq

B. CGA-OH

C. UCA-OH

D. UCG-OH.

Answer:

° Watch Video Solution

31. Modulators

A. Inhibit enzyme activity
B. Stimulate enzyme activity
C. Function as coenzymes

D. Both A and B.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_RByCfwlZGHYq
https://dl.doubtnut.com/l/_isEa5qUAa4DS
https://dl.doubtnut.com/l/_ozaOab0noLnM

32. K indicates

A. Competitive inhibition

B. Denaturation of enzymes

C. Reaction velocity

D. All the above.

Answer:

° Watch Video Solution

33. Enzyme urease, first crystallised by Sumner, was obtained from

A. Human urine

B. Canavalia

C. Pancratium

D. Thalictrum.


https://dl.doubtnut.com/l/_ozaOab0noLnM
https://dl.doubtnut.com/l/_zSTPn28J1cz0

Answer:

° Watch Video Solution

34. Ribozyme was discovered by

A. Kuhne

B. Duclaux

C. Cech et al

D. Altman et al.

Answer:

° Watch Video Solution

35. An enzyme which brings about change in side group without altering

composition is


https://dl.doubtnut.com/l/_zSTPn28J1cz0
https://dl.doubtnut.com/l/_dl9c6sep6g2e
https://dl.doubtnut.com/l/_UIrM5wGExXsl

A.lsomerase

B. Epimerase

C. Mutase

D. Esterase.

Answer:

o Watch Video Solution

36. B; is constituent of

A.FMN

B. TPP

C.NAD

D. CoA.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_UIrM5wGExXsl
https://dl.doubtnut.com/l/_vgfq9hCnnGUM

37.Asimple enzyme is

A. Succinate dehydrogenase

B. Urease

C. Transaminase

D. Ribozyme.

Answer:

o Watch Video Solution

38.Isoenzyme are

A. Different molecular forms

B. Different substrate affinity

C. Different maximum activity


https://dl.doubtnut.com/l/_vgfq9hCnnGUM
https://dl.doubtnut.com/l/_i53zt9ows1Q1
https://dl.doubtnut.com/l/_ZuklGXDw17lf

D. All the above.

Answer:

° Watch Video Solution

39. Enzymes functional in a cell are

A. Inducible, constitutive and repressible

B. Inducible and repressible

C. Inducible only

D. Repressible only.

Answer:

o Watch Video Solution

40. Which is susceptible to feed back inhibition ?


https://dl.doubtnut.com/l/_ZuklGXDw17lf
https://dl.doubtnut.com/l/_HFVG9bcPoy4Z
https://dl.doubtnut.com/l/_FRAYdvNK64IT

A. Zymogens

B. Zymase

C. Diastase

D. Hexokinase.

Answer:

o Watch Video Solution

41. Write the names of enzymes whose deficiency causes albinism and

phenyl- ketone urea.

A. hexokinase

B. Tyrosinase

C. Phenylalanine hydroxylase

D. Succiny dehydrogenase.

Answer:



https://dl.doubtnut.com/l/_FRAYdvNK64IT
https://dl.doubtnut.com/l/_azUDFWsJNe58

| ° Watch Video Solution

42.The hereditary defect phenylketonuria is caused by deficiency of

A. Phenylalanine hydroxylase

B. Fructokinase

C. Glucokinase

D. Haemoglobin reductase.

Answer:

° Watch Video Solution

43. Enzymes are different from catalysts in

A. Poisons

B. Change in pH

C. High temperature


https://dl.doubtnut.com/l/_azUDFWsJNe58
https://dl.doubtnut.com/l/_wTAEWw3Tx70G
https://dl.doubtnut.com/l/_eAizrGFW8R7g

D. All the above.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eAizrGFW8R7g

